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ROTATING ELECTRICAL MACHINES -

Part 2-1: Standard methods for determining losses and efficiency
from tests (excluding machines for traction vehicles)

national electrotechnical committees (IEC National Committees). The object of IECN)is/to p
rhational co-operation on all questions concerning standardization in the electrical and eléctronic fie

nternational Electrotechnical Commission (IEC) is a worldwide organization for standardization\conprising

romote
Ids. To

end and in addition to other activities, IEC publishes International Standards, Technical Specif|cations,
Hnical Reports, Publicly Available Specifications (PAS) and Guides (hereafter rneferred to ps “IEC

Publ|cation(s)”). Their preparation is entrusted to technical committees; any IEC National Committee interested

in t

The

He subject dealt with may participate in this preparatory work. International,_governmental apd non-
govdrnmental organizations liaising with the IEC also participate in this preparation. IEC collaborateg
with

closely

the International Organization for Standardization (ISO) in accordance!with conditions determined by
agrepment between the two organizations.

ormal decisions or agreements of IEC on technical matters expressaas nearly as possible, an intefnational

conslensus of opinion on the relevant subjects since each technical*committee has representation [from all

inte
IEC

rested IEC National Committees.

Publications have the form of recommendations for international use and are accepted by IEC National
Compmittees in that sense. While all reasonable efforts are miade to ensure that the technical contenft

of IEC

Publjcations is accurate, IEC cannot be held responsible\for the way in which they are used or|for any

misipterpretation by any end user.

In ofder to promote international uniformity, IEC National Committees undertake to apply IEC Pubjications

tran

between any IEC Publication and the corresponding national or regional publication shall be clearly ind|c

the
IEC

asselssment services and, in some areas{ access to IEC marks of conformity. IEC is not responsible|
services carried out by independent certifieation bodies.

All upers should ensure that they have’/the latest edition of this publication.

4gparently to the maximum extent possible inytheir national and regional publications. Any dive

latter.

tself does not provide any attestation -ef conformity. Independent certification bodies provide cgn

rgence
ated in

formity

for any

No lifability shall attach to IEC orits directors, employees, servants or agents including individual expprts and
members of its technical committees and IEC National Committees for any personal injury, property damage or
othe[ damage of any naturelwhatsoever, whether direct or indirect, or for costs (including legal fgdes) and

expgnses arising out of, the publication, use of, or reliance upon, this IEC Publication or any oth

Pub

l|cations.

er IEC

Attention is drawn®teythe Normative references cited in this publication. Use of the referenced publications is

indispensable forthe correct application of this publication.

Attention is_drawn to the possibility that some of the elements of this IEC Publication may be the subject of

patept rightss IEC shall not be held responsible for identifying any or all such patent rights.

Interndgtional Standard IEC 60034-2-1 has been prepared by |IEC technical commiitee 2:
Rotating machinery.

This second edition cancels and replaces the first edition of IEC 60034-2-1, issued in 2007,
as well as I[EC 60034-2A, issued in 1974. This edition constitutes a technical revision.

This edition includes the following significant technical changes with respect to the previous
edition:

The test methods are now grouped into preferred methods and methods for field or routine
testing. Preferred methods have a low uncertainty and for a specific rating and type of
machine only one preferred method is now defined.

Th

e requirements regarding instrumentation have been detailed and refined.

The description of tests required for a specific method is now given in the same sequence
as requested for the performance of the test. This will avoid misunderstandings and
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improve the accuracy of the procedures. In addition, for each method a flowchart shows
the sequence of tests graphically.

The text of this standard is based on the following documents:

FDIS Report on voting
2/1742/FDIS 2/1748/RVD

Full information on the voting for the approval of this standard can be found in the report on
voting indicated in the above table.

This piiblication has been drafted in accordance with the ISO/IEC Directives, Part 2.

NOTE A table of cross-references of all IEC TC 2 publications can be found in the IEC TC 2 dashboarg on the
IEC website.

The cgmmittee has decided that the contents of this publication will remain“unchangegd until
the stability date indicated on the IEC web site under "http://webstoréyiec.ch” in the data
related to the specific publication. At this date, the publication will be

e recpnfirmed,
e withdrawn,
e replaced by a revised edition, or

e amgnded.
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ROTATING ELECTRICAL MACHINES -

Part 2-1: Standard methods for determining losses and efficiency

from tests (excluding machines for traction vehicles)

This standard applies to d.c. machines and to a.c. synchronous and induction,machine
sizes within the scope of IEC 60034-1.

NOTE [These methods may be applied to other types of machines such as rotary converters, a.c. con
motors 3and single-phase induction motors.

2 Nogrmative references

The following documents, in whole or in part, are normativelyreferenced in this docums
are indispensable for its application. For dated referenges, only the edition cited applig
undategd references, the Ilatest edition of the <(eférenced document (includin
amendments) applies.

IEC 60027-1, Letter symbols to be used in electrical technology — Part 1: General
IEC 60034-1:2010, Rotating electrical mathines — Part 1: Rating and performance

IEC 60034-4:2008, Rotating electrical machines — Part 4: Methods for detef
synchrpnous machine quantities from tests

IEC 60034-19, Rotating electrical machines — Part 19:Specific test methods for d.c. m4
on conyventional and rectifier-fed supplies

IEC 60034-29, Rotating electrical machines — Part 29: Equivalent loading and superp
techniques — Indirect testing to determine temperature rise

IEC 60051 (alk parts), Direct acting indicating analogue electrical measuring instrumen
their agcéssories

tests,

5 of all

mutator

nt and
ps. For

g any

mining

chines

osition

ts and

IEC 60051-1, Direct acting indicating analogue electrical measuring instruments and their

accessories — Part 1: Definitions and general requirements common to all parts

3 Terms and definitions

For the purposes of this document, the terms and definitions given in IEC 60034-1,

IEC 60051-1 and the following apply.

3.1
efficiency

ratio of output power to input power expressed in the same units and usually given as a

percentage
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3.2

direct efficiency determination

method by which the determination of efficiency is made by measuring directly the input
power and the output power

3.3

dynamometer

device for measuring torque applied to the rotating part of the machine under test. It is
equipped with means for measuring and indicating torque and speed, and is not limited to a
cradle base construction. An in-line torque transducer may be used to provide a direct
measurement of torque at the shaft of the machine under test.

3.4
dynamometer test
test in [which the mechanical power output of a machine acting as a motor is determingd by a
dynampmeter. Also a test in which the mechanical input power of a machine acting as a
genergtor is determined by a dynamometer.

3.5
dual-supply back-to-back test
test in|which two identical machines are mechanically coupled together, and the total|losses
of both machines are calculated from the difference betweefthe electrical input fo one
machirne and the electrical output of the other machine

3.6
indire¢t efficiency determination
method by which the determination of efficiency is.nmrade by measuring the input power or the
output|power and determining the total losses. Jhose losses are added to the output power,
thus giving the input power, or subtracted fromy the input power, thus giving the output plower.

3.7
singletsupply back-to-back test
test in which two identical machines are mechanically coupled together, and ar¢ both
connegted electrically to the same ;power system. The total losses of both machines arg taken
as the finput power drawn fromthe system.

3.8
no-load test
test in[which a maeghine is run as a motor providing no useful mechanical output from the
shaft, ¢r when run'as a generator with its terminals open-circuited

3.9
zero ppwer-factor test (synchronous machines)
no-load test on a synchronous machine, which is over-excited and operates at a powel factor
very close to zero

3.10
equivalent circuit method (induction machines)
test in which the losses are determined by help of an equivalent circuit model

3.1

test with rotor removed and reverse rotation test (induction machines)

combined test in which the additional load losses are determined from a test with rotor
removed and a test with the rotor running in reverse direction to the rotating magnetic field of
the stator

3.12
short-circuit test (synchronous machines)
test in which a machine is run as a generator with its terminals short-circuited
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3.13
locked rotor test
test in which the rotor is locked to prevent rotation

3.14
eh-star test
test in which the motor is run in star connection on unbalanced voltage

3.15 Losses

3.15.1

total losses
Py
difference between the input power and the output power, equivalent to the sum‘|of the
constapt losses (see 3.15.2), the load losses (see 3.15.4), the additional load,\l0ssds (see
3.15.5] and the excitation circuit losses (see 3.15.3)

3.15.2
constant losses
losses|incorporating the sum of windage, friction and iron losses! Although these [losses
change¢ with voltage and load, they are historically called “constant*’losses and the ngme is
retaingd in this standard.

3.15.211
constant losses
PC
sum off the iron losses and the friction and windage losses

3.15.2)2
iron lgsses
Pfe . . . e .
losses|in active iron and additional no-load losses in other metal parts

3.15.2{3 Friction and windage-losses Py,

3.15.213.1

frictioh losses
losses|due to friction (bearings and brushes, if not lifted at rated conditions) not includihg any
losses|in a separate lubricating system

3.15.23.2

windage losses
total Igsses~due to aerodynamic friction in all parts of the machine, including power abgsorbed
in shaft mounted fans, and in auxiliary machines forming an integral part of the maching

Note 1 to entry: Losses in a separate ventilating system should be listed separately.

Note 2 to entry: For machines indirectly or directly cooled by hydrogen, see IEC 60034-1.

3.15.3 Excitation circuit losses

3.15.3.1

excitation circuit losses

Pe

sum of the excitation winding losses (see 3.15.3.2), the exciter losses (see 3.15.3.3) and, for
synchronous machines, electrical brush loss (see 3.15.3.5), if any
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2

excitation winding losses

P

excitat

3.15.3.

ion voltage U,

3

exciter losses

Peq

f
excitation (field) winding losses are equal to the product of the exciting current 7, and the

the exciter losses for the different excitation systems (see Annex B) are defined as follows:

a) Shaft driven exciter

Tth exciter losses are the power absorbed by the exciter at its shaft (reduced by

ang
win
usH
3.1
3.1

Not
to 7|

Whg
exc

b) Brd

exd
win
exd
win
wh
Not
incl
con

If th
c) Se
exd
the
inc
the
det

windage losses) plus the power P, drawn from a separate source at its, ex
ding terminals, minus the useful power which the exciter provides at its termina
ful power at the terminals of the exciter is equal to the excitation winding.losses
5.3.2 plus (in the case of a synchronous machine) the electrical brush losses
5.3.5.

e 1 to entry: If the exciter can be decoupled and tested separately its losses~Can be determined a
1.3.2.1.

never the exciter makes use of separate auxiliary supplies, their consumptions are to be includg
ter losses unless they are considered together with the main maching\duxiliaries consumption.

shless exciter
iter losses are the power absorbed by the exciterat its shaft, reduced by fricti

friction
citation
s. The
as per
as per

ccording

d in the

bn and

iter), plus the electrical power P, from a separate source (if any) absorbed by
ding or its stator winding (in the case of an.induction exciter), minus the useful
ch the exciter provides at the rotating power converter terminals.

e 2 to entry: Whenever the exciter makes use of separate auxiliary supplies their consumptions g

ided in the exciter losses unless they _are considered together with the main machine ay
sumption.

e exciter can be decoupled and tested-separately, its losses can be determined according to 7.1.3.
parate rotating exciter

iter losses are the difference between the power absorbed by the driving motg
power absorbed by separate auxiliary supplies, of both driving and driven ma
uding the power supplied by separate source to their excitation winding termina
excitation power supplied as per 3.15.3.2 and 3.15.3.4. The exciter losses n
ermined according to 7.1.3.2.1.

dage losses (when the relevant test is perfafimed on the set of main machirlle and
i

s field
power

re to be
xiliaries

P.1.

r, plus
chines,
s, and
nay be

d) Stgtic excitation'system (static exciter)
exditation<system losses are the difference between the electrical power drawn ffom its
power source, plus the power absorbed by separate auxiliary supplies, and the exgitation
supplied-as per 3.15.3.2 and 3.15.3.4.
Note=S—toemntry—tmtheTaseof systemsfed—by tramsformers;thetransformertosses—strattbe—mctuded in the
exciter losses.

e) Excitation from auxiliary winding (auxiliary winding exciter)

exciter losses are the copper losses in the auxiliary (secondary) winding and the additional
iron losses produced by increased flux harmonics. The additional iron losses are the
difference between the losses which occur when the auxiliary winding is loaded and when
it is unloaded.

Note 4 to entry: Because separation of the excitation component of losses is difficult, it is recommended to
consider these losses as an integral part of the stator losses when determining overall losses.

In the cases c) and d) no allowance is made for the losses in the excitation source (if any) or
in the connections between the source and the brushes (synchronous machine) or between
the source and the excitation winding terminals (d.c. machine).
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If the excitation is supplied by a system having components as described in b) to e) the
exciter losses shall include the relevant losses of the components pertaining to the categories
listed in Annex B as applicable.

3.15.3.4

separately supplied excitation power

Pig

excitation power P,g supplied from a separate power source is:

— for exciter types a) and b) the exciter excitation power (d.c. or synchronous exciter) or
stator winding input power (induction exciter). It covers a part of the exciter losses Pgq
(and further losses in induction exciters) while a larger part of P, is supplied via the shaft;

— forjexciter types c) and d) equal to the excitation circuit losses, Pjg = Pg;

— forlexciter type e) P4g = 0, the excitation power being delivered entirely by the\shaf{. Also,
P.d = 0 for machines with permanent magnet excitation.

Excitel| types shall be in accordance with 3.15.3.3.

3.15.3}5
brush [losses (excitation circuit)
Py,

electrigal brush loss (including contact loss) of separately exéited synchronous machings

3.15.4| Load losses

3.15.4/1
load Igsses
P
sum of the winding (/2R) losses (see 3.15.4.2).and the electrical brush losses (see 3.15]4.3), if
any

3.15.42
winding losses

winding losses are I2R losses:

— in the armature circuit of 'd.c. machines;

— in the stator and roterwindings of induction machines;

— in the armature and/field windings of synchronous machines
3.15.43

brush [losses (load circuits)
Py,

electri¢gahbrush loss (including contact loss) in the armature circuit of d.c. machines |and in
wound-rotor induction machines

3.15.5

additional load losses (stray-load losses)

P

losses produced in active iron and other metal parts by alternating stray fluxes when the
machine is loaded; eddy current losses in winding conductors caused by load current-
dependent flux pulsations and additional brush losses caused by commutation

NOTE These losses do not include the additional no-load losses of 3.15.2.2.
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short-circuit losses

Py

current-dependent losses in a synchronous machine and in a d.c. machine when the armature
winding is short-circuited

3.16 Test quantities (polyphase a.c. machines)

3.16.1
termin

al voltage

for polyphase a.c. machines, the arithmetic average of line voltages

3.16.2
line cu
for pol

3.16.3
line-to
for pol
pair of

Note 1
resistan

Note 2

rrent
phase a.c. machines, the arithmetic average of line currents

-line resistance
yphase a.c. machines, the arithmetic average of resistances measured betwee
terminals

o entry: For Y-connected three-phase machines, the phase-resistance is 0,5 times the lin
Ce. For A-connected machines, the phase-resistance is 1,5 times the line-to-line resistance.

o entry: In Clauses 6 and 7 explanations and formulae diven are for three-phase machines

otherwide indicated.

3.16.4
tempe
is the

IEC 60

4 Sy

rature rise
machine temperature minus the coolingnedium (coolant) temperature as defi
034-1

mbols and abbreviations

Symbols
is the power factor
is the supply frequency, Hz
is the average line current, A
is the temperature correction factor
is the(operating speed, s~
iscthe number of pole pairs

isthe power, W

n each

e-to-line

unless

hed by

PqE

Pgy

1 This

is the input power at no-load, W

is the input power, excluding excitation2, W

is the output power, W

is the brush loss, W

is the excitation circuit losses, W

is the excitation power supplied by a separate source, W
is the exciter losses, W

definition assumes sinusoidal voltage and current.

2 Unless otherwise indicated, the tests in this standard are described for motor operation, where P, and P, are
electrical input and mechanical output power, respectively.
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Py is the electrical power, excluding excitation, W

Py is the excitation (field) winding losses, W

Pse is the iron losses, W

Psy is the friction and windage losses, W

P, is the constant losses, W

P is the load losses, W

P, is the residual losses, W

P is the additional-load losses, W

Pech —isthe mechanical power, W

Py is the short-circuit losses, W

Pt is the total losses, W

Py, is the winding losses, W, where subscript w is generally replaced by a,f, e, s orr
(see 4.2)

R is a winding resistance, Q

Ren is the actual value of the auxiliary resistor for the Eh-star test(see 6.4.5.5), Q

R'eh is the typical value of the auxiliary resistor, Q

R¢ is the field winding resistance, Q

Ry is the average line-to-line-resistance, Q

Ron is the average phase-resistance, Q

s is the slip, in per unit value of synchronous)speed

T is the machine torque, N-m

T4 is the reading of the torque measuring device, N-m

T, is the torque correction, N-m

U is the average terminal voltage, V

Uy is the terminal voltage at-no-load, V

Un is the rated terminal voltage, V

X is the reactance, ©

Z=R+jxX is-the notation for a complex quantity (impedance as example)

Z=|Z|ENR?* + X% Vis the absolute value of a complex quantity (impedance as exampld)

Z is thesimpedance, Q

n is the efficiency

0o rs—the-nitiat-windingtemperatore;—=€

0, is the ambient temperature, °C

0 primary coolant inlet temperature, °C

Ow is the winding temperature, °C

T is a time constant, s

4.2 Additional subscripts

The following subscripts may be added to symbols to clarify the machine function and to
differentiate values.

Machine components:

a armature
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excitation
field winding
rotor

stator

winding

U,V,W phase designations

Machine categories:

B
D
E
G
M

Operafing conditions:

0
1
2
av
d
el

mech mechanical

red

t

zpf

0

NOTE Furtherjyadditional subscripts are introduced in relevant subclauses.

5

5.1

booster

dynamometer
exciter
generator

motor

no-load

input

output
average, mean
dissipated
electrical
internal

short circuit
test load
locked rotor

rated

at reduced voltage
test

zero power\factor test

corrected to a reference coolant temperature.

Basic requirements

Direct and indirect efficiency determination

Tests can be grouped into the three following categories:

a)

b)

input-output power measurement on a single machine. This involves the direct
measurement of electrical or mechanical power into, and mechanical or electrical power
out of a machine;

electrical input and output measurement on two identical machines mechanically
connected back-to-back. This is done to eliminate the measurement of mechanical power
into or out of the machine;

determination of the actual loss in a machine under a particular condition. This is usually
not the total loss but comprises certain loss components.
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The methods for determining the efficiency of machines are based on a number of
assumptions. Therefore, it is not recommended that a comparison be made between the
values of efficiency obtained by different methods, because the figures may not necessarily
agree.

5.2 Uncertainty

Uncertainty as used in this standard is the uncertainty of determining a true efficiency. It
reflects variations in the test procedure and the test equipment.

Although uncertainty should be expressed as a numerical value, such a requirement needs
sufficient testing to determine representative and comparative values.

5.3 Preferred methods and methods for customer-specific acceptance tests, field-
lests or routine-tests

Itis dilﬁcult to establish specific rules for the determination of efficiency. The ¢hoice of|test to
be magle depends on the information required, the accuracy required, theitype and sizg of the
machine involved and the available field test equipment (supply, load ordpiving maching).

In the [following, the test methods suitable for asynchronous and-synchronous machines are
separated into preferred methods and methods for customer-specific acceptance testq, field-
tests of routine tests.

5.4 Power supply
5.4.1 Voltage

The sppply voltage shall be in accordanceCwith 7.2 (and 8.3.1 for thermal tegts) of
IEC 60034-1:2010.

5.4.2 Frequency

During| tests, the average supplyfrequency shall be within £0,1 % of the frequency required
for the|test being conducted.

5.5 nstrumentation
5.5.1 General

Enviropmental conditions shall be within the recommended range given by the equjpment
manqucturer. If* appropriate, temperature corrections according to the equjpment
manufacturers.specification shall be made.

Digitallinstruments shall be used whenever possible.

For analog instruments accuracy is generally expressed as a percentage of full scale, the
range of the instruments chosen shall be as small as practical.

The full scale of the equipment, particularly the current sensors, shall be adapted to the
power of the machine under test.

For analog instruments the observed values should be in the upper third of the instrument
range.

When testing electric machines under load, slow fluctuations in the output power and other
measured quantities may be unavoidable. Therefore for each load point many samples
(typically many hundred samples) shall be taken automatically by a suitable digital meter over
a period of several fluctation cycles but not more than 15 s and this average shall be used for
the determination of efficiency.
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5.5.2 Measuring instruments for electrical quantities

The measuring instruments shall have the equivalent of an accuracy class of 0,2 in case of a
direct test and 0,5 in case of an indirect test in accordance with IEC 60051. The measuring
equipment shall reach an overall uncertainty of 0,2 % of reading at power factor 1,0 and shall
include all errors of instrument transformers or transducers, if used.

NOTE For a routine test as described in 9.1 of IEC 60034-1, an accuracy class of 0,5 is sufficient.

In the case of a.c. machines, unless otherwise stated in this standard, the arithmetic average
of the line currents and voltages shall be used.

5.5.3 Torque measurement
The instrumentation used to measure the torque shall have a minimum class.'of 0,2. The

minimym torque measured shall be at least 10 % of the torque meter’'s nominal‘torqye. If a
better tlass instrument is used, the allowed torque range can be extended aecordingly.

NOTE For example class 0,1 means 5 % of the torque meter’s nominal torque.

Electrical
Mot _—
otor _|:|_ Load Motor dynamometer
l I,
Inline torque meter Cradle base construction

When [the shaft torque is measured by means of a dynamometer with a cradlg base
constr\Lction, a torque correction test shallbe carried out to compensate the friction logses in
the befrings of the loading machine. This also applies if any other bearing is intefposed
betwegn the torque measuring device-and the motor shaft.

The machine torque T is calculated using the formula:

T=T+T

Where
T4 is the torque<eading of the load test;
T, is the torque-correction due to friction losses.

It has {obehoted that the temperature of the torque sensor, i.e. near the rotor, may bel|higher

than the-ambient famnarghurn and—is aﬁlznn\ulnrlnarl to—have—a eunnuﬁrw;nf contribution to

overall uncertainty. In that case the contribution of temperature to the uncertainty shall be
limited to 0,15 % of full scale. If that is not practical, an appropriate temperature correction
has to be applied.

Parasitic loads should be minimized by shaft alignment and the use of flexible couplings.

5.5.4 Speed and frequency measurement

The instrumentation used to measure supply frequency shall have an accuracy of £0,1 % of
full scale. The speed measurement should be accurate within 0,1 revolution per minute.

NOTE 1 Speed in min~'is n in s~ x 60.

NOTE 2 For asynchronous machines, the measurement of slip by a suitable method may replace speed
measurement (see Annex C).
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Temperature measurement

The instrumentation used to measure temperatures shall have an accuracy of +1 K.

5.6 Units

Unless

otherwise specified, the units of values are Sl-units as listed in IEC 60027-1.

5.7 Resistance

5.71

Test resistance

Windin

For d.
(armat

For d.d

For po

armatyre winding according to 3.16.3. In the case of wound rotor_induction machines,

the rot

The m
the ex
possib
Zero.

The m

5.7.2

The m
(showr

g resistance R Is the ohmic value, determined by appropriate methods.

c. machines, R is the total resistance of all windings carrying armature
ire, commutating, compensating winding, compound winding).

. and synchronous machines, R; is the field winding resistance.

lyphase a.c. machines, R = R, is the line-to-line average resistance of the st

br line-to-line average resistance.

pasured resistance at the end of the thermal test shall be determined in a similar
trapolation procedure as described in 8.6.2.3:3v0of IEC 60034-1, using the s
e time instead of the time interval specified\in Table 5 therein, and extrapolg

basured temperature of windings shall be determined according to 5.7.2.

Winding temperature

in order of preference):

current

ptor or
Rey s

way to
nortest
ting to

easured winding temperature “shall be determined by one of the following methods

a) tenmpperature determined’ .from the rated load test resistance Ry by the extrappolation
prdcedure as describédiin 5.7.1;
NOTE Motors that are_subject to check testing for regulatory purposes are not to be dismantled. In that case,
megsurement of winding temperature shall be by the change of resistance method.

b) telperature measured directly by either ETD or thermocouple;

c) temperature determined according to a) on a duplicate machine of the same construction
and eleetrical design;

d) wher—tead—ecapabiity—is—hot—avaiable—determine—operating—temperature—aseerding to
IEC 60034-29;

e) when the rated load test resistance Ry cannot be measured directly, the winding
temperature shall be assumed to be equal to the reference temperature of the rated

the

rmal class as given in Table 1.

Table 1 — Reference temperature

Thermal class of the insulation system Reference temperature
°C
130 (B) 95
155 (F) 115
180 (H) 135
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If the rated temperature rise or the rated temperature is specified as that of a lower thermal
class than that used in the construction, the reference temperature shall be that of the lower
thermal class.

5.7.3 Correction to reference coolant temperature

When required, the winding resistance values recorded during test shall be referred to a
standard reference temperature of 25 °C. The correction factor to adjust the winding
resistance (and the slip in the case of cage induction machines) to a standard reference
coolant temperature of 25 °C shall be determined by

— 235F0, F25—0,
235+40,

6

where
ko is the temperature correction factor for windings;
1%
0

. is the inlet coolant temperature during test;
w is the winding temperature according to 5.7.2.

The temperature constant 235 is for copper; this should be réplaced by 225 for aluminium
condugtors.

For miachines with water as the primary or segondary coolant, the water reference
temperature shall be 25 °C according to Table 4 of JEC 60034-1:2010. Alternative valu¢s may
be spekified by agreement.

5.8 Btate of the machine under test and test categories

Tests $hall be conducted on an assembléd machine with the essential components in|place,
to obtgin test conditions equal or very-similar to normal operating conditions.

NOTE It is preferable that the .miachine be selected randomly from series production without| special
considefations.

Externplly accessible sealing elements may be removed for the tests, if an additional fest on
machines of similar désign has shown that friction is insignificant after adequately long
operatjon.

NOTE 2| Motors with.bearings and/or internal seals which are known to have less friction after adequafely long
operatioh, can beSubjected to a run in before test.

The syb-tests that make up a test procedure shall be performed in the sequence listed. It is
not esgenfial that the tests be carried out immediately one after another. However, if tHe sub-
tests are pclfunllcu' with u'ciay, thermthe bpcuificu‘ thermat—conditrons—strattbere=established
prior to obtaining the test data.

For machines with adjustable brushes, the brushes shall be placed in the position
corresponding to the specified rating. For induction motors with wound rotor having a brush
lifting device, the brushes shall be lifted during tests, with the rotor winding short-circuited.
For measurements on no-load, the brushes shall be placed in the neutral axis on d.c.
machines.

The bearing losses depend on the operating temperatures of the bearings, the type of
lubricant and lubricant temperature.

When the losses in a separate lubricating system of bearings are required these should be
listed separately.
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In the case of motors which are furnished with thrust bearings, only that portion of the thrust
bearing loss produced by the motor itself shall be included in the total losses.

Friction losses due to thrust load may be included by agreement.

If the tested machine uses direct flow cooling of the bearings, these losses are distributed
between the tested machine and any other one coupled to it mechanically, such as a turbine,
in proportion to the masses of their rotating parts. If there is no direct flow cooling, the
distribution of bearing losses shall be determined from empirical formulae by agreement.

5.9 Excitation circuit measurements

Deternjination of voltage U, and current I, (see 3.15.3.2) depends on the configurationg of the
excitatjon system (see 3.15.3.3). Where applicable, test data shall be recorded aceording to
the following:

a) for[ machines excited by shaft driven, separate rotating, static andcauxiliary winding
exgiters (see 3.15.3.3 a), c), d) and e)), voltage U, and current /, are measured:
— |at the excitation winding terminals of d.c. machines;
— |at the field winding slip-rings of synchronous machines;

b) for|machines excited by brushless exciters (see 3.15.3.3 b)), test data shall be reforded
by leither of the following methods:

— |voltage U, measured using auxiliary (provisional) slip-rings connected to the field
winding ends. From the voltage and resistance®y determine the field winding gurrent

U, U
I =—2="L The field winding resistancelis to be measured after switching [off the

e f
machine using the extrapolation procedure according to 5.7.1;

— |voltage U, and current I, measured using power slip-rings suitable for| direct
measurement of field winding currént.

NOTE [The difference between U, and U; (voltage drop of brushes) is in practice almost negligible.

Voltages and currents shall be measured at stabilized temperatures.

The eixcitation circuit losses P, are determined according to 7.1.3.2.1 (synchfonous
machines) or 8.1.3.2.1 (dye. machines).

5.10 Ambient temperature during testing

The ambient temperature should be in the range of 15 °C to 30 °C for at least the last hour of
the rated load thermal test and all subsequent tests and measurements.

6 Test methods for the determination of the efficiency of induction machines

6.1 Preferred testing methods
6.1.1 General

This standard defines three different preferred methods with low uncertainty within the given
range of application, see Table 2. The specific method to be used depends on the type or
rating of the machine under test:

Method 2-1-1A: Direct measurement of input and output power by using a dynamometer. To
be applied for all single phase machines.
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Method 2-1-1B: Summation of separate losses. Additional load loss determined by the method
of residual loss. To be applied for all three phase machines with rated output power up to

2 MW.

Method 2-1-1C: Summation of separate losses. Additional load loss determined by the method
of assigned value. To be applied for all three phase machines with rated output power greater

2 MW.
Table 2 — Induction machines: preferred testing methods
Ref Method Description Clause Application Required
facility
2-1-1A Direct Torque 6.1.2 All single phase Dynamometer
measurement: measurement machines for<full-lgad
Input-output
2-1-1B Summation of P, determined 6.1.3 Three phase Dynamoineter
losses: from residual machines with for 1,25 k full-
. loss rated output load, or load
Residual losses power Up to machinelfor 1,25
2 MW x full-load with
torque mleter
2-1-1C Summation of P, from 6.1.4 Three phase
losses: assigned value machines with
i rated output
Assigned value power greater
2 MW,
6.1.2 Method 2-1-1A - Direct measurement.of input and output
6.1.2.1 General

This if a test method in which the mechanical power P

mec

n of a machine is determi

measu[ement of the shaft torquexand speed. The electrical power P, of the st

measu

ed in the same test.

Input gnd output power are:

ned by
ator is

in motgr operation: Py =Py, Py = Pech (See Figure 1); (2)
in gengrator operation: P = Prechs Po = Pg (3)
Pet, I ——
ech, T, 7

For an
method.

IEC 1301/07

Figure 1 — Sketch for torque measurement test

overview, Figure 2 provides a flowchart for efficiency determination by this test
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Direct measurement

l

Dynamometer
test

l

‘ Efficiency

IEC 1673/14

6.1.2.2 Test procedure

Couplg the machine under test to a load machine with torque meter or)a dynamd
Operale the machine under test at the required load until thermal equilibritum is achieve

of chamge 1 K or less per half hour).
Recorq U, I, Py, n, T, 0.

6.1.2.3 Efficiency determination

The efficiency is:

Input power P, and output power P, are:
in motgr operation: Py =Pgy; Py = Prech
in gengrator operation: Py = Prech: P2 = Py
where

Prech = 21 x T x n.

Figure 2 — Efficiency determination according to method 2-1-1A

meter.
d (rate

(5)

(6)

(7)

6.1.3 Method 2-1-1B — Summation of losses, additional load losses according t<|> the

—methhod of restduat 1oss

6.1.3.1 General

This is a test method in which the efficiency is determined by the summation of separate

losses. The respective loss components are:

— iron loss;

— windage and friction losses;

— stator and rotor copper losses;
— additional load losses.

For an overview, Figure 3 provides a flowchart for efficiency determination by this test

method.
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| Indirect measurement |

Separate losses

l

Winding resistances at ambient temperature

i

6.1.3.2.1 Rated load test
Winding resistances at rated load test

}

6.1.3.2.2 Loadlosses

Stator and rotor winding losses

l

6.1.3.2.3 Load curve test

with torgue measurement and
measurement of winding resistances

l

6.1.3.2.4 No-oad test
Winding resistances at no-load test

l

6.1.3.2.5 Constantlosses

Friction and windage losses

Iron losses

l

6.1.3.2.6 Additional load losses
from residual loss

6.1.3.3 Total losses

IEC 1674/14

Figure 3 - Efficiency determination according to method 2-1-1B

6.1.3.2 Test.procedure
6.1.3.2.1 Rated load test

Beforelthis load test, measure the temperature and the winding resistance of the motbr with
the motor at ambient temperature.

The machine shall be loaded by suitable means with rated output power and operated until
thermal equilibrium is achieved (rate of change 1 K or less per half hour). Record the
following quantities:

- P‘]!T!Iv U1 nv‘ﬁ eca 9!

— Ry = R (the test resistance for rated load according to 5.7.1);

— 0 (the winding temperature at rated load according to 5.7.2).

Immediately after the load test the drift of the torque transducer should be checked. In case of

a deviation above the allowed tolerance of the transducer, adjust it and repeat the
measurements.
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6.1.3.2.2 Load losses

Stator-winding losses and temperature correction

The uncorrected stator-winding losses at rated load are:

where

Detern

P =15xI"xR

I and R are determined in 6.1.3.2.1.

from—th

mae—the statorawindinag laccas  1icina thg ctatar windina rgcictancg D
H3 th taO - WHREHIg— —HSHg—h teo—WREHg— +Sta -+

N

load test, corrected to a reference coolant temperature of 25 °C:

where

Rotor

PRy =F xk

iy is the correction according to 5.7.3 for the stator winding.

winding losses and temperature correction

For thg uncorrected rotor winding losses use the formula:

where

P=(P - -PR xS

rated

(9)

(10)

(11)

stator

Py, napdf are according to the(rated load test;
Py according to the load test as stated above;
Pse is according:te*6.1.3.2.5.
The cqrrected rotor winhding losses are determined using the corrected value of the
winding losses:
F, :(Pl -FBy—F )Xse
where
Pye is according to 6.1.3.2.5 for a reference coolant temperature of 25 °C;
Sy = sxke is the slip corrected to a reference coolant temperature of 25 °C (see 5.7.3);
kg is the correction according to 5.7.3.

Temperature correction of input power (for a motor)

With the corrected stator and rotor winding losses, the corrected input power is:

Po=P—(R—-PRg+hF -Fp)

(12)
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6.1.3.2.3 Load curve test

This test shall be carried out immediately after the rated load test with the motor at operating
temperature.

If that is not possible, prior to the start of recording data for this test, the temperature rise of
the windings shall be within 5 K of the initial temperature rise 8y, obtained from a rated load
temperature test.

Apply the load to the machine at the following six load points: approximately 125 %, 115 %,
100 %, 75 %, 50 % and 25 % of rated load. These tests shall be performed as quickly as
possible to minimize temperature changes in the machine during testing

Supply| frequency variation between all points shall be less than 0,1 %.

Measufe R before the highest and after the lowest load reading. The resistance for|100 %
load apd higher loads shall be the value determined before the highest {o0ad reading. The
resistance used for loads less than 100 % shall then be determined a§*varying lineanly with
load, Using the reading before the test for the highest load and afterthe lowest readling for
25 % Ipad.

NOTE Resistances may also be determined by measuring the stator winding temperature using a temgerature-
sensing|device installed on the winding. Resistances for each load peint may then be determined from the
temperafure of the winding at that point in relation to the resistance and temperature measured before thq start of
the test.

Record for each load point: U, I, Py, n, f, T

Statorfwinding losses

The stator-winding losses at each of the load points are:

P =15xI"xR (13)

where [ and R are determined ‘according to 6.1.3.2.2 for each load point.

Rotor winding losses

For thg rotor winding*losses for each of the load points use the formula:

P=(P —P—P, )xs (14)

where

_pxn (15)

P4, nandf are according to the load test;
Py according to the load curve test as stated above;
Pse is according to 6.1.3.2.5.

6.1.3.2.4 No-load test

The no-load test shall be carried out on a hot machine immediately after the load curve test.
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Test at the following eight values of voltage, including rated voltage, so that:

— the values at approximately 110 %, 100 %, 95 % and 90 % of rated voltage are used for
the determination of iron losses;

— the values at approximately 60 %, 50 %, 40 % and 30 % of rated voltage are used for the
determination of windage and friction losses;

The test shall be carried out as quickly as possible with the readings taken in descending
order of voltage.

Record at each of the voltage values: Uy, I, Py

Deternline the resistance Ry immediately before and after the no-load test.

The inferpolated winding resistance of each voltage point shall be calculated by./interpplating
the registances before and after the test linearly with the electrical power P

NOTE 1| For induction machines R, is R, ,. Where resistance measurement is impracticable due to yery low
resistanges, calculated values are permissible.

NOTE 2| In a.c. machines, resistances may also be determined by measuring thie stator winding temperature using
a tempefature-sensing device installed on the winding. Resistances for each 4oltage point may then be defermined
from the] temperature of the winding at that point in relation to the resistanee ‘ard temperature measured bgfore the
start of fhe test.

For a qoupled machine, P is determined from 7 and x.

6.1.3.2.5 Constant losses

Subtrafting the no-load winding losses from thé-no-load input power gives the constant|losses
that are the sum of the friction, windage and”iron losses. Determine the constant losges for
each vplue of voltage recorded.

Fo=R—F=FRy+he (16)
Where
F, =1,5><]g xRy, (17)

with Ry 3 being.the interpolated winding resistance at each voltage point.

Fricti0|n and windage losses

From the four or more consecutive no-load loss points between approximately 60 % of voltage
and 30 % of voltage develop a curve of constant losses (P;) against the voltage squared
(Up?).

Extrapolate a straight line to zero voltage. Determine the intercept at zero voltage, which is
considered the friction and windage losses Py, at approximately synchronous speed.

Iron losses

From the values of voltage between approximately 90 % and 110 % of rated voltage, develop
a curve of P = F, — P, against voltage Uj.

To determine the iron losses at full load the inner voltage U; that takes the resistive voltage
drop in the primary winding into account shall be calculated:
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3

2 \/g 2
U. = (U—T-I-R-cosq)J +[7-I-R-sin¢] for a motor

1

V3

2 \/g 2
U = (U+7-I-R-cosgoj +(7-I-R-sin¢)J for a generator

(18)

(19)

U, Py,

The ird
the vol

NOTE 1
load.

NOTE 2

drop. DU
and sha

6.1.3.2

c0s¢=i; sing = 4/1—cos® @

\/ngxI

/ and R are from the load test according to 6.1.3.2.1.

n losses at full load shall be interpolated from the iron losses-over voltage U, ¢
tage U;.

The iron losses at full load may be calculated by using the ratio (Ur/UN)2 applied to the iron loss¢

Because the stator leakage inductance is unknown, the<voltage is only considering the resistive
e to the low power factor at no-load, the resistive voltage drop is negligible during the measurem
| only be taken into consideration for the load values:

.6 Additional load losses P |

Residual losses P,

The re
power:
the irg
corres

the output power, the uncorrected stator winding losses at the resistance of th
n losses, the windage and’ friction losses, and the uncorrected rotor winding
ponding to the determined value of slip.

R,=R-B-F-F-F -

P, =2x-T-n foramotorand B =27-T-n for a generator.

(20)

urve at

s at no-

voltage
ent itself

sidual losses shall be determined for each load point by subtracting from theé input

e test,
losses

(21)

(22)

where

pxn

wa :wao-(1—S)2'5 with s=1-

are the corrected friction and windage losses.

Smoothing of the residual loss data

(23)

The residual loss data shall be smoothed by using the linear regression analysis (see Figure
4) based on expressing the losses as a function of the square of the load torque according to
the relationship:
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P =AxT*+B (24)

A and B are constants determined from the six load points using the following formulas:

A= i'Z(PLr 'Tz)_zpu 'ZT2
X ) Er)

| YAy
B is th¢ Tntercept according to B = —A- (26)

i i

A is the slope according to

(25)

i is thel number of load points summed.

The infercept B should be considerably smaller (< 50 %) than the additional load losses P| |
at ratef torque. Otherwise the measurement may be erroneous and should be checked.

NOTE |The intercept B may be positive or negative. Figure 4 shows an example-for-positive intercept B.

Pir A
P

® from measurements

PL=AT +B

/ B (slope = 4)

IEC 1310/07

Figure 4 — Smoothing of the residual loss data

The correlation.coefficient is calculated as

N(p 72 (N p (S 72)
Led \ L7 ] \Ld Lr) \Ld ] (27)

T BEE-Er ez -]

When the correlation coefficient y is less than 0,95, delete the worst point and repeat the
regression. If y increases to > 0,95, use the second regression; if y remains less than 0,95, the
test is unsatisfactory and errors in the instrumentation or test readings, or both, are indicated.
The source of the error should be investigated and corrected, and the test should be
repeated. In case of sufficient test data, a correlation coefficient of 0,98 or better is likely.

When the slope constant 4 is established, a value of additional load losses for each load point
shall be determined by using the formula:

P, =AxT? (28)
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6.1.3.3 Efficiency determination

Total |

osses

The total losses shall be taken as the sum of the adjusted iron losses, the corrected friction
and windage losses, the load losses and the additional load losses:

Pr="FBe+hw+Fsot+hotHL

(29)

where
P = Bwo - (1-5¢)%°
are thq corrected friction and windage losses.
Efficigihcy
The efficiency is determined from
n= Pl,e _PT _ P2
P],e P2 + PT

6.1.4

6.1.4.1

Usually, the first expression is preferred for a motor, the'second one for a generator.

is the temperature corrected input powerfrom the rated load test;
is the output power from the rated:l¢ad test.

Method 2-1-1C — Summation’ of losses with additional load losses from
assigned allowance

General

As method 2-1-1B, this~test method determines efficiency by the summation of s¢

losses
practic
and an

For the reason that full load testing as required by method 2-1-1B is in geng
al for ratingshabove 2 MW, this method is based on a load test with reduced
assignedrvalue for the additional load losses. Therefore the full load test and th

curve fest are notrequired for method 2-1-1C.

Apart f

rom this, method 2-1-1C is similar to method 2-1-1B.

(30)

(31)

parate
ral not
oltage
e load

For an overview, Figure 5 provides a flowchart for efficiency determination by this test
method.
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‘ Indirect measurement ‘

Separate losses

l

| Winding resistance at ambient temperature |

l

| 6.1.4.2.1 Load test at reduced voltage |

l

6.1.4.2.2 Loadlosses

Stator and rotor winding losses
including temperature correction

l

‘6.1.4.2.3 No-load test ‘

l

6.1.4.2.4 Constantlosses

Friction and windage losses

Iron losses

l

6.1.4.2.5 Additional load losses
from assigned value

l

| 6:1.4.3 Total losses |

l

‘ Efficiency ‘

IEC 1675/14

Figure 5= Efficiency determination according to method 2-1-1C

6.1.4.2 Test procedure

6.1.4.2.1 Load test at reduced voltage

For large machines which cannot be tested at full load, the load test at reduced voltage is an
appropriate method. The following are required: a load test with the machine acting as a
motor at reduced voltage U4 at rated speed, a no-load test at the same reduced voltage
U,eq> @nd a no-load test at rated voltage and rated frequency.

Using this method, it is assumed that at reduced voltage, while keeping the speed constant,
currents diminish as the voltage and power diminishes as the square of the voltage.

Operate the machine using the maximum available load with a decrease in voltage to achieve
rated speed. Operate to achieve thermal equilibrium.

At reduced voltage, record: U,gq, Ireqs Pired: Lored> COS(Pgreq)-

At rated voltage and no-load, record: Uy, I, cos(¢g)-
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From the result of such a test calculate the current under load and the absorbed power at
rated voltage:

U
lzlred . +A£O (32)
red
where
/\lU:—Ji(!ZU!qin g/)u—!luwu! Uy sing_ ) (33)
red
U 2
Pl = Pl red X = (34)
, Ured

NOTE [nderlined current symbols indicate vectors (see Figure 6).

By mepns of the values / and P, thus determined, and with‘the slip measured at r¢duced
voltage, it is possible to calculate the load losses, similar to a<oad test at rated voltage.

IEC 1308/07

Figure 6 — Vector diagram for obtaining
current vector from reduced voltage test

6.1.4.2.2 Load losses

The determination of load losses is similar to 6.1.3.2.2.

6.1.4.2.3 No-load test

The no-load test shall be carried out on a hot machine immediately after the load test.
The no-load test is similar to 6.1.3.2.4.

6.1.4.2.4 Constant losses

The determination of the constant losses is similar to 6.1.3.2.5.


https://iecnorm.com/api/?name=37b528dfdca35f54f3a193b78961045a

IEC 60034-2-1:2014 © IEC 2014 -31 -

6.1.4.2.5 Additional load losses P, |

The value of additional load losses P | at rated load shall be determined as a percentage of
input power P4 using the curve in Figure 7.

Additional
load losses,
in % of
input power

(P, 100
&

I

0,1 1 10 100 1000 10 000 100 000
Rated output P, (kW)

IEC 1311/07

Figure 7 —Assigned allowance for additional load losses P,

The vdlues of the curve may be described by the following formulas:

P

for P, £ 1 kW u = £x0,025

for 1 kW < P, <10 000 kW R, =P, x{o,ozs—o,oos Iog10(11k3\2N H

P

for P, > 10 000 kW 1 = £x0,005

For other than rated loads, it shall be assumed that the additional load losses vary as the
square of the primary current minus the square of the no-load current.

NOTE The curve does not represent an average but an upper envelope of a large number of measured values,
and may in most cases yield greater additional load losses than 6.1.3.
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6.1.4.3 Efficiency determination
Total losses

The total losses shall be taken as the sum of constant losses, load losses and additional load
losses:

Pr—P 4P 4B 4R, (35)
Efficiency
The efficrency s determimed—rom
P-P P
n=—o=o— (36)
B P+P

NOTE [sually, the first expression is preferred for a motor, the second one for a generator.
6.2 [Festing methods for field or routine-testing
6.2.1 General

These [test methods may be used for any test, i.e. field>tests, customer-specific acceptance
tests of routine-tests.

In addition, preferred methods of Table 2 may als6'be used outside the power range idgntified
in Table 2.

Methodls defined by this standard are given'in Table 3.

Table 3 — Induction machines: other methods

Ref Method Description Clause Required fdcility
2-1-1D Dual-supply-back- Dual-supply, back- 6.2.2 Machine set fpr full-
to-back to-back test load; two identical
units
2-1-1E Single-supply-back- | Single-supply, 6.2.3 Two identical|units
to-back back-to-back test (wound rotor)
2-1-1F Reverse rotation P, from removed 6.2.4 Auxiliary motor with
rotor and reverse rated power yp to
rotation test 5 x total lossgs
2-1-1G Eh-star P, from Eh-star 6.2.5 Winding shalllbe
est cormected-rstar
connection.
2-1-1H Equivalent circuit Currents, powers 6.2.6 If test equipment for
and slip from the other tests is not
equivalent circuit available (no
method, P, from possibility of
assigned value applying rated load,
no duplicate
machine)
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6.2.2 Method 2-1-1D — Dual supply back-to-back-test
6.2.2.1 General
For an overview, Figure 8 provides a flowchart for efficiency determination by this test
method.
Direct measurement
Dual-supply
back-to-back
test
‘ Efficiency ‘
IEC 1676/14
Figure 8 — Efficiency determination according to method 2-1-1D
6.2.2.2 Test procedure

Mechahically, couple two identical machines together (see Figure 9).

Tests
transfa

Conne
conver

hre made with the power supplies exchanged but with the instruments and inst
rmers remaining with the same machinée.

Pq,1In — P2, 1g

A Un —-—-— <>/@ Us

IEC 1302/07

Figure 9 — Sketch for dual supply back-to-back test

Ct the)driven machine (induction generator) terminals to either a machine sg
ter{ supplying reactive power and absorbing active power. Supply one machin

fument

t or a
e (the

motor

n b 4 n £ n b AN el n 1 1 [
Ul TIHOtOT Tatlrty, tic yCliciatlul TOT yCricrdatur T4dlilty ) Witlht TdtlecU vUIlaytT diiu 11T

uency;

the second one shall be supplied with a frequency lower than that of the first machine for
generator operation or higher for motor operation. The voltage of the second machine shall be
that required to result in the rated voltage-to-frequency ratio.

Reverse the motor and generator connections and repeat the test.

For each test, record:

Uwm

, Iy, P1, fm» sy for the motor;

- Ug, Ig, Py, fg, sg for the generator;

- 0

c*
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6.2.2.3 Efficiency determination

When identical machines are run at essentially the same rated conditions, the efficiency shall
be calculated from half the total losses and the average input power of the motor and
generator as follows:

PT
=1- 37
n P+P, (37)
2
where
1
Py :5(P1 -P) (38)

6.2.3 Method 2-1-1E - Single supply back-to-back-test
6.2.3.1 General

For arl overview, Figure 10 provides a flowchart for efficiency determination by thlis test
method.

Indirect measurement

l

Single-supply
back-to-back
testfor wound
rotor induction
machines

IEC 1677/14

Figure10 — Efficiency determination according to method 2-1-1E

6.2.3.2 Test procedure

This tgst\is applicable to wound-rotor induction machines. Mechanically couple two identical
machirestogethreramd—commectthemboth—etectricatty to—the—samepower suppty S0 as to
operate at rated speed and rated voltage, one as a motor and the other as a generator.

The rotor winding of the motor shall be short-circuited and the rotor winding of the generator
shall be connected to a polyphase supply suitable to deliver rated rotor current at slip-
frequency. The desired motor-power will be achieved by adjusting frequency and current of
the lower frequency power supply.

For each test, record:

- Uy, Py, 14 of the power-frequency supply;
- U, I, P, of the low-frequency supply,
— P,y absorbed at the motor terminals;

— Pg delivered at the generator terminals;


https://iecnorm.com/api/?name=37b528dfdca35f54f3a193b78961045a

IEC 60034-2-1:2014 © IEC 2014 - 35—

- 0,

6.2.3.3 Efficiency determination

When identical machines are run at essentially rated conditions, the efficiency is calculated by
assigning half the total losses to each machine.

Calculate the efficiency from

P
=1-—= 39
n R, (39)

where
Py is the power absorbed at the terminals of the machine acting as motor;
P+ is the total losses, defined as half the total absorbed, for wound-rotor induction mgchines

as follows: PT:%(P1 +P)

6.2.4 Method 2-1-1F — Summation of losses with additional load losses determined
by test with rotor removed and reverse rotation test

6.2.4.1 General

As method 2-1-1B, this test method determines efficiency by the summation of sgparate
losses| But in this case the additional load losses\are determined by a combination |of two
individpal tests: the test with rotor removed and\the reverse rotation test. Apart from that,
method 2-1-1F is similar to method 2-1-1B.

For ar] overview, Figure 11 provides acflowchart for efficiency determination by this test
method.
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‘ Indirect measurement |

Separate losses

i

Winding resistance at ambient temperature

l

6.1.3.2.1 Ratedload test

VVinding resistance al rated load test

l

6.1.3.2.2 Loadlosses

Stator and rotor winding losses

l

6.1.3.2.4 No-oad test
Winding resistances at no-load test

i

6.1.3.2.5 Constantlosses

Friction and windage losses

Iron losses

l

6.2.4.2 Additional load losses
from test with rotof removed and
reverse rotation test

l

| 6.2.4.3 Total losses |

l

| Efficiency

IEC 1678/14

Figure 11 - Efficiency determination according to method 2-1-1F

6.2.4.2 Testprocedure

Apart from(the determination of the additional load losses, the same procedures as in $.1.3.2
shall bp.applied, except that the torque does not need to be measured nor recorded.

The required combination of tests for the determination of the additional load losses is as

follows:

a) with the rotor removed (for the fundamental frequency additional losses);

b) with the machine rotating at synchronous speed opposite to the magnetic field, driven by
external means (for the higher frequencies losses).

During both tests, the stator shall be supplied by a balanced polyphase current of rated
frequency for four currents between 25 % and 100 % rated current, and two currents above
and of not more than 150 % rated current. Calculate the (rotor) load current 7, :

I, =\’ -1 (40)
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where
I is the value of stator current during the test giving a desired load current;
Iy is the no-load current at rated voltage.

NOTE Due to lack of cooling, the current is usually limited to 125 % or 115 % for 2-pole machines to reduce the
risk of overheating.

Test with the rotor removed

For this test, all parts in which eddy currents might be induced, for example end shields and
bearing parts, shall be in place. Apply load current.

For eaph load current, record (symbols indexed "rm"): Py 0, | rmy Remy €4 -

Reverse-rotation test

For th|s test, couple a completely assembled machine to a driving motor, with an |output
capability of not less than rated total loss and not more than five times thexrated losseq of the
machine to be tested. When a dynamometer is used for the determination of the shaft power,
its maximum torque shall not exceed ten times the torque corresponding to the rated tofal loss
of the [machine to be tested. For wound-rotor machines, the rotor terminals shall be| short-
circuited.

Drive fhe machine under test at synchronous speed in the-direction reverse to the rptation

when fed in normal phase sequence:

a) without voltage applied to the stator until friction losses are stabilized. Record: Py o
supplied by the driving machine at 7 = 0;

b) with voltage applied to the stator to obtain(stator current values equal to those for the test
witp rotor removed. For all test currents,\récord (symbols indexed "rr"): I} , Ry, Pq|rrsOy o
for|the test motor; Pp . of the drive motor.

NOTE [The low power factor of the tests may(require a phase error correction to all wattmeter readings.
6.2.4.3 Efficiency determination
Additipnal load losses

and the shaft power (PD’rr —F ’rr) by

applyirjg a regression-analysis to the log of powers and currents, resulting in the relatignships
below:

Smooth the test values of the stator powers B and R

Lrr?

P l,rm: Arm XINI +BL,rm; Pl,rr = Arr XINZ +BL,rr; (PD,rr _P(),rr) = AD,rr XIN3 +BD,rr (41)
The smoothed powers will then be as follows:
])l,rm = Arm X]Nl; Ijl,rr = Arr XINZ; (PD,rr _1)0,11) = AD,rr X]N3 (42)

If the data are accurate, each curve will show a close square-law relationship between power
and current.

The additional load losses are: B, =F, + £, where for each test current:

— 4 LLm LL,r

P,

LL,rm

=P

1,rm

—(3><I2 stm) is the fundamental frequency loss (43)
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R is the stator phase resistance referred to the average of the temperatures ijrm;

s,rm

P =

LL,rr

where

(PD’rr —Po’rr)—(Pl’rr A —(3><I2 xRS’H) )is the higher frequencies loss

R is the stator phase resistance referred to the average of the temperatures van.

S,IT

The additional load loss at a specified operating point can be determined in the following

steps.

a) Ca

value of stator line current:

where

where

c) Ca

Total losses

culate an approximate value for the rated load current I corresponding to th«L rated

Iy :\/II%I _1(?

is the rated value of stator line current;
is the value of no-load stator current.
the value of load current / , calculate a rated value ‘of stray load loss Py, as f

N3 N1 N2 o2
RLL = Aprr X INC + 24 X INL = 4 x INC = BIRL % (Rsrm — 0.5 Rgrr)

culate the value of load current /| at anyoperating point:
2 2
Ip=\I"-1,

is the stator line current.at.the operating point.
culate the stray load loss P| | at the operating point:

1

2
j
NL

By :PNLLX(

(44)

bllows:

(45)

(46)

(47)

The to

ahlosses shall be taken as the sum of constant losses, load losses and addition

al load

losses:

Efficie

Pr=FR+FK+R+R|

ncy

The efficiency is determined from

where

(48)

(49)
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P, is the input power from a rated load test;
P, is the output power.

6.2.5 Method 2-1-1G — Summation of losses with additional load losses determined
by Eh-star method

6.2.5.1 General
As method 2-1-1B, this test method determines efficiency by the summation of separate

losses. But in this case the additional load losses are determined by the Eh-star test. Apart
from that, method 2-1-1G is similar to method 2-1-1B.

For ar]1 overview, Figure 12 provides a flowchart for efficiency determination by thlis test
methodg.

| Indirect measurement |

Separate losses

l

Winding resistance at ambient temperature

i

6.1.3.2.1 Rated load test
Winding resistance at rated load test

l

6.1.3.2.2 Loadlosses

Stator and«totor winding losses

i

6:1.3.2.4 No-load test

Winding resistances at no-load test

l

6.1.3.2.5 Constantlosses

Friction and windage losses

Iron losses

l

6.2.5.2 Additional load losses
from Eh-star test

l

i 6.2.5.3 Total losses |

l

| Efficiency |

IEC 1679/14

Figure 12 — Efficiency determination according to method 2-1-1G

6.2.5.2 Test procedure

Apart from the determination of the additional load losses, the same procedures as in 6.1.3.2
shall be applied.
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The procedure for the determination of the additional load losses requires operating the
uncoupled motor with unbalanced voltage supply. The test circuit is according to Figure 13.

Motors rated for and connected in delta-connection shall be reconnected to star-connection
during this test. The star-point shall not be connected to system neutral or earth, to avoid
zero-sequence currents.

The third motor-phase shall be connected to the power-line by means of a resistor R, (see
Figure 13) having approximately the following typical value:

Uny
for moforsTated for star-connection: R, = 0,2 (50)
NN
o 3uy
for motors rated for delta-connection: R, = [—~0,2 (51)
N

The repistor Ry}, used during the test shall be adjusted so that the(positive sequence gurrent
11y stgys below 30 % of negative sequence current I,y and the(speed stays in the rgnge of
typical[motor speeds near rated speed (see below). It is recomtmended to begin the test with
an actyal resistor Ry, that differs no more than 20 % from the‘typical value R’yy,.

| 1L2L3
Iy U
L . . *
Uuy,
@ v -
®
Iy V
L
Uvyw
Q
1,8 Iy W
'ch(c . .
2
Pywy
5 (W)
IEC 1307/0f

Figure 13 — Eh-star test circuit

Test current 7, is given by

for motors rated for star-connection: [, = 1N2 —102 (52)
IN? - 12
for motors rated for delta-connection: I, = % (53)

Test voltage U, is given by

for motors rated for star-connection: Ui =Up (54)
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for motors rated for delta-connection: Ui =Uy\ 3

Prior to the test the no-load losses have to be stabilised according to 6.1.3.2.4.

(55)

Measure and record the resistance between the terminals V and W (R,;) before and after the
complete test.

In order to avoid excessive unequal heating of the three phases, the test shall be conducted
on a cold machine and carried out as quickly as possible.

Large
13) at

Small
not nes

Vary

appro
phase
descer

The lin
determ
higher
readin
extrap

Recorg

It is un|

NOTE
sensing

temperafure of the winding at that point'in relation to the resistance and temperature measured before thg

the test.

Some
virtual
Theref
is esta

In orde
all cur

4 1 o 4 to ol idble £ bl n H Y L Hal O ¢ HH 4
MUtUT o Ldall Ulhly UT olaltCu wilriout tric l\eh FCololUl (oWItLIT v U PUOoTUUIT T, oTT

reduced voltage (25 % — 40 % Uy). After run-up connect R, by switching to posi

motors should start-up with resistor R, already connected. In this casg; .the sy
pded.

he supply voltage for six test points. The test points shall’ be chosen

ding order to the lowest current.

e-to-line resistance R\, for 100 % test current and lower currents shall be theg

js before and after the complete test. The\test resistance is determined usi
plation according to 5.7.1.

for each test point: 1, Iy, Iy, Uyy, Uyw, Uwu, Puv: Pwys 7

derstood that in this test no averaging of phase resistances is permissible.

Resistances may also be determined by measuring the stator winding temperature using a temg
device installed on the winding! Resistances for each load point may then be determined f

commonly used(integrated wattmeters symmetrize the three phases by an i

bre, it is essential to ensure that neither earthing of the star point nor a virtual stg
blished. The-provided test circuit (see Figure 13) should be strictly applied.

r to-achieve accurate results the slip shall be not greater than twice the rated
eats;”in other words: n > ngy, — 2:(ngy, — ny). If this condition cannot be met t

shall
below

Figure
ion 2.

itch is

to be

imately equally spaced between 150 % and 75 % of rated phase current meastred in
V (Iy). When starting the test, begin with the highest “current and procged in

value

ined after the lowest reading (at the end of the test). The resistance used for clrrents
than 100 % shall be determined as being @/ linear function of current, usipg the

ng the

erature-
rom the
start of

hternal

star connectioh.)However, in this test the power supply is intentionally unsymmegtrical.

r point

5lip for
ne test

100 % of rated phase current these test points should be omitted.

6.2.5.3 Efficiency determination

Additional load losses

For each test point calculate the values using the equations in Annex A.

Smoothing of the additional-load loss data

irrents

The additional-load loss data shall be smoothed by using the linear regression analysis (see

Figure

4).

The losses shall be expressed as a function of the square of the negative sequence current

11(2) rel

ated to test current /;:
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A and B shall be computed similar to the procedure described in 6.1.3.2.6.

(56)

When the slope constant 4 is established, the value of additional load losses for rated load
shall be determined by using the formula P, = AxT".

Total losses

The to
losses

Efficie

The ef

NOTE

where
Pqist
Py ist

6.2.6

6.2.6.1

T-mod
paralle
are ref
symbo

al losses shall be taken as the sum of constant losses, load losses and additionlal load

Pr=FR+F+R+HR
ncy
iciency is determined from
ph=P__ P
R PR

Usually, the first expression is preferred for a motor, the second one for a generator.

he input power from a rated load test;
ne output power.

Method 2-1-1H — Determination of efficiency by use of the equivalent circu
parameters

General

b| per-phase cireuit of an induction machine, including an equivalent iron-loss
| to the main:field reactance (see Figure 14). The rotor side parameters and qu

This method may be applied when a load test is not possible. It is based on the conve£tional

erred to~the stator side; this is indicated by the presence of an apostrophe

s for example X" _,.
ls —_— - l/r
© L L L L T
Rs Xos Xor Ry
u Xm Rig
Zis)

IEC 1305/07

Figure 14 — Induction machine, T-model with equivalent iron loss resistor

(57)

(58)

t

sistor
ntities
at the

Application of the method to cage induction machines requires the following designed values

to be a

[
'

or

vailable.

ratio of stator leakage reactance to rotor leakage reactance.
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- temperature coefficient of the rotor windings (conductivity referred to 0 °C).

T

- X

oS82

Xm stator leakage and magnetizing reactances.

NOTE 1 When using the equivalent circuit method, all voltages, currents and impedances are per phase values
for a three-phase machine in Y-connection; active and reactive powers are per complete machine.

NOTE 2 For copper a, = 1/235 and for aluminium a = 1/225.

For an overview, Figure 15 provides a flowchart for efficiency determination by this test
method.

| Indirect measurement |

Separate losses

l

|6.2.6.2 No-load test |

l

Tests at
reduced frequency
or
at rated frequency

l

6.2.6.3 Equivalent circuit
parameters

l

| Efficiency |

IEC 1680/14

Figure 15 — Efficiency determination according to method 2-1-1H

6.2.6.2 Test procedure
No-load test

The nd-load Josses shall be stabilized at rated frequency and voltage.

The ng-10ad losses are considered stabilized when the no-load power input varies by [3 % or
less, when measured at two successIive 30 min intervarls.

Tests at reduced frequency

With the rotor of the machine locked, supply power from a three-phase, adjustable-frequency
converter capable of furnishing up to 25 % of the rated frequency at rated current. An average
value of impedance shall be obtained from the position of the rotor relative to the stator.

During the tests the frequency converter, either a machine set or a static converter, should
supply practically sinusoidal current at the output.

The rotor windings of wound-rotor machines should be short-circuited for the test.

Supply rated current and take readings for at least three frequencies, including one at less
than 25 % and the others between 25 % and 50 % rated frequency. During this quick test the
stator winding temperature increase should not exceed 5 K.
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For at least three frequencies, record: U, I, f, P4, Ry, 6, 6,,.

Tests at rated frequency

Impedance values can also be determined from the following tests.

a) Reactance from a rated frequency, reduced voltage, rated current locked rotor test:

rec

ord voltage, current, power, frequency and temperatures.

b) Rotor running resistance:

1) from a stabilized rated frequency, rated voltage reduced load test. Record voltage,

power, current, slip and temperatures for the load point; or

2)

NOTE

6.2.6.3

Values from measurements

The m

NOTE
a three-

The pr

using the test with rated frequency notice the follawing deviations:

a) the
b) the

from an open-circuit test, following a stabilized rated frequency, rated voltage. 1
operation. Record the open-circuit voltage and winding temperature as a.fung
time after the motor is tripped from a no-load test.

This test assumes relatively low current displacement in the rotor.

Efficiency determination

bthod is based on the T-model circuit (see Figure 14).

When using the equivalent circuit method, all voltages, currents and impedances are per phase v§
bhase machine in Y-connection; active powers and reactive poWwers are per complete machine.

pbcedure described in this subclause is based:on the test with reduced frequency

reactances are calculated in the same manner as in the following;
rotor running resistance is determined:

using the test at rated frequency described in b) by reverse calculation usi
equivalent circuit in Figure 14\assuming a value for R,’. Adjust the value of R’ u
calculated power is within®0;1 % of the measured power, or the calculated cu
within 0,1 % of the measured current;

using the test at rated frequency described in b) by determining the time consta
the slope of the plot of the decaying voltage and the time on the open-circy
Determine R’ from the formula:

o (Xm +X;r)
' 2z f1,

o-load
tion of

lues for

When

ng the
til the
rent is

ht from
it test.

(59)

where

X, is the magnetizing reactance;
X’
[ is the line frequency;

or 1S the rotor leakage reactance;

7y is the open-circuit time constant.
Correct the value of R’ to the operating temperature from the test temperature.

Determine the reactive powers

— from the no-load test at rated voltage U, = Uy and rated frequency

P,

Q.0 :\/(?’Uo]o)2 _Poz

— from the locked rotor test at reduced frequency

(60)
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where
Uy, I

U, Iand P,

P, =(3UI) - P’

and P, are phase voltage, phase current and supplied power from the no-load
rated terminal voltage;

impedance test at the frequencies f of this test.

Equivalent circuit parameters

The e

Calcul
rated f

Calculate using designed values as start values

Recalg

Iron lo

Deternpine the'resistance per phase equivalent to the iron losses at rated voltage from

uivalent circuit narameters are determined-in the followina stens
Lad ~J Lud

React1nces

te the reactances X, from the no-load test and X |, from the locked-raotor test g
requency:

3U, 1 By, X, X,
”’:PO—3;§X ey T X Vix Tx
e ® 1+l 3P| 14+ T4 T - "
Xm_&Xmlr ;1” XUV !
S Xyl X,

X, X, and X‘?S :
X,

os?

or

ss resistance

3L I

where

Ro =

P, ( X jz
1+
X,

(61)

test at

are phase voltage, phase current and supplied power from the locked rotor

t25 %

(62)

(63)

(64)

ulate until X and3X_ deviate less than 0,1 % from the values of the preceding step.

(65)

P;, is the iron losses according to the procedure given in 6.1.3.2.5 from P, at rated voltage.

Rotor resistance

Determ

ine the uncorrected rotor resistance for each locked rotor impedance test point:

v \2 N2 5
Rglrz(ilz_RsJX 1+Xcr _ Xcsr XXcsAlr
’ 31 an XGS Rfe

(66)
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where

R, is the stator winding resistance per phase at the corresponding temperature Hw .

NOTE |If the rotor winding temperature deviates much from the stator winding temperature the method will
become inaccurate.

The rotor resistance corrected to reference temperature (see 5.7.2, and Table 1) is, for each
locked rotor impedance test frequency, given by

(67)

Plot a furve of R,

T

values against frequency f|,. The intercept with f. = 0 results|in thq stator

referre(d rotor resistance Rr'.

Is |
|
o L T L ! L 0
Rs Xos | Ry(s)
U |
: Xg(s)
I
T
1

IEC 1309/07

Figure 16 — Induction machines, reduced model for calculation

Load dependent impedances

For eafh desired load point intermediate, calculate slip dependent impedance and admjttance

values|(see Figure 16):
. 2 , 2
R/s 1 X, 1
Y = —t— | H =t
¢ Zr Rfe Zr Xm

R/s 1 X, 1
z7 R 72 x
Rg — r 5 fe X — r m
Y ¢ Y?
g g (68)

Calculate the resulting impedance seen from the terminals:
R=RS+Rg X:XGS+Xg Z=AR*+X° (69)

where
s is the estimated slip;

R is the stator winding resistance per phase at reference temperature Gref.

Currents and losses

The performance values are determined in the following steps. Determine:
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P, =317~ air gap power transferred to the rotor; P, =3I’
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U | 1
I. = — stator phase current; 1. =1 —— rotor phase current;
Z

g T

iron loss

2

S g Rfe

P =3I’R ; P =3I’R stator and rotor winding loss

A, =1

from a

reversg

The to

Since

the cu
generg

The ef

7 Te

) [ Ir J
LLN '
"N/ additional load losses,
value P at rated load, either by assigned value (method C) @rrmeasured

LLN

e rotation test (method F) or by Eh-star test (method G).

al losses are:
PT :Ps+})fe+R+PLL+I)fw

nput and shaft power are P, =3I’R and Py=F —P,, the slip shall be correctg
rent and loss calculations shall be repeated until P, for motor operation, or
tor operation, is near enough to the desired value.

iciency (motoring operation) results-from:

st methods for the determination of the efficiency of synchronous

machines

71

711

Preferred testing methods

General

by the

(70)

d, and
Py for

(71)

This standard defines three different preferred methods with low uncertainty within the given
range of application, Tables 4 and 5. The method to be used depends on the frame size or the
rating of the machine under test:

Method 2-1-2A: Direct measurement of input and output power by using a dynamometer. To
be applied for all machines with a frame size below or equal 180 mm and for permanent-

magne

t-excited machines of any rating.

Method 2-1-2B: Summation of separate losses with a full load test and short circuit test for the
determination of the additional load losses. To be applied for all machines with a frame size

above

180 mm and a rated output power up to 2 MW.
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Method 2-1-2C: Summation of separate losses without a full load test. Short circuit test for the
determination of the additional load losses. To be applied for all machines with a rated output
power greater than 2 MW.

Table 4 — Synchronous machines with electrical excitation: preferred testing methods

separate losses
without rated
load test and
P, from short
circuit test

current from
Potier / ASA /
Swedish
diagram;

P, from short-
circuit test

Ref Method Description Clause Application Reql_u_red
facility

2-1-2A Direct Torque 7.1.2 Machine size: Dynamometer
measurement: measurement H <180 for full-load
Input-output

2-1-2B Summation of P, from short 7.1.3 Machine size: Machine set for
losses with circuit test full-load
rated load test H > 180 and
and short circuit rated output
test power up to

2 MW
2-1-2C Summation of Excitation 7.1.4 Rated output

power greater
than 2 MW

NOTE

In the table, H is the shaft height (distance from the centre line of\the shaft to the bottom of the fget), in
millimdtres (see frame numbers in IEC 60072-1).

Tablg 5 — Synchronous machines with permanent magnets: preferred testing methods

C . I Required
Rlef Method Description Clause Application facility
2-1-2A Direct Torque 7.1.2 All ratings Dynamoineter
measurement: measurement for full-lgad

Input-output

7.1.2

7.1.21

General

Method 2-1-2A — Direct measurement of input and output

This ig a test method in which the mechanical power P .., of a machine is determiped by
measufement of ‘the shaft torque and speed. The electrical power P, of the stator is
measufed in the same test.

This procedure is also applicable for synchronous machines with excitation by permanent

magnels-

Input and output power are:

— in motor operation:
— in generator operation:

Py =Pg; Py = Pech (see Figure 17);
P1 = Prech: P2 = Pe
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IEC 1301/07

Figure 17 — Sketch for torque measurement test

For ar]i overview, Figure 18 provides a flowchart for efficiency determination by this test
methodg.

Direct measurement

l

Dynamometer
test

l

‘ Efficiency ‘

IEC~1681/14

Figure 18 — Efficiency determination-according to method 2-1-2A

7.1.2.2 Test procedure

Couplq either the motor under test to a\load machine or the generator under test to g motor
with a forque meter. Operate the machine under test at the required load.

Recorq U, I, Py, n, T, 0.
When excitation is required, proceed according to 5.9.

7.1.2.3 Efficiency determination

The efficiency js:

(72)

Input power P, and output power P, are:

— in motor operation: Py = Pg; Py = Ppacns
— in generator operation: Py = P ocni P2 = Py
where

P
Pqe is according to 5.9.

mech = 21 x T x n.

NOTE Excitation circuit losses not supplied by P, are mechanically covered from the shaft.
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7.1.3 Method 2-1-2B — Summation of separate losses with a rated load temperature
test and a short circuit test

7.1.31 General

This is a test method in which the efficiency is determined by the summation of separate
losses. The respective loss components are:

— iron losses;

— windage and friction losses;

— stator and rotor copper losses;

— exqitatiomrcircuitiosses;

— additional load losses.

This procedure is not applicable for synchronous machines with excitation,by permanent
magnefs.

For an overview, Figure 19 provides a flowchart for efficiency detérmination by thlis test
method.

‘ Indirect measurement ‘

Separate losses

l

‘ Winding resistance at ambjent temperature ‘

l

|7.1.3.2.1 Ratedload temperature test ‘

l

Load losses

Stator and rotor winding losses
including temperature correction

l

‘ Excitation circuit losses |

l

‘7.1.3.2.2 No-load test ‘

l

Constant losses

Friction and windage losses

lron losse

i

|7.1.3.2.3 Short-circuit test ‘

l

| Additional load losses |

7.1.3.3 Total losses

IEC 1682/14

Figure 19 — Efficiency determination according to method 2-1-2B
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7.1.3.2 Test procedure
7.1.3.21 Rated load temperature test

Before this load test, determine the temperature and the winding resistance of the machine
with the machine at ambient temperature.

The machine shall be loaded by suitable means, with supply power according to the machine
rating and operated until thermal equilibrium is achieved (rate of change of 1 K or less per
half hour).

At the end of the rated-load test, record the average of at least 3 sets of test results:

- Pyl Ins Uns S5 O O

— Ry R (the test resistance for rated load according to 5.7.1);
— 0y [the winding temperature at rated load according to 5.7.2);
— Exgitation system values according to 5.9.

Stator|winding losses

Determine the stator-winding losses:

P =1,5xI"xR, (73)

where

R is gccording to 5.7.1, corrected to 25 °C primary coolant reference temperature.

Field J/inding loss
I

The figdld winding loss is

P=1,-U, (74)
Electrical losses in brushes

In casg of brushes determine brush losses from an assigned voltage drop per brush of ¢ach of
the tw@ polarities:

P, =2xU, xI, (75)

where

I, is according to the load test

Uy, is the voltage drop per brush of each of the two polarities depending on brush type:
1,0 V for carbon, electrographitic or graphite;
0,3 V for metal-carbon.

Exciter loss
Uncouple the exciter from the main machine (if possible), then couple the exciter to:

a) a torque measuring device to determine the mechanical power input according to the
input-output method; or

b) a calibrated driving motor to measure the motor electrical power input.
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Connect the exciter (in the case of a synchronous machine excited via slip-rings) to a suitable
resistive load. Operate the exciter unexcited and with voltage U, and current I, for rated load.

Record:

- U,

e’

1

e P1g, n, Tg for rated load;

— Tg o (the torque with the exciter unexcited).

The exciter loss is:

When
by the

The to

7.1.3.2

The m
and o

P —2zullT - T \ap _p
Ed T E EU ) TE T

he exciter cannot be uncoupled from the machine, the exciter losses shall)bée prn
manufacturer.

al excitation loss is:
P =FK+F,+F

2 No-load test

bchine can be tested running as an uncoupled metor or coupled with a driving m
erating as a generator (supplied power from shaft, measured according input

method).

The na

When
no-loa
curren

In the
should
excitat

The nd
less, W

Test af

-load test shall be carried out on a hotmachine immediately after the rated load

his is not possible the test may also be carried out starting with a cold machine
I losses shall be stabilized at fated frequency and voltage (by adjusting the ex

), and unity power factor (minimum current) when running as an uncoupled motof.

case of a synchronous ‘machine with shaft driven exciter (see 3.15.3.3a)), the m
be separately excited and the exciter disconnected from its supply and frg
on winding.

-load lossestareé considered stabilized when the no-load power input varies by
hen measdred at two successive 30 min intervals.

a minimum number of eight values of voltage, including rated voltage, so that:

— fou

(76)

ovided

(77)

achine
output

est.

but the
citation

achine
m the

3 % or

I or'more values are read approximately equally spaced between approximately

110 %

and 80 % of rated voltage;

— four or more values are read approximately equally spaced between approximately 70 %
and approximately 30 % of rated voltage, or (for an uncoupled running machine) to a point
where the current no longer decreases.

The test shall be carried out as quickly as possible with the readings taken in descending
order of voltage.

Record at each of the voltage values: Uy, Iy, Py

Determine the resistance Ry immediately before and after the no-load test.

The interpolated winding resistance of each voltage point shall be calculated by interpolating
the resistances before and after the test linear with the electrical power Py,
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NOTE 1 R, is R ,- Where resistance measurement is impracticable due to very low resistances, calculated values
are permissible.

For a coupled machine, P is determined from 7 and x.

Record excitation system values according to 5.9.

NOTE 2 For large synchronous machines it is recommended to record other values influencing efficiency, for
example coolant temperature, gas purity, gas pressure, sliding bearings oil temperature, bearing oil viscosity.

Constant losses

For each value of voltage determine the constant losses:

P, = Ry — P, (78)

where

Py =15% I& x Ry (79)

For mdchines with brushless exciters, excitation losses shall also be subtracted as follows:

P, :P(J_Ps_Pf,o_PEd,o""PlE,o (80)

where
P¢o i the excitation winding losses at no-load;

Pgq o 1B the exciter loss (see above) corresponding to U, and 7, of the test point;
P4g o ip the power according to 5.9 corresponding to U, and 7, of the test point.

Frictign and windage losses

From the no-load test points,(use all that show no significant saturation effect and develop a
curve of constant losses (£.), against the voltage squared (U02). Extrapolate a straight|line to
zero voltage. The interceptwith the zero voltage axis is the friction and windage losses |Py,,,.

NOTE 3| Windage and friction losses are considered to be independent of load and the same windage and friction
loss valles may be used“for each of the load points.

Iron Igsses

For eaphlofthe values of voltage develop a curve of constant losses against voltage. Spbtract

from thisavalue-the-windage-and-frictionlosses-to-determine-the-iron-losses
g

Fe = F. — Pw (81)

7.1.3.2.3 Short-circuit test
Short-circuit test with coupled machine

Couple the machine under test with its armature winding short-circuited to a drive machine,
with provisions to record the torque using a torque meter or dynamometer (see method 2-1-
2A). Operate at rated speed and excited so that the current in the short-circuited primary
winding is equal to the rated current.
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In the case of a machine with a shaft driven exciter (see 3.15.3.3a)), the machine should be
separately excited and the exciter disconnected from its supply and from the excitation
winding.

The sum of the load losses and the additional load losses is assumed to be temperature

independent, and no correction to a reference temperature is made. It is assumed that the
additional load losses vary as the square of the stator current.

Record: T, n, I.

Excitation system values are according to 5.9.

Short-gircuit test with uncoupled machine

The mpachine is operated as a synchronous motor at a fixed voltage, preferably about 1/3
normal or at the lowest value for which stable operation can be obtained.“The armature
current is varied by control of the field current. The armature current should'be varied in about
six steps between 125 % and 25 % of rated current and should include,ohe or two pqints at
very Igw current. The maximum test current value, traditionally set™at 125 %, should be
obtaing¢d from the manufacturer since sometimes stator cooling will-hot permit operdtion in
excesq of 100 % rated current without damage. The highest readings should be taken [first to
securelmore uniform stator winding temperatures during the test

Recorqd: Py, 1, U.

Excitafion system values are according to 5.9.

NOTE For large machines, the maximum step may be limited to 60 % to 70 % of rated armature current.
Additipnal load losses
From {est with coupled machine

The additional load losses at ratedl.current result from the absorbed power of the short}circuit
test with coupled machine diminished by the friction and windage losses Py, and the load loss
at ratefl current.

R_L,N = 2’7Z-n]1_wa _Ps (82)

In the fase of @ machine with brushless excitation, the excitation winding and the exciter loss
part supplied-bythe driving machine shall additionally be subtracted:

LN =47l + L = Iy = L = Iy = Iy

(83)

For other load points the additional load losses result from

2
1

B =R \X% (Tj
N (84)

From test with uncoupled machine

In order to determine additional load losses at any armature current, the constant losses P_
and the armature winding loss Pg at any armature current shall be subtracted from the power
input at each armature current taken in the test.
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7.1.3.3 Efficiency determination

The efficiency is:

_A+B-5K B

R+P.  PB+P

(85)

where
P, is the input power excluding excitation power from a separate source;
P, is the output power;

P.g i% the excitation power supplied by a separate source;
NOTE 1| Usually, the first expression is preferred for a motor, the second for a generator.

NOTE 2[ Py includes the excitation power P, (see 5.9) of the machine where applicable.

The tofal losses Py including excitation circuit losses are:

Pr=FR+P+R +F (86)

7.1.4 Method 2-1-2C — Summation of separate losses without a full load test

Method 2-1-2C shall be applied to machines with ratings’above 2 MW. The test procefure is
in pringiple similar to method 2-1-2B. The only difference is that the rated load tempegrature
test is|replaced by the determination of the field\ current by the ASA-, Swedish- or [Potier-
Diagram (see IEC 60034-4).

Apart ffrom that the procedures for lossiand efficiency determination are equivalent to
method 2-1-2B.

For arl overview, Figure 20 provides a flowchart for efficiency determination by thlis test
method.
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| Indirect measurement |

Separate losses

l

Winding resistance at ambient temperature

l

IEC 60034-4:2008, 6.4, 6.5, 6.8:

Tt e COTT e ST OTOTI T A e

Swedish- or Potier-diagram

l

Load losses

Stator and rotor winding losses
including temperature correction

l

| Excitation circuit losses |

l

| 7.1.3.2.2 No-load test |

l

Constant losses

Friction and windage losses

Iron feSses

l

| 74323 short-circuit test |

l

| Additional load losses |

l

| 7.1.3.3 Total losses |

l

‘ Efficiency |

IEC 1683/14

Prior to this test, the results of a no-load saturation test, a sustained polyphase short-circuit
test and an over-excitation test at zero power factor, in accordance with 6.4, 6.5 and 6.8 of
IEC 60034-4:2008, shall be available.

For the procedures to determine efficiency see 7.1.3, method 2-1-2B.

This procedure is not applicable for synchronous machines with excitation by permanent
magnets.
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7.2 Testing methods for field or routine testing
7.21 General

These test methods may be used for any test, i.e. field tests, customer-specific acceptance
tests or routine tests.

In addition, preferred methods of Tables 4 and 5 may also be used outside the power range
identified in Tables 4 and 5.

Methods defined by this standard are given in Table 6.

Table 6 — Synchronous machines: other methods

Ref Method Description Clause Required facility
2-1-2D Dual-supply-back- Dual-supply, back- 7.2.2 Two identical|units
to-back to-back test
2-1-2E Single-supply-back- | Single supply, back- | 7.2.3 Two identical|units
to-back test to-back test
2-1-2F Zero power factor Excitation current 7.2.4 Supply for ful
with excitation from Potier / ASA/ voltage and current

current from Potier / | Swedish diagram;
ASA / Swedish

diagram
2-1-2G Summation of Without 7.2.5 Machine set fpr full
losses with load consideration of Pjy load

test except P |

7.2.2 Method 2-1-2D - Dual supply back-to-back-test
7.2.2.1 General

For an overview, Figure 21 provides a flowchart for efficiency determination by this test
methodg.

| Direct measurement

l

Dual-supply
back-to-back
test

IEC 1684/14

Figure 21 - Efficiency determination according to method 2-1-2D

This procedure is not applicable for synchronous machines with excitation by permanent
magnets.

7.2.2.2 Test procedure

Mechanically, couple two identical machines together (see Figure 22). Tests are made with
the power supplies exchanged but with the instruments and instrument transformers
remaining with the same machine.
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P, I —— — P2, Ig

SM SG

i o (=== () seve

n

IEC 1302/07

Figure 22 — Sketch for dual supply back-to-back test

oL L L Lo
Uy = 1LgsJm — Ja)

The vqltage and current of the two machines shall be identical, and one machine-(thg motor
for mofor rating, the generator for generator rating) shall have the rated power factor. This
can bg achieved by a set of synchronous and d.c. machines feeding the |generator |output
back tg the line.
NOTE Power factor and excitation current of the other machine will deviate frdm rated values becausge of the
losses apsorbed by the two machines.
Reverde the motor and generator connections and repeat the test.
For eath test, record: U, /, f, P4, P5, COS @), COS ¢g, 0.
For exgitation systems proceed according to 5.9.
7.2.2.3 Efficiency determination
When [dentical machines are run at esseftially the same rated conditions, the efficiengy shall
be calculated from half the total losses and the average input power of the motpr and
generdtor as follows:
P
n=1- :
B+P
+ A
2 (87)
where
1 . 1
P=—(R-P)+Pc; Pe=—(Pey+Peg)
Z Z (88)

P is according to 5.9.

7.2.3

7.2.31

Method 2-1-2E - Single supply back-to-back-test

General

For an overview, Figure 23 provides a flowchart for efficiency determination by this test
method.

This procedure is not applicable for synchronous machines with excitation by permanent

magne

ts.
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Indirect measurement

l

Single-supply
back-to-back
test

l

‘ Efficiency ‘

7= 1695/14

Figure 23 — Efficiency determination according to method 2-1-2E

7.2.3.2 Test procedure

Mechahically couple two identical machines together and connect them both electrically to the
same ;Fower supply so as to operate at rated speed and rated voltage, ©ne as a motor gnd the
other gs a generator.

NOTE Alternatively, the losses can be supplied by a calibrated driving motaofs

Mechahically couple the machines with an angular displacéement of their rotors enabling one
machine to operate at the load conditions for which the.efficiency is required, and th¢ other
machire to operate at the same absolute value of stator'current (see Figure 24).

Pq, I

Py Pg
Iy Ic

O---O

IEC 1304/07

Figure 24 — Single supply back-to-back test for synchronous machines

The displacement.expressed as electrical angle « for this condition is approximatg¢ly the
double| internal_electrical angle at the required load condition. In general, for a given yoltage
the cir¢ulating'\power depends on the angle « and on the excitation currents of the mofor and
generdtor. AAdjust the current and power factor to rated values at one machine; the deyviation
in excitation” current from the rated value at the other machine can be used for accuracy
considerations

For each test, record:

- Uy, I4, P4 of the power-frequency supply;
— Iy, Py of the motor;

— g, Pg of the generator;

— excitation system values according to 5.9.

7.2.3.3 Efficiency determination

When identical machines are run at essentially rated conditions, the efficiency is calculated by
assigning half the total losses to each machine.
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Calculate the efficiency from

where

Py, is the power absorbed at the terminals of the machine acting as a motor (excluding
excitation power);

Py is the total losses, defined as half the total absorbed;

P,g ifthe excitation power supplied by a separate Source,

PT: P1+RE; RE:

1
2

N | —

7.24 Method 2-1-2F — Zero power factor test with excitation current from Potiern
ASA- or Swedish-diagram

7.2.4.1 General

For an overview, Figure 25 provides a flowchart for efficiency determination by this test
method.

This procedure is not applicable for synchronous_machines with excitation by permanent
magnefts.

| Indirect measurement |

l

| 7.1.3.2.2 No-load test |

l

| 7.2.4.2.2 Zero power factor test |

l

IEC 60034-4: 2008, 6.4, 6.5, 6.8:

Field current according to ASA-, Swedish-
or Potier-diagram

l

‘ 7.2.4.3.2 Excitation circuit losses |

|
v

| 7.2.4.3.3 Total losses |

l

‘ Efficiency |
IEC 1686/14

Figure 25 — Efficiency determination according to method 2-1-2F
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7.2.4.2 Test procedure
7.24.21 General

Prior to this test, the results of a no-load saturation test, a sustained polyphase short-circuit

test and an over-excitation test at zero power factor, in accordance with 6.4, 6.5 and
IEC 60034-4:2008, shall be available.

The evaluation of the results of the no-load test shall be in accordance with 7.1.3.2.2.

7.2.4.2.2 Zero power factor test

6.8 of

Operate the machine uncoupled as a motor, at rated speed and over-excited. Adjdist the

supply| voltage to the same electromotive force £ and armature current 7 (at a power
near zgro) as at the desired load.

NOTE 1 E is the vectorial sum of terminal voltage and Potier reactance voltage drop daccording to 7]
IEC 600B4-4:2008.

factor

.26.2 of

The tegt shall be made as near as possible to the stabilized operating iemperature attajned in

operation at rated load. No winding temperature correction shall be made.

For the above test, it is necessary that the supply voltage is adjustable so that the iron
have the same value during this test as at a rated power factor under load at rated volf
the supply voltage is not adjustable but is equal to the rated voltage, this could give an
iron logs appreciably different from that at full-load<An”principle, reactive power shg
delivered (i.e. machine over-excited), but when this is impossible due to limited
voltage, the test may be made with reactive power’absorbed (i.e. machine under-exci
far as gtable running is possible.

The eXcitation winding losses at the desired load will be obtained from the excitation
estimated according to 7.26.2 of IEC60034-4:2008 (Potier diagram), or 7.26.3
diagram), or 7.26.4 (Swedish diagram),

NOTE 2| The accuracy of this method 'depends on the accuracy of the wattmeters and the instrument tran
at low ppwer factor.

Record at zero power factor:
- Uv‘ ) Il P17zpf1

— exditation systém values according to 5.9;
nd 0,,.

7.2.4. Efficiency determination

losses
age. If
active
uld be
exciter
ed) as

current
(ASA

formers

7.2.4.371 General

For each desired load point, determine the efficiency with the measured values as follows:

h
R+5

n=1-

where

(90)

R:\/ngNxICOS(pN is the power absorbed at the armature winding terminals in rated

operation;
Pt is the total losses, including excitation losses;
P, is the excitation power supplied by a separate source.
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7.2.4.3.2 Excitation losses

Field winding loss

The field winding loss is

B =1y-Us=I? Ry (91)
applying the following temperature correction for the excitation winding resistance:
23546 i
S5+ 1
R =R, x—2""e. 9 =25+(6, -0,)] — (92)
235+6, I, o
where
I, is the excitation winding current determined as described in IEC.60034-4;
Rg is the excitation winding resistance, temperature corrected for\the desired load;
Rg o |is the cold winding resistance at temperature 6;
Ig zpt |is the excitation winding current from the zero power factor test;
Ow is the excitation winding temperature of the zpf-test;
0 is the reference coolant temperature of the zpf-test;
O is the excitation winding temperature corrected to /.
Electrical losses in brushes
In casg of brushes determine brush losses-from an assigned voltage drop per brush of ¢ach of
the tw@ polarities:
B =2xU, xI, (93)
where
I, is the excitation windihg current determined as described in IEC 60034-4;
Uy is the voltage drep-per brush of each of the two polarities depending on brush type:
1,0V for carben;, electrographitic or graphite;
0,3|V foramnetal-carbon.
Exciter.loss

Uncouple the exciter from the main machine (if possible), then couple the exciter to:

a) a torque measuring device to determine the mechanical power input according to the

inp
b) ac

ut-output method; or

alibrated driving motor to measure the motor electrical power input.

Connect the exciter (in the case of a synchronous machine excited via slip-rings) to a suitable
resistive load. Operate the exciter unexcited and with voltage U, and current I, for rated load.

Record:

— Ue’

Iy, Pyg, n, Tg for rated load;

— Tg (the torque with the exciter unexcited).
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The exciter loss is:

Fey =2nn(TE _TE,0)+1)1E_1)f

(94)

When the exciter cannot be uncoupled from the machine, the exciter losses shall be provided

by the

manufacturer.

The total excitation loss is:

7.2.4.3.

For mg

where

Pq zpf
APgg

P

e

For mg

Pe, PEc
determ

R=hB+Fth

3 Total losses

chines with exciter types ¢) and d) (see 3.15.3.3) the total losses are:

P =P +AP +P

»Zp

is the absorbed power at zero power factor test;

(95)

(96)

is determined from the iron loss-voltage curves(see 7.1.3.2.2), and is the differgnce of
the values at voltages equal to the e.m.f. forthe desired load and the e.m.f. of the zero

power factor test.
determined as stated above.

chines with exciters type a) and b)(see 3.15.3.3) the total losses are:

and P, are as defined abeve for the excitation winding current of the desirefl load,

ined according to IEC 60034-4:

Rf = R,zpf +RE,zpf +Af;e +Pe (97)
})e = l)f +PEd _})f,zpf _PEd,zpf (98)
Where
P1 2ot Przgr @Nd P1E oot are measured values from the zero power factor test;
Py is determined as for separately excited machines;
Peqg, PEdszpf are determined from a test as stated above for 7/ ,R. and
[e,zprRe,zpf;
APy is determined from the iron loss-voltage curve (see 7.1.3.2.2), and

is the difference of the values at voltages equal to the e.m.f. for

the desired load and the e.m.f. of the zero power factor test.

NOTE The formulas are expressed for motor operation.
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7.2.5 Method 2-1-2G - Summation of separate losses with a load test without
consideration of additional load losses

The test procedure is in principle similar to method 2-1-2B. The only difference is that the
additional load losses are not considered by this method, i.e. the short circuit test for their
determination is skipped. This results in a significantly lower accuracy.

Apart from that, the procedures for loss and efficiency determination are equivalent to method
2-1-2B.

For an overview, Figure 26 provides a flowchart for efficiency determination by this test
metho

For thg procedures to determine efficiency see 7.1.3, method 2-1-2B, without considergtion of
the additional load loss.

This procedure is not applicable for synchronous machines with excitation by permanent
magnefs.

| Indirect measurement |

Separate losses

l

‘ Winding resistance at ambient temperature |

| 7.1.3.2.1 Rated load temperature test |

|

Load losses

Stator and rotor winding losses
including temperature correction

l

| Excitation circuit losses |

l

[7.1.3.2.2 No-oad test |

l

Constant losses

Friction and windage losses

Iron losses

l

[ 7.1.3.3 Total losses |

IEC 1687/14

Figure 26 — Efficiency determination according to method 2-1-2G
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8 Test methods for the determination of the efficiency of d.c. machines

8.1 Testing methods for field or routine testing

8.1.1

General

The methods shall be used for field tests, customer specific acceptance tests or routine tests.

Methods defined by this standard are given in Table 7.

Table 7 — DC machines: test methods

1
Ref Method Description Clause Required felcility
2-1-3A Direct Torque 8.1.2 Dynamemetef for
measurement: measurement full-load
Input-output
2-1-3B Summation of P, d.c. component 8.1.3 Two identical|units,
losses with load from single supply booster genefator,
test and d.c. back-to-back test specified rectffier
component of
additional load
losses from test
2-1-3C Summation of P, d.c. component 8.1.4 Specified recfiifier
losses with load from assigned value
test and d.c.
component of
additional load
losses from
assigned value
2-1-3D Summation of Excitation.less from | 8.1.5
losses without a an assigned ratio of
load test load te\no-load
excitation current
P\ Mrom assigned
value
2-1-3E Single-supply-back=. | Single supply, back- | 8.1.6 Two identical|units
to-back test to-back test Booster genefator
8.1.2 Method 2-1-3A="Direct measurement of input and output
8.1.2.1
This ig a test method in which the mechanical power P,.., of a machine is determined by

measu

ement~of the shaft torque and speed. The electrical power P, of the armature is
measufed inthe same test.

Input and output power are:

— in motor operation:
— in generator operation:

P1=P

P2=P
P1=Pmech;P2=PeI

el

mech

(see Figure 27);
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IEC 1301/07

Figure 27 — Sketch for torque measurement test

For ar]i overview, Figure 28 provides a flowchart for efficiency determination by this test
method.

Direct measurement

l

Dynamometer
test

l

‘ Efficiency ‘

IEC~1688/14

Figure 28 — Efficiency determination-according to method 2-1-3A

8.1.2.2 Test procedure

Couplqg either the motor under test to a\load machine or the generator under test to g motor
with a forque meter. Operate the machine under test at the required load.

Record U, I, P, n, T, 0.
When gxcitation is required, proceed according to 5.9.

8.1.2.3 Efficiency determination

The efficiency gjsi

(99)

B
I

Sav)
+ ||

Input power P, and output power P, are:

— in motor operation: Py = Pg; Py = Ppacns
— in generator operation: Py = P ochs P2 = Py
where

P
Pqe is according to 5.9.

mech = 21 x T x n.

NOTE Excitation circuit losses not supplied by P, are mechanically covered from the shaft.
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8.1.3 Method 2-1-3B — Summation of losses with a load test and d.c. component of
additional load losses from test

8.1.3.1 General

This is a test method in which the efficiency is determined by the summation of separate
losses. The respective loss components are:

— iron losses;

— windage and friction losses;

— armature winding and brush losses;

— exqitatiomrcircutandexciterfosses;

— additional load losses.

For arl overview, Figure 29 provides a flowchart for efficiency determination.'by thlis test
method.

| Indirect measurement ‘

Separate losses

l

| 8.1.3.2.1 Rated load temperature tést |

l

Load losses

Winding temperature
Armature circuit winding losses
Electricalibrush losses

Exgitation circuit losses

l

8.1.3.2.2 No-load test

l

Constant losses

Friction and windage losses

Iron losses

l

8.1.3.2.3 Additional load losses

l

DC component from a single
supply back-to-back test

l

AC component from a
load test

l

| 8.1.3.3 Total losses |

IEC 1689/14

Figure 29 — Efficiency determination according to method 2-1-3B
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8.1.3.2 Test procedure

8.1.3.2.1 Load test

Rated

load temperature test

Before this load test, determine the ambient temperature and the winding resistance of the

motor.

The machine shall be loaded by suitable means, with supply power according to the machine
rating and operated until thermal equilibrium is achieved (rate of change of 1 K or less per
half hour).

At the

- PNJINs Uns Ogs ON;

— RN
— 6N

— exditation system values according to 5.9.

In the

be measured.

For d.
(armat
measu

Armat

For ea

R acco

Electr

Deternpine brush losses using an assigned voltage drop per brush:

where
I ist
Uy is t
1,0
0,3

Excita

end of the rated-load test, record the average of at least 3 sets of test resultst

= R (the test resistance for rated load according to 5.7.1);
the winding temperature at rated load according to 5.7.2);

case of d.c. machines on rectified power, the mean value/Z;,/and the r.m.s. value

c. machines, R is the total resistance of all~windings carrying armature
ire, commutating, compensating winding, eompound winding). Where resi
Fement is impracticable due to very low resistances, calculated values are permis

ire circuit winding losses

ch load recorded determine the armature-circuit-windings losses:
P =I"xR

rding to 5.7.2 with R taking all windings in the armature circuit into account.

cal brush losses

P =2xU, xI

I shall

current
stance
sible.

(100)

(101)

he armature current at the rating considered;

he assumed voltage drop per brush depending on brush type:
V for carbon, electrographitic or graphite;

V for metal-carbon.

tion circuit losses

The excitation winding losses result from the measured voltage and current as follows:

I)f ZUQXIE

(102)
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Exciter losses

Uncouple the exciter from the main machine (if possible), then couple the exciter to:

a) atorque measuring device to determine the mechanical power input;

b) ac

alibrated driving motor to measure the motor electrical power input.

Connect the exciter to a suitable resistive load. Operate the exciter unexcited and with
voltage U, and current I, for each of the load points.

Record:

When
by the

The eXciter losses Pgy are

where

If testipg is not practical, calculated losses shall he‘used.

8.1.3.2.

The m
and oq

methodl).

The nad

When
no-loa
load p

Test af

— fou

p (the torque with the exciter unexcited).

Iy, Py, n, Tg for each load point (Pg4 according to 3.15.3.3);

he exciter cannot be uncoupled from the machine, the exciter losses shall be pn
manufacturer.

Py =(T,~T.,)x2xn+ B, ~U, <&

Tt o is the torque with the exciter unexcited.

2 No-load test

hchine can be tested running as anZuncoupled motor or coupled with a driving m
erating as a generator (supplied~power from torque, measured according input

-load test shall be carried~out on a hot machine immediately after the rated load

his is not possiblethe test may also be carried out starting with a cold machine
losses shall be'stabilized. The no-load losses are considered stabilized when {
wer input varies’by 3 % or less, when measured at two successive 30 min interv

a minimum number of eight values of voltage, including rated voltage, so that:

ratg¢d\voltage;

I or\more values are read approximately equally spaced between 110 % and 8

ovided

(103)

achine
output

est.

but the
he no-
als.

0 % of

— fou

r or more values are read approximately equally spaced between 70 % and
approximately 30 % of rated voltage, or (for an uncoupled running machine) to a point
where the current no longer decreases.

For uncoupled d.c. machines, the speed shall be maintained constant by adjusting the field
current.

The test shall be carried out as quickly as possible with the readings taken in descending
order of voltage.

Record at each of the voltage values: Uy, Iy, Py

Determine the resistance Ry immediately before and after the no-load test.
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The interpolated winding resistance of each voltage point shall be calculated by interpolating
the resistances before and after the test linear with the electrical power P,

Where resistance measurement is impracticable due to very low resistances, calculated

values

are permissible.

For a coupled machine, P is determined from T and x.

Constant losses

Determine the constant losses from the following equation:

where

Iy and

When
are pe

NOTE

and shuhnt resistors (diverters). In the case of diverters in*parallel with a series winding, the electrical
losses may be determined using the total current and the résulting resistance.

Frictign and windage losses (optional)

For ea

axis is

Iron lo

For eg
losses

F = ]02 XRy;
Ry are recorded for each value of voltage.

resistance measurement is impracticable due to very low resistances, calculated
missible, corrected to the expected winding temperature.

n the armature losses P, the following are included: .compensating windings, commutating pole

the windage and friction losses Py,,.

sses (optional)

ch of the values "of voltage between 80 % and 110 % develop a curve of c¢
(P.) against vaoltage U,. The iron loss shall be taken for the inner voltage U;, at:

U, =UN—(IR); —2U} in the case of a motor

(104)

(105)

values

indings
winding

ch of the values of voltage 70 %-or'less develop a curve of constant losses (P.) against
voltagg U02. Extrapolate a straight:line to zero voltage. The intercept with the zero

oltage

nstant

(106)

U; =Uyn +(IR), +2U,, in the case of a generator

(107)

where

Uy is the rated voltage;

2U,, is the brush voltage-drop as given at the load test;

is the current of the desired load point;
is the resistance of all windings of the armature circuit at full-load temperature.

Determine the iron loss from

Pe = F — By

(108)


https://iecnorm.com/api/?name=37b528dfdca35f54f3a193b78961045a

IEC 60034-2-1:2014 © IEC 2014 -71-

8.1.3.2.3 Additional load losses
DC losses from single supply back-to-back-test

This method allows the determination of the d.c. component of the additional load losses
when two identical d.c. machines are available. They shall be coupled and electrically
connected together and supplied by a d.c. source, the machine acting as a generator with a
booster generator in series (see Figure 30).

Us
M
/

[l\ll ID

Unm C_) ______ () Us

I

IEC 1303/07

Figure 30 — Sketch for single supply back-to-back test
for determination of d.c. component of additionaljload losses

If the mnachines are designed for motor operation, the supply shall deliver rated voltage and
rated qurrent to the machine acting as motor. In the case€.of machines designed for gemerator
operation, the supply voltage shall be adjusted to rated voltage and rated current|at the
machine acting as generator. The motor and the generator shall be operated with the flux
requirgd to produce the e.m.f. corresponding to the test load.

NOTE 1| The voltage supply mainly covers the no-loaddesses, the booster mainly covers the load losses.

In the fase of machines with shaft driventexciters, the excitation windings shall be sepprately
excited for this test, with the exciters®disconnected from their supply and the exgitation
winding.

When temperatures have stabilized, record: U, 1, Ug, Ig, Ug ms le s Ue g+ le.gs 15 O
The d.¢. component of theradditional load loss is

1
PLL:E(a_zpc_ZPa_Pcon_ZUb(1+IB)_2[BUb) (109)

where

P =UyxI1+UgxIg is the power from supply and booster; see Figure 30;

2P
XP
P

¢ Iis the sum of constant losses of both machines;

s IS the sum of the resistance losses of both armature circuits;

con IS the loss in cable connections.

For determination of losses for other load points, apply the factors as described in Table 8.

AC losses (converter-fed d.c. machines)

For motors supplied by static power converters, whenever the current ripple factor (see
IEC 60034-1) of the armature current exceeds 0,1, the additional losses caused by the a.c.
component of the armature current shall be considered in addition to the losses specified
above.
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The losses are obtained from a load test with the machine supplied by an appropriate rectifier.
See also IEC 60034-19.

Record:

— P, the a.c. power supplied to the machine;
— [ the a.c. r.m.s. current component; and
- 6

w the temperatures of the windings in galvanic contact with the armature circuit.

NOTE 2 For series-wound motors, a small amount of the a.c. power input contributes to the developed motor
torque. This amount is usually so small that it can be neglected.

The additional losses due to the a.c. part of the supply voltage result from:

P, =P-I"xR, (110)
where |R, is the d.c. resistance of the armature circuit at rated load tempgratures.

8.1.3.3 Efficiency determination

The efficiency is:

BB -5 _ AR

(111)
B+Be Wb+ h
where
P, is the input power excluding excitation\power from a separate source;
P, is the output power;
P.g i% the excitation power supplied\by a separate source.
NOTE 1| Usually, the first expression s pfeferred for a motor, the second for a generator.
NOTE 2( P;includes the excitation power P, (see 5.9) of the machine where applicable.
Total losses
The total losses shall. be taken as the sum of the separate losses consisting of
Pr=P.+P,+R+R +PF (112)
P.=F +Fy, (113)

P, is the armature-winding loss;

P, is the brush loss;

P. is the constant losses;

P is the additional load losses;

P; is the excitation (field winding) loss;
Pgq is the exciter loss.


https://iecnorm.com/api/?name=37b528dfdca35f54f3a193b78961045a

IEC 60034-2-1:2014 © IEC 2014 -73 -

8.1.4 Method 2-1-3C — Summation of losses with a load test and d.c. component of
additional load losses from assigned value

8.1.4.1 General

As method 2-1-3B, this test method determines efficiency by the summation of separate
losses. But in this case the d.c. component of the additional load losses is derived from an
assigned value.

For an overview, Figure 31 provides a flowchart for efficiency determination by this test
method.

| Indirect measurement |

Separate losses

l

|8.1.3.2.1 Rated load temperature test |

l

Load losses

Winding temperature
Armature circuit winding losses

Electrical brush losses

Excitation circuit losses

l

|8.1.3.2.2 No-load test |

Constant losses
Frictionand*windage losses

Iron losses

l

8.1.4.2 Additional load losses

l

DC component from assigned
allowance

l

AC component from a
load test

|

8.1.4.3 Total losses

\
v

IEC 1690/14

Figure 31 — Efficiency determination according to method 2-1-3C

8.1.4.2 Test procedure

Apart from the determination of the d.c. component of the additional load losses, the same
procedures as in 8.1.3.2 shall be applied.

DC component of the additional load losses from assigned allowance

It is assumed that the d.c. losses vary as the square of the current, and that their total value
at maximum rated current is:
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a) for uncompensated machines:

— 1 % of the rated input power for motors;

— 1 % of the rated output power for generators;
b) for compensated machines:

— 0,5 % of the rated input power for motors;

— 0,5 % of the rated output power for generators.

For constant speed machines, the rated power is the power with maximum rated current and
maximum rated voltage.

For vafiable speed motors where the speed change is obtained by applied voltage, thé¢ rated
input power is defined at each speed as being the input power when the maximun) rated
curren{ is associated with the applied voltage of the particular speed considered.

For vafiable speed motors where the increase in speed is obtained by weakening th¢ field,
the ratgd input power is defined as being the input power when the rated-yveltage is assqciated
with the maximum rated current. For variable speed generators.(where the volthge is
maintajned constant by varying the field, the rated output power is defined as being the|output
power,| which is available at the terminals at rated voltage and maximum rated current. The
allowapces for additional losses at the speed corresponding/to the full field shall|be as
specified above under a) and b). The allowances for additional losses at other speeds shall be
calculgted using the appropriate multiplying factors given in Table 8.

Table 8 — Multiplying factors for different speed ratios

Speed ratio Factor
1,5:1 1,4
2:1 1,7
3:1 2,5
471 3,2

The spleed ratio in the firsticolumn of Table 8 shall be taken as the ratio of actual speed under
considpration to the minimum rated speed for continuous running.

For spged ratios other than those given in Table 8, the appropriate multiplying factors may be
obtained by interpelation.

8.1.4.3 Efficiency determination

The ef ir\innr\y is:

_BtBe -5 B

(114)
R+P, B+H

where

P, is the input power excluding excitation power from a separate source;
P, is the output power;

P.g s the excitation power supplied by a separate source.

NOTE 1 Usually, the first expression is preferred for a motor, the second for a generator.

NOTE 2 P includes the excitation power P, (see 5.9) of the machine where applicable.
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Total losses

The total losses shall be taken as the sum of the separate losses consisting of

Pr=FP.+P+R+R +PF (115)
P.=P+PR, (116)
where
P, is the armature winding loss:
Py, is the brush loss;
P, is the constant losses;
P ip the additional losses;
P; is the excitation (field winding) loss;

Pgq i the exciter loss.
8.1.5 Method 2-1-3D — Summation of losses without a loadtest
8.1.5.1 General

As method 2-1-3C, this test method determines efficiency by the summation of sgparate
losses| But in this case, the armature circuit winding-osses and the excitation circuit|losses
are nof determined by a load test, but by calculation;

For an overview, Figure 32 provides a flowchart for efficiency determination by this test
methodg.
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| Indirect measurement |

Separate losses

l

8.1.5.2 Calculated load losses
Winding temperature

Armature circuit winding losses

Electrical brush losses

Excitation circuit losses

8.1.5.2

Apart
8.1.4.2

v

8.1.3.2.2 No-load test

i

Constant losses

Friction and windage losses

Iron losses

l

8.1.4.2 Additional load losses

l

DC component from assigned
allowance

l

AC component from a
load test

8.1.5.3.Total losses

IEC 1691/14

Figure 32 — Efficiency determination according to method 2-1-3D

Test procedure

from the determination of the excitation circuit losses, the same procedures
shall be-applied.

as in

Excita[ion circuit losses
WithouTa Toad test, Tthe excitation winding 10SSes P, shall be calculated from 1.2 X Ry, W

is the resistance of the shunt excitation winding (or separately excited winding), corrected to
the reference temperature specified in 5.7.3 and I is the excitation current according to the
following list.

nere Rg

a) For shunt connected or separately excited generators with or without commutating poles,
I, is 110 % of the excitation current corresponding to no-load at a voltage equal to the
rated voltage plus ohmic drop in the armature circuit (armature, brushes and commutating
windings if any) at the current of the specific load point.

b) For compensated shunt or separately excited generators, I, is the excitation current
corresponding to no-load at a voltage equal to the rated voltage plus ohmic drop in the
armature circuit at the current of the specific load point.

c) For level-compounded generators, I, is the excitation current for the rated no-load
voltage.
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d) For over-compounded and under-compounded generators, and special types of generator
not covered by items a) to c), I, is subject to agreement.

e) For shunt wound motors, I, is equal to no-load excitation current corresponding to the
rated voltage.

8.1.5.3 Efficiency determination

The efficiency is:

NOTE 1

NOTE 2
Total |

The to

8.1.6
8.1.6.1

B+Re—P _ B

77:

+
PP p.p
1 185 I

is the input power excluding excitation power from a separate source;
is the output power;

5 the excitation power supplied by a separate source.
Usually, the first expression is preferred for a motor, the second for a genferator.

Py includes the excitation power P, (see 5.9) of the machine where @ppticable.
josses

al losses shall be taken as the sum of the separate losses consisting of

Pr=F+P+B~“R +F

=K +h,

5 the armature winding loss;

is the brush loss;

5 the constant losses;

is the additional losses;

5 the excitation circuit losses;

is the calculated excitation (field winding) loss;
is the-exciter loss.

Method 2-1-3E — Single supply back-to-back test

General

(117)

(118)

(119)

For an overview, Figure 33 provides a flowchart for efficiency determination by this test
method.
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Indirect measurement

l

Single-supply
back-to-back
test

l

l Efficiency |

IEC 1692/14

Figure 33 — Efficiency determination according to method 2-1-3E

8.1.6.2 Test procedure

Mechahically couple two identical machines together and connect them.both electrically to the
same power supply so as to operate at rated speed and rated voltage,-one as a motor gnd the
other gs a generator.

NOTE Alternatively, the losses can be supplied either by a calibrated driving motor, a booster, or otherwlise by a
combingtion of these various means.

Connegt the driven machine to the supply with a booster generator in series (see Figufe 34).
Operate both machines at approximately the currentiand the internal voltage correspongding to
the logdd point for which the efficiency is required.;-For motors, the supply shall delivef rated
voltage and the required load to the motor. For(generators, the voltage has to be adjugted by
the bofoster for rated voltage and the required load at the generator. The voltage |supply
mainly[covers the no-load losses, the booster covers the load losses.

I

IEC 1303/07

Figure 34 — Sketch for single supply back-to-back test

If no booster is available, the common terminal voltage should be adjusted so that the mean
value of the currents of both machines is the rated current.

For each test, record:

— Up, 14 of the power supply;
— Py, absorbed at the motor terminals;
— Up, I of the booster;

- n, 0.

For excitation systems, proceed according to 5.9.
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8.1.6.3

Efficiency determination

When identical machines are run at essentially rated conditions, the efficiency is calculated by
assigning half the total losses to each machine.

Calculate the efficiency from

(120)

is the power absorbed at the terminals of the machine acting as a motor K(ex

xcitation power);

is the total losses, defined as half the total absorbed;
is the excitation power supplied by a separate source;

1
R[:E(UMX]1+UBX]B)+RE ; PlE:_(PlE,M""PlE,G)

tluding

(121)
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Annex A
(normative)

Calculation of values for the Eh-star method

Determine the following complex voltages and currents from the test results:

In the
where
followi

where

Upv =Uyy
U\Z/w — U\ZNU — UfJV
o)

U;NU =

LL
= UV

wu = VU Uy

U
U'VW =-Uyy — UYWU
U "

"

VW _UWU
(Bov = Pw) t Uy Iy
Uyv

Iy =—

nbove formula, it is assumed that current Iy is in phase‘with voltage Uyyy. In th
the impedance of the resistor contains a noticeable reactive component, u
g formula

(Pov —Rw)+ R, ']\zv

o eh
N T e N
uv

Reh is the measured value of the resistive’component.

Iy =3T3
sy (-1 -1

\%

: , I
Iy =k 'IV+\/(k12 _I_g)(l\% ~1y)

v kI3 151
Iy =-1Y U -V

IV
Iy =—1,-1,
Iy =—1,-1I,

(A1)

e case
se the

(A.2)

Determine the inner line-to-line voltages from the complex line-to-line voltages and currents:

Separate into positive and negative sequence line-to-line components (g =¢

Ui =Uyv + R\2/w ‘(lv _ZU)
Uiw =Uyw +R%'(£w _lv)

R\2/w (ZU _lw)

Uwio=Uw +

/‘27r/3):

(A.3)
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2
Uiy = '(giUV +ta-Uyy+a

2
UitLe) = '(QiUV +a -Uyyta:

Uiwy )

Upw)

(A.4)

Determine the positive and negative sequence components of the inner phase voltage U;:

a

1 i
Uap=—=¢€ 6 Uity

LT

Qi(z) =

V3
1
—=-e°.U,
\/5 YiLLQR)
Determine the asymmetrical inner phase voltages:

Up=U+tUy
2
Uy=a Uy +a-Uyp

2
Uw=a U +a Uy

Determine the iron loss resistance:

2
Rfe _U_t
B
where
U; isfaccording to 6.2.5.2;
P isfaccording to 6.1.3.2.5.
Ler ==t
fe
U.
I — =iV
ZfeV Rfe
U.
I — —iW
ZfeW Rfe
Determine the inner phase currents:
Liy=1y—Iy
Liy=1y—Igy

Lw = iw - [few

Determine the positive and negative sequence components of the inner phase currents:

1

L(l) =

W= W]~

I i) =

'(iiu +a-Iy +22 'LW)

’(liU "'6_12 Ly +C_1'£iW)

(A.5)

(A.6)

(A.7)

(A.8)

(A.9)

(A.10)
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The absolute values of the positive sequence current 7,4, shall be less than 30 % of the
absolute value of the negative sequence current f;,y in order to achieve accurate results. If

this condition is not met, the test shall be repeated using a different value of R,.

Determine the air-gap power:
Py = 3'(U£(1) 'I;(I) +U;(1) 'I;;l))

' "

By =3 (U;(z) i) + U;(z) 'I,(z))

Deternfine the additional toad t0s535es:
R = k'{ﬂ—S)'(Psm) —PS(z)j—wa:l

where k= 1 5
1+(]i(1) /li(2))

(A.11)

(A.12)
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Annex B
(informative)

Types of excitation systems

The types of excitation systems considered for determination of the exciter losses are:

a)

shaft driven exciter

A d.c. or a.c. exciter machine is driven by the shaft of the main unit, directly or through a
gear. When the main unit is a synchronous machine the excitation power is supplied to the
excitation winding via slip-ring and brushes.

bry
An

rotating rectifiers, avoiding slip-rings and brushes. The exciter can be ra -Synch

ge

Ex(
pild
the

An

separate rotating exciter

A ¢
cur

Th
sud

eX(

The excitation power for an a.c. genérator is provided by an auxiliary (secondary) v

in 1
fiel

staIic excitation system (static exciter)

shless exciter
a.c. exciter coupled to a synchronous main unit supplies the field winding-dire

erator or an induction machine.

itation power of a synchronous exciter is derived either from andifectly coupls
t exciter with permanent magnet excitation, or from an auxiliary\(secondary) win
main unit stator slots (same as in €)), or from a static supplyt

induction exciter is connected to a variable a.c. voltage supply.

.C. or a.c. generator as part of a separate motor generator set supplies the ex
rent to the field winding of the main unit.

excitation power is supplied to the field ‘winding of the main unit by a static
h as batteries or a static power convertet<fed from a separate source.

itation from auxiliary winding (auxiliafy winding exciter)

he main unit stator slots, utilizing fundamental or harmonic flux, and supplied
H winding via rectifiers, slip=fings and brushes.

ctly via
ronous

pd a.c.
ding in

citation

source

inding
to the
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Annex C
(informative)

Induction machine slip measurement

Rotor losses in induction machines are directly proportional to slip, with slip defined as the
fractional departure of shaft speed from the synchronous speed corresponding to the supply
frequency and the number of motor poles.

Slip measurements should be ratio-metric, i.e. concurrently account for both motor shaft
speed and the frequency of the supply to the motor during the time interval over which those
measufements are made. An example is the stroboscopic method, which uses
frequepcy-derived pulsed illumination of an induction motor shaft, and counts the 'number of
slip reyolutions over a known time period.

The fqllowing method is based on that principle, and provides very high accuragy slip
measufements which can be automatically transferred to a data acquisition“system.

Figure|C.1 shows the principle of the measurement system, in which two pulse trains are
generdted: one derived directly from the shaft of an induction_machine under test,[and a
second directly related to the frequency of the power supply. The diagram shows two
sequential shaft encoders, each of which produce the sante number of output pulses per
revolufion, connected to the shafts of an induction{machine under test and a| small
synchrpnous motor connected to the same power supply, respectively.

The reference synchronous machine may be regarded as having zero slip.

The two pulse trains are fed to the inputs "ef a two-channel digital counter which has the
facility[to calculate and display the ratio of thie two input frequencies.

If a motor-alternator set is used as)the power supply for induction machine testing and
measufements, then the second (reference) shaft encoder may be connected directly|to the
alterngtor shaft. A further possibility is that the reference frequency be generated
electronically, using a phase-locked loop system.

If the ratio produced byithe dual-channel counter, as above, is multiplied by the njominal
synchrpnous speed of-the reference (synchronous) motor in Figure C.1 (e.g. 1 500 mint! for a
4 polel synchronous_motor with a nominal supply frequency of 50 Hz), then the copunter,
configyred as above, displays the shaft speed of the induction machine under test cofrected
for supply frequency, regardless of the induction machine pole number.

Slip maythen be calculated directly from that indicated shaft speed.

If the two counters are started and stopped synchronously (i.e. at exactly the same times), the
actual counting time is not critical. Slip measurement should be made over the same
averaging time as the other measurements of motor voltage, current, electrical power and
torque.
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Key
IM
SM
SE1
SE2
/4

1

()——C—)1
() —C—»

(4 poles)

Dual
channel Ly —s Output
counter x 1 500

IEC 1693/14

hduction machine under test (any number of poles)

9mall synchronous motor (e.g. 4 poles) or main laboratory M-G set
Yequential shaft encoder, with e.g. 600 pulses per revolution (p.p.r.)
Yequential shaft encoder, with same no. of p.p.r. as SE1

Hrequency of pulse train from SE1

Hrequency of pulse train from SE2

Output rtio f,/f, x synchronous speed of SM

Figure C.1 — Slip measurement system block diagram
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Annex D
(informative)

Test report template for method 2-1-1B

Manufacturer logo
Date of test: | |Report number: | |Date of issue: |
Motor description
Rated output power kW Manufacturer
Rated voltage \Y Model Nr.
Rated current A Serial Nr.
Rated speed min- Duty type IEC 60034-1
Supply frequency Hz Design
Number of Phases - Insulation class IEC 60085
|IEC 60034-30-1 (rated) |E-Code Max. ambient temperature | C
Test resistance Test resistance Ry Q
Winding temperature '90 °C Winding temperature 04 °C
Ambient temperature 9, °C Ambient temperature 9, °C
6.1.3.2.3 Load curve test Test resistance before load test R Q
Rated output power 125 % 115 % 100 % 75 % 50 % 25%
Torque
Input power P1 W
Line current 1 A
Operating speed n min-
Teminal voltage U \%
Frequency f Hz
Winding temperature 9, °C
Testresistance after load test R Q
6.1.3.2.4 No-load test Test resistance before no-load R Q
Rated voltage 110 % 100 % 95 % 90 % 60 % 50 % 40 % 30 %
Input power Py
Line current I A
Terminal voltage | U, \Y
Frequency /o Hz
W. temperature 0, °C
Test resistance after no-load test R Q
6.1.3.3 Efficiency determination
Rated output powercofr. 125 % 115 % 100 % 75 % 50 % 25%
Output power’carrected szo W
Slip corre¢ted S0 p.u.
Input powerCorrected Py, W
Iron losses Py W
Frict:"and wind. losses corr. Pryo w
Additional-load losses Py W
Stator losses corrected Pyy W
Rotor losses corrected Py W
Power factor cos ¢ %
Efficiency n %
Tested by: Approved

by:
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AVANT-PROPOS

Commission Electrotechnique Internationale (IEC) est une organisation mondiale de_,norm
osée de l'ensemble des comités électrotechniques nationaux (Comités nationaux de I'lEC). L’IE
de favoriser la coopération internationale pour toutes les questions de normalisation’dans les d
électricité et de I'électronique. A cet effet, I'lEC - entre autres activités\—~ ‘publie des

tés d'études, aux travaux desquels tout Comité national intéressé par lessujet traité peut partici

des conditions fixées par accord entre les deux organisations.

ossible, un accord international sur les sujets étudiés, étant’donné que les Comités nationaux
Pssés sont représentés dans chaque comité d’études.

Publications de I'lEC se présentent sous la forme de_reCommandations internationales et sont
ure de I'exactitude du contenu technique de ses publications; I'lEC ne peut pas étre tenue respon
htuelle mauvaise utilisation ou interprétation qui emvest faite par un quelconque utilisateur final.

le but d'encourager I'uniformité internationalej\}es Comités nationaux de I'lEC s'engagent, dans

nales correspondantes doivent étre indiquées en termes clairs dans ces derniéres.

issent des services d'évaluation/de conformité et, dans certains secteurs, accédent aux mar
brmité de I'IEC. L’'IEC n'est responsable d'aucun des services effectués par les organismes de cer
bendants.

les utilisateurs doivent g'assurer qu'ils sont en possession de la derniere édition de cette publicati
Hataires, y compris 'ses experts particuliers et les membres de ses comités d'études et des
nage de quelqué“nature que ce soit, directe ou indirecte, ou pour supporter les colts (y compris

stice) et leS/dépenses découlant de la publication ou de l'utilisation de cette Publication de I'lE
autre Publication de I'lEC, ou au crédit qui lui est accordé.

bntiop~est attirée sur les références normatives citées dans cette publication. L'utilisation de pub

réfé

ncées’est obligatoire pour une application correcte de la présente publication.

hlisation

a pour
bmaines
Normes

hationales, des Spécifications techniques, des Rapports techniques, des Spécifications accessjbles au
c (PAS) et des Guides (ci-apres dénommés "Publication(s) de I'l[EC"). Leur_élaboration est confige a des

ber. Les

hisations internationales, gouvernementales et non gouvernementales,.en-liaison avec I'lEC, pdrticipent
bment aux travaux. L’IEC collabore étroitement avec I'Organisation Internationale de Normalisatign (ISO),

Hécisions ou accords officiels de I'lEC concernant les questions techniques représentent, dans lal mesure

de I'lEC

agréées

ne telles par les Comités nationaux de I'l[EC. Tous les efforts raisonnables sont entrepris afin que I'lEC

bable de

toute la

ire possible, a appliquer de facon transparente les Publications de I'l[EC dans leurs publications ndtionales
gionales. Toutes divergences entre toutes Publications de I'lEC et toutes publications natiorlales ou

elle-méme ne fournit aucune attestation de conformité. Des organismes de certification indépgendants

jues de
ification

pn.

ne responsabilité pe\\doit étre imputée a I'lEC, a ses administrateurs, employés, auxiligires ou

Comités

naux de I'lEC, pour’ tout préjudice causé en cas de dommages corporels et matériels, ou de tdut autre

les frais
C ou de

ications

ent faire

I’objet de droits de brevet. L’IEC ne saurait étre tenue pour responsable de ne pas avoir identifié de tels droits
de brevets et de ne pas avoir signalé leur existence.

La Norme internationale IEC 60034-2-1 a été établie par le comité d'études 2 de I'lEC:
Machines tournantes.

Cette deuxiéme édition annule et remplace la premiére édition de I'|EC 60034-2-1, parue en
2007, ainsi que I'IEC 60034-2A, parue en 1974. Cette édition constitue une révision
technique.

Cette édition inclut les modifications techniques majeures suivantes par rapport a I'édition

précéd

ente:

a) Les méthodes d’essai sont désormais regroupées en méthodes préférentielles et en
méthodes d’essai sur le terrain ou d’essai individuel de série. Les mé

thodes
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préférentielles sont caractérisées par une faible incertitude. Pour des caractéristiques
assignées et un type spécifique de machine, une seule méthode préférentielle est
désormais définie.

b) Les exigences en matiére d'instrumentation ont été détaillées et affinées.

c) La description des essais requis pour une méthode spécifique est désormais donnée dans
la méme séquence que celle requise pour la réalisation des essais. Cela permettra
d'éviter toute mauvaise interprétation et d’améliorer la précision des procédures. En outre,
pour chaque méthode, un organigramme présente graphiquement la séquence des essais.

Le texte de cette norme est issu des documents suivants:

Blo n 4ol 4
DTS NappPoTrT ot Vvote

2/1742/FDIS 2/1748/RVD

Le rapport de vote indiqué dans le tableau ci-dessus donne toute information, sur le vot¢ ayant
aboutija I'approbation de cette norme.

Cette publication a été rédigée selon les Directives ISO/IEC, Partie 2¢

NOTE [n tableau des correspondances de toutes les publications du comité d*études 2 de I'lEC peut étre trouvé
sur le sife web de I'lEC, a la page d’accueil de ce comité.

Le conpité a décidé que le contenu de cette publication ne sera pas modifié avant la date de
stabilitt indiquée sur le site web de I'IEC sous "httg://webstore.iec.ch" dans les données
relativgs a la publication recherchée. A cette date, la publication sera
e recpnduite,

e supprimée,

e renpplacée par une édition révisée, ou

e amgndée.
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MACHINES ELECTRIQUES TOURNANTES -
Partie 2-1: Méthodes normalisées pour la détermination

des pertes et du rendement a partir d’essais (a I’exclusion
des machines pour véhicules de traction)

1 Domaine d’application

La prépente partie de I'l[EC 60034 a pour objet de définir les méthodes de détermina
rendement a partir d’essais et également de spécifier les méthodes permettant d¢ détq
des pertes spécifiques.

La prdsente norme s’applique aux machines a courant continu ainsi \gu’aux mach

ion du
rminer

ines a

courant alternatif, synchrones et a induction, de toutes dimensions, ‘qui entrent dans le

domaine d’application de I'lEC 60034-1.

NOTE [es méthodes peuvent s’appliquer a d’autres types de machines/ telles que les commutatri
moteurs|a collecteurs a courant alternatif et les moteurs a induction monophasés.

2 Références normatives

Les ddcuments suivants sont cités en référence desmaniére normative, en intégralité
partie,| dans le présent document et sont indispensables pour son application. Pqg
référerjces datées, seule I'édition citée s’applique. Pour les références non datd

ces, les

ou en
ur les
es, la

derniere édition du document de référence s’appliqgue (y compris les évegntuels

amendements).
IEC 60027-1, Symboles littéraux a utiliser en électrotechnique — Partie 1. Généralités

IEC 60P34-1:2010, Machines électriques tournantes — Partie 1. Caractéristiques assigr
caracteristiques de fonctionnement

IEC 60034-4:2008, Machines électriques tournantes - Partie 4: Méthodes p
déterniination, a partir-d'essais, des grandeurs des machines synchrones

IEC 60034-19,( Machines électriques tournantes — Partie 19: Méthodes spécifiques

ées et

bur la

'essai

équivalente et par superposition — Essais indirects pour déterminer I’échauffement

charge

IEC 60051(toutes les parties), Appareils mesureurs électriques indicateurs analogiques a

action directe et leurs accessoires

IEC 60051-1, Appareils mesureurs électriques indicateurs analogiques a action directe et
leurs accessoires — Partie 1: Définitions et prescriptions générales communes a toutes les

parties

3 Termes et définitions

Pour les besoins du présent document, les termes et définitions donnés dans I'|EC 60034-1 et

I'IEC 60051-1 ainsi que les suivants s’appliquent.
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3.1

rendement

rapport de la puissance de sortie a la puissance d’entrée, exprimé dans les mémes unités, et
généralement exprimé en pourcentage

3.2

détermination directe du rendement

méthode dans laquelle la détermination du rendement est effectuée en mesurant directement
la puissance d’entrée et la puissance de sortie

3.3
dynamomeétre
dispositif utilisé pour mesurer un couple appliqué sur la partie tournante de la maghine en
essai. [l est équipé d'un moyen de mesure et d’indication du couple et de la vitesse; gt n'est
pas limité a une construction de type dynamofrein. Un transducteur de couple‘en’ligre peut
étre utjlisé pour fournir une mesure directe du couple au niveau de l'arbre de“a machine en
essai

3.4
essai aqu dynamometre
essai dans lequel la puissance de sortie mécanique fournie par, Gne machine fonctionnant en
moteuf est déterminée par un dynamométre. Egalement essai dans lequel la pui$sance
d’entrde mécanique fournie par une machine fonctionnant en.génératrice est déterminée par
un dyngmomeéetre

3.5
essai ¢n opposition a double alimentation
essai dans lequel deux machines identiques soni couplées mécaniquement, les pertes fotales
des dgux machines étant calculées par la différence entre les puissances électriqug¢s que
I'une apsorbe et que I'autre fournit

3.6
détermination indirecte du rendement
meéthodle dans laquelle la détermination du rendement est effectuée en mesurant la puissance
d’entrde ou la puissance de(sortie et en déterminant les pertes totales. Ces pertes sont
ajoutées a la puissance de sortie, donnant ainsi la puissance d’entrée, ou soustraites de la
puissahce d’entrée, donnant ainsi la puissance de sortie.

3.7
essai én opposition a simple alimentation
essai flans lequel deux machines identiques sont couplées mécaniquement, et connfectées
toutes [deux alnméme réseau. Les pertes totales des deux machines sont considérées ¢gomme
la puispanée)d’entrée fournie par ce réseau.

3.8

essai a vide

essai dans lequel une machine fonctionne en moteur sans fournir de puissance mécanique
utile sur 'arbre, ou dans lequel une machine fonctionne en génératrice avec ses bornes en
circuit ouvert

3.9

essai au facteur de puissance nul (machines synchrones)

essai a vide effectué sur une machine synchrone surexcitée et fonctionnant a un facteur de
puissance treés voisin de zéro

3.10
méthode du circuit équivalent (machines a induction)
essai dans lequel les pertes sont déterminées a I'aide d’un modéle de circuit équivalent
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3.1

essai avec rotor retiré et essai de rotation inverse (machines a induction)

essai combiné dans lequel les pertes supplémentaires en charge sont déterminées a partir
d’un essai avec rotor retiré et d’'un essai avec le rotor opérant dans le sens inverse du champ
magnétique tournant du stator

3.12
essai de court-circuit (machines synchrones)
essai dans lequel une machine fonctionne en génératrice avec ses bornes en court-circuit

3.13
essai arotor bloqué

essai dans lequel le rotor est bloqué pour empécher toute rotation

3.14
essai Eh-star
essai dans lequel le moteur fonctionne en connexion en étoile sur une tension’de déséduilibre

3.15 Pertes

3.15.1
pertes|totales
Pr
différence entre la puissance d’entrée et la puissance de sortie, équivalente a la somme des
pertes| constantes (voir 3.15.2), des pertes en_ charge (voir 3.15.4), des |[pertes
supplémentaires en charge (voir 3.15.5) et des pertes{(dans le circuit d’excitation (voir 3[15.3)

3.15.2
pertes| constantes
pertes|incorporant la somme des pertes par ventilation, des pertes par frottement et des
pertes|dans le fer. Bien que ces pertes varient en fonction de la tension et de la chargge, elles
sont trpditionnellement appelées pertes\’constantes” et le terme est retenu dans la prgsente
norme

3.15.211
pertes| constantes
PC
somme des pertes dans Te‘fer et des pertes par frottement et par ventilation

3.15.2)2
pertes|dans le-fer
Pfe
pertes|dans le fer dans les parties actives et pertes supplémentaires a vide dans les|autres
parties| métalliques

3.15.2.3 Pertes par frottement et par ventilation Py,,

3.15.2.3.1

pertes par frottement

pertes dues au frottement (paliers et balais, si non relevées a des conditions assignées), a
I’exclusion des pertes dans un systéme de graissage séparé

3.15.2.3.2

pertes par ventilation

pertes totales dues au frottement aérodynamique dans toutes les parties de la machine, y
compris la puissance absorbée par les ventilateurs montés sur I'arbre et dans les machines
auxiliaires faisant partie intégrante de la machine

Note 1 a [l'article: 1l convient que les pertes dans un systéme de ventilation séparé soient mentionnées
séparément.


https://iecnorm.com/api/?name=37b528dfdca35f54f3a193b78961045a

- 96 - IEC 60034-2-1:2014 © IEC 2014

Note 2 a I'article:  Pour les machines refroidies indirectement ou directement a I’hydrogene, voir I'lEC 60034-1.

3.15.3 Pertes dans le circuit d’excitation

3.15.3.1

pertes dans le circuit d’excitation

Pe

somme des pertes dans l'enroulement d’excitation (voir 3.15.3.2), des pertes dans
I’excitatrice (voir 3.15.3.3) et, pour les machines synchrones, des pertes électriques
éventuelles dans les balais (voir 3.15.3.5)

3.15.3.2

pertes dans I’enroulement d’excitation
Py
les pertes dans I’enroulement d’excitation (de champ) sont égales au produit-du dourant
d’excitption I, par la tension d’excitation Uy,

3.15.33
pertes| dans I’excitatrice
Pggq
les peftes dans I'excitatrice pour les différents systémes d’excitation (voir Annexe B) sont
définies comme suit:

a) Exgitatrice entrainée par l'arbre

Leg pertes dans I'excitatrice sont la puissance absatbée par I'excitatrice sur son arbre
(délduction faite des pertes par frottement et par)ventilation), a laquelle s’ajqute la
puissance P,g fournie par une source séparée _au niveau de ses bornes d’enroulement
d’ekcitation, moins la puissance utile fournie par'I’excitatrice a ses bornes. La puigsance
utile aux bornes de I'excitatrice est égale aux pertes dans I’enroulement d’excitation| selon
3.1b.3.2, auxquelles s’ajoutent (dans le~cas d’une machine synchrone) les |pertes
éleftriques dans les balais, selon 3.15.3:5.

Note 1 a l'article: Si I'excitatrice peut étre désaccouplée et soumise & essai séparément, ses pertes |peuvent
étre| déterminées conformément & 7.1.3.2.1:

Lorgque I'excitatrice utilise des alimentations auxiliaires séparées, leurs consommations sont a inclyre dans
les pertes dans I’excitatrice, a moins_gu’elles ne soient prises en compte avec la consommation des ayxiliaires
de Ih machine principale.

b) Exgitatrice sans balai

Leg pertes dans I'exgitatrice sont la puissance absorbée par I'excitatrice sur son|arbre,
réduction faite des-pertes par frottement et par ventilation (lorsque I’essai corresppndant
est|réalisé sur I'ensemble machine principale-excitatrice), a laquelle s’ajoute la puigsance
éleptrique P4 provenant d’une source éventuelle séparée absorbée par son enroujement
de champ ouson enroulement du stator (dans le cas d’'une excitatrice a induction),| moins
la |puissance utile fournie par I'excitatrice aux bornes du convertisseur tourngnt de
puissance.
Notg 2. @l'article: Lorsque I'excitatrice utilise des alimentations auxiliaires séparées, leurs consommatipns sont

a inclure dans les pertes dans I'excitatrice, a moins qu’elles ne soient considerees avec la consommation des
auxiliaires de la machine principale.

Si I'excitatrice peut étre désaccouplée et soumise a essai séparément, ses pertes peuvent étre déterminées
conformément a 7.1.3.2.1.

c) Excitatrice tournante séparée

Les pertes dans I’excitatrice sont la différence entre la puissance absorbée par le moteur
d’entrainement, a laquelle s’ajoute la puissance absorbée par les alimentations auxiliaires
séparées, des machines d’entrainement et entrainées, y compris la puissance fournie par
une source séparée a leurs bornes d’enroulement d’excitation, et la puissance d’excitation
fournie selon 3.15.3.2 et 3.15.3.4. Les pertes dans I'excitatrice peuvent étre déterminées
conformément a 7.1.3.2.1.

d) Systéme d’excitation statique (excitatrice statique)


https://iecnorm.com/api/?name=37b528dfdca35f54f3a193b78961045a

IEC

60034-2-1:2014 © |IEC 2014 - 97 -

Les pertes dans le systéme d’excitation sont la différence entre la puissance électrique
fournie par sa source de puissance, a laquelle s’ajoute la puissance absorbée par les
alimentations auxiliaires séparées, et I'excitation fournie selon 3.15.3.2 et 3.15.3.4.

Note 3 a l'article: Dans le cas de systemes alimentés par des transformateurs, les pertes dans le
transformateur doivent étre incluses dans les pertes dans I'excitatrice.

Excitation provenant d’'un enroulement auxiliaire (excitatrice a partir d’'un enroulement
auxiliaire)

Les pertes dans I'excitatrice sont les pertes dans le cuivre dans I'enroulement auxiliaire
(secondaire) et les pertes supplémentaires dans le fer produites par 'augmentation des
harmoniques de flux. Les pertes supplémentaires dans le fer sont la différence entre les
pertes qui se produisent lorsque I'enroulement auxiliaire est chargé et lorsqu’il est
dégtarge:

Not¢ 4 a I'article: Dans la mesure ou la séparation de la composante des pertes d’excitation est difficile, il est
recmmandé de considérer ces pertes comme partie intégrante des pertes dans le stator) lors de la
détgrmination de I'’ensemble des pertes.

Dans |es cas c) et d), on ne tient pas compte des pertes (éventuelles) de la [source
d’excitption ou dans les connexions entre la source et les balais (machiné synchrohe) ou

entre |a source et les bornes de I'enroulement d’excitation (machine a courant continu).

Si |
les

appartenant aux catégories énumérées en Annexe B si applicables.

3.15.3/4

pui
Pie

la puispance d’excitation P4 fournie par une sourgerde puissance séparée est:

Les types d’excitatrices doivent étre conformes a 3.15.3.3.

3.15.35
pertes|dans)les balais (circuit d’excitation)

Py,

‘exgitation est fournie par un systéme ayant des composants tels que décrits de Q) a e),
pefrtes dans I'excitatrice doivent inclure les pertes correspondantes des compposants

ssgdnce d’excitation fournie séparément

podr les types d’excitatrices a) et b);(Na puissance d’excitation dans [I’excjtatrice
(exgitatrice a courant continu ou synchrane), ou la puissance d’entrée de I'enroulemnient du
stafor (excitatrice a induction). Elle couvre une partie des pertes dans I'excitatrice Pgq (et
d’aptres pertes dans les excitatrices*a induction), tandis qu’une plus grande partig de P,
est|fournie par 'arbre;

pour les types d’excitatrices-¢)yet d), elle est égale aux pertes dans le circuit d’excjtation,
Pig = Pe;

poyr le type d’'excitatrice '€), P4g = 0, la puissance d’excitation étant fournie entiéfement
parl I'arbre. P,g = /©O\egalement pour les machines avec une excitation magnétique
permanente.

pertes eleciriques dans les balais (y cCompris 1es peries de contiact) de machines synchrones

a excitation séparée

3.15.4 pertes en charge

3.15.4.1
pertes en charge

P

somme des pertes dans I'enroulement (/2R) (voir 3.15.4.2) et des pertes électriques
éventuelles dans les balais (voir 3.15.4.3)

3.15.4.2
pertes dans I’enroulement

les

pertes dans I’enroulement sont les pertes /2R:

dans le circuit d’induit des machines a courant continu;
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— dans les enroulements du stator et du rotor des machines a induction;
— dans les enroulements d’induit des machines synchrones

3.15.4.3
pertes dans les balais Py, (circuits de charge)
Py,

pertes électriques dans les balais (y compris les pertes de contact) dans le circuit d’induit des
machines a courant continu et dans les machines a induction a rotor bobiné

3.15.5

pertes supplémentaires en charge (pertes parasites en charge)
yn
pertes|produites par le courant de charge dans le fer actif et les autres parties-meétdlliques
autres| que les conducteurs, pertes par courants de Foucault dans les()condycteurs
d’enrolilements, dues aux pulsations de flux dépendant des courants de charge, et|pertes
supplémentaires dans les balais, dues a la commutation

Note 1 4 I'article: Ces pertes ne comprennent pas les pertes supplémentaires a vide de\37.15.2.2.

3.15.6
pertes| en court-circuit
Py
pertes|dépendant du courant dans une machine synchroné)et dans une machine a gourant
continy, lorsque I'enroulement d’induit est court-circuité

3.16 pgrandeurs d’essai (machines a courant alternatif polyphasé)

3.16.1
tensioh aux bornes
pour lgs machines a courant alternatif polyphasé, moyenne arithmétique des tensions dg ligne

3.16.2

couraIt de ligne

pour l¢s machines a courant alternatif polyphasé, moyenne arithmétique des courants de
ligne

3.16.3

résistance entre lignes

pour I}s machines«a~Courant alternatif polyphasé, moyenne arithmétique des résistances
mesurg¢es entre chaque paire de bornes

Note 1 3 l'article=> Pour les machines triphasées connectées en Y, la résistance de phase représente 0,p fois la
résistante entre lignes. Pour les machines connectées en A, la résistance de phase représente 1,94 fois la
résistange‘entre lignes.

Note 2 a l'article: Les Articles 6 et 7 donnent des explications et des formules pour les machines triphasées, sauf
spécification contraire.

3.16.4

échauffement

température de la machine moins la température de I'agent de refroidissement (fluide de
refroidissement) telle que définie par I'lEC 60034-1
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4 Symboles et abréviations

4.1 Symboles

cos ¢ est le facteur de puissance'

f est la fréquence d’alimentation, Hz

1 est le courant moyen de ligne, A

kg est le facteur de correction de température

n est la vitesse de fonctionnement, s~

P est le nombre de paires de pdles

P est la puissance, W

Pq est la puissance d’entrée a vide, W

P4 est la puissance d’entrée, a I'exclusion de I'excitation2, W
Py est la puissance de sortie, W

Py est la perte dans les balais, W

Pe sont les pertes dans le circuit d’excitation, W

P4g |est la puissance d’excitation fournie par une source séparée, W
Pggq |sont les pertes dans I'excitatrice, W

Pg| est la puissance électrique, a I'exclusion de I'excitation, W

Ps sont les pertes dans I’enroulement d’excitation/{de champ), W
Psg sont les pertes dans le fer, W

Pswy sont les pertes par frottement et par ventilation, W

Pg sont les pertes constantes, W

PL sont les pertes en charge, W

PLr |sontles pertes résiduelles, W

P |sontles pertes supplémentaires en charge, W

Pmechl est la puissance mécanigue, W

Py sont les pertes en court-circuit, W

PT sont les pertes_totales, W

Py sont les pertes dans I'’enroulement, W, ou l'indice w est généralement remplacé par a,
f, e, s oum(Voir 4.2)

R est uneuresistance d’enroulement, Q

Rep |estllavaleur réelle de la résistance auxiliaire pour I'essai Eh-star (voir 6.4.5.5), Q2
R’eh est la valeur +ypn de la résistance auxiliaire-Q

Rf est la résistance d’enroulement de champ, Q

Ry est la résistance moyenne entre lignes, Q

Rph  estlarésistance moyenne de phase, Q

s est le glissement, en valeur par unité de vitesse synchrone
T est le couple de la machine, N-m
Ty est la valeur lue du dispositif de mesure de couple, N-m

1 Cette définition suppose une tension et un courant sinusoidaux.

2 sauf spécification contraire, les essais de la présente norme sont décrits pour le fonctionnement en mode
moteur, ot P, et P, sont la puissance d’'entrée électrique et la puissance de sortie mécanique, respectivement.
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Te est la correction du couple, N-m

U est la tension moyenne aux bornes, V
Ug est la tension aux bornes a vide, V
UN est la tension assignée aux bornes, V

X est la réactance, Q

Z=R+ jxX estlindication pour une grandeur complexe (exemple: impédance)
Z=|Z|=NR*+X? est la valeur absolue d’'une grandeur complexe (exemple: impédance)
Z est 'impédance, Q

n est le rendement

0o est la température initiale des enroulements, °C

04 est la température ambiante, °C

0¢ est la température d’entrée du fluide de refroidissement primaire, °C

Ow est la température des enroulements, °C

T est une constante de temps, s

4.2 ndices supplémentaires

Les inflices suivants peuvent étre ajoutés aux symboles afin de clarifier la fonction
machine et de différencier les valeurs.

Compgsants de la machine:

a induit (armature)

e excitation

f enroulement de champ (field winding)
r rotor

s stator

w enroulement (winding)

U Vv, w désignationsde phases

Catégqgries de machines:

B sdrvolteur (booster)
D dynamometre

E excitatrice

G geneératrice

M moteur

Conditions de fonctionnement:

0 a vide

1 entrée

2 sortie

av moyen, moyenne (average)
d dissipé

el électrique

i interne

k court circuit (short circuit)

de la
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mech

red
t
zpf
0

NOTE

5 EXigences fondamentales

5.1

Les es

a) mesure de la puissance absorbée et de la puissance utile_d*une seule maching

im

malchine, et de la puissance mécanique ou électrique proyvéendant d’'une machine;

b) m

comnectées mécaniquement en opposition. Ceci a~pour but d’éliminer la mesureg

pui

c) dé!Ermination des pertes réelles dans une machine dans des conditions déterminée

s'a
de
Les m
nombr

entre |
chiffre

5.2

L’incertitude utilisée danstla présente norme est I'incertitude de détermination d’un rend

réel. E

Bien q

nécesgite des €ssais suffisants pour déterminer des valeurs représentatives et comparg

5.3

charge d’essai (test load)

rotor bloqué (locked rotor)

mécanique (mechanical)

assigné

sous tension réduite

essai (test)

essai au facteur de puissance nul (zero power factor test)

corrigé pour une température du fluide de refroidissement de référence.

2 " ol 12 P PRESE e ' } L : "
AUllTS TTTUTLE S SUPPITITITTITIAITT S SUTTUTTTITUUUTIS UdlTs TS Parayiaplics LUTTTOPUTTUATitS.

Détermination directe et indirecte du rendement

5ais peuvent étre regroupés dans les trois catégories suivantes:

ligue la mesure directe de la puissance électrique ousmécanique entrant da

. Ceci
S une

ure de la puissance électrique d’entrée et de sortie sur deux machines identiques

ssance mécanique absorbée ou fournie par la machine;

it généralement pas des pertes totales,.mais cela comprend certaines compo
pertes.

bthodes de détermination du rendément des machines sont fondées sur un

p d’hypothéses. Par conséquent,.il*n'est pas recommandé d’effectuer une compa
s valeurs de rendement obtenues par différentes méthodes, dans la mesure
b peuvent ne pas nécessairement s’accorder.

ncertitude

le refléte les variations dans la procédure d’essai et I’équipement d’essai.

L’il convient d’exprimer l'incertitude comme une valeur numérique, une telle ex

Méthodes préférentielles et méthodes pour essais d’acceptation spécifiques

de la

5. Il ne
santes

certain
raison
ou les

ement

igence
tives.

au

client, essais sur le terrain ou essais individuels de série

Il est difficile d’établir des regles spécifiques pour la détermination du rendement. Le choix de
I’essai a réaliser dépend des informations requises, de la précision requise, du type et de la
de la machine impliguée et de [I'équipement d’essai disponible en opération
(alimentation, charge ou machine d’entrainement).

taille

Dans ce qui suit, les méthodes d’essai adaptées aux machines asynchrones et synchrones
sont séparées des méthodes préférentielles et des méthodes pour essais d’acceptation
spécifiques au client, essais sur le terrain ou essais individuels de série.
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5.4 Alimentation électrique
5.4.1 Tension

La tension d'alimentation doit étre conforme a 7.2 (et 8.3.1 pour les essais thermiques) de
I''EC 60034-1:2010.

5.4.2 Fréquence

Au cours des essais, la fréquence moyenne d’alimentation doit étre égale a + 0,1 % de la
fréquence requise pour I'essai en cours de réalisation.

5.5 nstrumentation
5.5.1 Généralités

Les copditions d’environnement doivent se situer dans la gamme recommandée fournig par le
fabricant d’équipement. Le cas échéant, des corrections de température selon la spécification
du fabricant d’équipement doivent étre faites.

Les apjpareils de mesure numériques doivent étre utilisés dans toutela mesure du possjble.

Pour Igs appareils de mesure analogiques, la précision est généralement exprimée comme un
pourcentage de la pleine échelle, la gamme des appareils de mesure choisis doit étre [a plus
faible possible.

La pleine échelle des appareils, notamment des, capteurs de courant, doit étre adaptée a la
puissahce de la machine en essai.

Pour Ig¢s appareils de mesure analogiques,:il convient que les valeurs lues se situent dans le
tiers syipérieur de I'étendue de mesure dediinstrument.

I’essai des machines électriques en charge, des fluctuations lentes de la puissance
ie et d’autres grandeurs mesurées peuvent étre inévitables. Par conséqueni, pour

point de charge, dexnombreux échantillons (en général plusieurs centaines
d’échaptillons) doivent étre prélevés automatiquement par un compteur numérique approprié
pendamt une période de plusieurs cycles de fluctuations, mais de 15 s au maximum gt cette
moyenpe doit étre utilisée pour la détermination du rendement.

5.5.2 Appareils.de mesure pour les grandeurs électriques

Les appareils.de mesure doivent avoir I'équivalent d’'une classe de précision de 0,2 dans le
cas d’yin essai direct et de 0,5 dans le cas d’un essai indirect, conformément a I'lEC p0051.
L’appareil,de mesure doit avoir une incertitude globale de 0,2 % de lecture au facteur de
puissa it | u des
transducteurs, s’ils sont utilisés.

NOTE Pour un essai individuel de série tel que celui décrit en 9.1 de I'lEC 60034-1, une classe de précision de
0,5 est suffisante.

Dans le cas des machines a courant alternatif, sauf spécification contraire dans la présente
norme, la moyenne arithmétique des courants et tensions de ligne doit étre utilisée.

5.5.3 Mesure du couple

Les appareils utilisés pour mesurer le couple doivent avoir une classe minimale de 0,2. Le
couple minimal mesuré doit étre égal a au moins 10 % du couple nominal du couplemétre. Si
un appareil de classe supérieure est utilisé, la gamme des valeurs de couple autorisée peut
étre élargie en conséquence.
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NOTE Par exemple, une classe de 0,1 signifie 5 % du couple nominal du couplemétre.

Motor _|:|_ Load MOtOr o dyELeng:'ﬁzlter
T l T,
Inline torque meter Cradle base construction
Légende
Anglais Francais
Motor Moteur
Lpad Charge
Electrical dynamometer Dynamomeétre électrique
Infline torque meter Couplemeétre en ligne
Cradle base construction Construction de type dynambofrein

Lorsque le couple de I'arbre est mesuré au moyen d’un dynamomeétre avec une const

de typ
pertes
un aut

moteul.

Le coulple de la machine T est calculé a I'aide de la formule:

Ou
Ty est
T, est

Il est 3

supérigure a la température ambiante et est reconnue comme contribuant de
ative a lincertitude globale. Dans ce cas, la contribution de la température a

signifig
I'incert

correclion de_température appropriée doit étre appliquée.

e dynamofrein, un essai de correction du couple doit ‘étre effectué pour compen
par frottement dans les paliers de la machine d€ charge. Ceci s’applique égaler
e palier quelconque est interposé entre le dispositif de mesure du couple et I'af

T=T+T

la valeur lue du couplesde‘l'essai en charge;
la correction du couple, du fait des pertes par frottement.

noter que la température du capteur de couple, c'est-a-dire prés du rotor, pe

tude doit\étre limitée a 0,15 % de la pleine échelle. Si cela n'est pas possib

ruction
ser les
hent si
bre du

ut étre
fagon

e, une

Il con

ient” de réduire au minimum les charges parasites par l'alignement de [Iar

bre et

I'utilisation de couplages flexibles.

5.5.4

Mesure de la vitesse et de la fréquence

Les appareils utilisés pour mesurer la fréquence d’alimentation doivent avoir une précision de
+ 0,1 % de la pleine échelle. Il convient que la mesure de la vitesse soit précise a 0,1 tour par

minute

NOTE 1

La vitesse en min~' est n en s~ x 60.

NOTE 2 Pour les machines asynchrones, la mesure du glissement par une méthode adaptée peut remplacer la
mesure de la vitesse (voir Annexe C).

5.5.5

Mesure de la température

Les appareils utilisés pour mesurer les températures doivent avoir une précision de £ 1 K.
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Unités

Sauf spécification contraire, les unités des valeurs sont les unités S| répertoriées dans

'EC 6

5.7

5.71

0027-1.

Résistance

Résistance d’essai

La résistance d’enroulement R est la valeur ohmique, déterminée par des méthodes
appropriées.

Pour |
parco
enroul

Pour |

rus par le courant d’induit (induit, enroulements de commutation, de compen
ment composé).

es machines a courant continu et les machines synchrones, R; est“la rés

d’enroyilement de champ.

Pour |
lignes
le cas
rotor.

La rés

qu'ave
utilisar

La te

5.7.2

de machines a induction a rotor bobiné, R || est la résistapce-moyenne entre lig

pérature mesurée des enroulements doit &tre déterminée conformément a 5.7.2.

Température des enroulements

La température mesurée des enroulements doit étre déterminée par I'une des mé

suivan

es (présentées par ordre de préférence):

a) temppérature déterminée a-partir de la résistance d’essai en charge assignée Ry

prg

NOT
étre|
mét

cédure d’extrapolation décrite en 5.7.1;
[E Les moteurs quissont soumis a des essais de vérification a des fins de réglementation ne doi

hode de résistance.

c) te
cor

b) te:[pérature mesurée directement soit par ETD, soit par thermocouple;

pérature déterminée conformément a a) sur une seconde machine de
stfuction et de méme conception électrique;

ments
sation,

stance

ps machines a courant alternatif polyphasé, R = R|| est la résjstance moyenng entre
de I'enroulement du stator ou de I’enroulement d’induit, conformément a 3.16.3[ Dans

nes du

stance mesurée a la fin de I'essai thermique doit étre"déterminée de la méme maniére
C la procédure d’extrapolation telle que décrite en’8.6.2.3.3 de I'lEC 60034-1, mais en
t la durée la plus courte possible au lieu de 'intervalle de temps spécifié au Taljleau 5
de ce:]e norme et en extrapolant a zéro.

thodes

par la

ent pas

démontés. Dans ce'cas, la mesure de la température des enroulements doit étre réalisée en chanlgeant la

méme

d) lorsque la capacité en charge n’est pas disponible, déterminer la température de

fon

ctionnement conformément a I'lEC 60034-29;

e) lorsque la résistance d’'essai en charge assignée Ry ne peut pas étre mesurée
directement, la température des enroulements doit étre supposée égale a la température

de

référence de la classe thermique assignée donnée au Tableau 1.

Tableau 1 — Température de référence

Classe thermique du systéme Température de référence
d’isolation °C
130 (B) 95
155 (F) 115
180 (H) 135
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Si I'échauffement assigné ou la température assignée est spécifié(e) a une valeur
correspondant a une classe thermique inférieure a la classe du systéme utilisé dans la
construction, alors la température de référence doit étre celle de la classe thermique la plus

basse.

5.7.3 Correction par rapport a la température du fluide de refroidissement de
référence

Lorsque cela est exigeé, les valeurs de résistance d’enroulement enregistrées au cours de
I’essai doivent étre rapportées a une température de référence normalisée de 25 °C. Le
facteur de correction pour ajuster la résistance d’enroulement (et le glissement en cas de
machines a induction a cage) par rapport a une température de référence normalisée du
fluide dle refroidissement de 25 °C doit étre determiné par

_235+6,+25-0,
235+46,

(]

ou
kg est|le facteur de correction de température pour les enroulements;

0. est[la température d’entrée du fluide de refroidissement au ¢ours de I'essai;
O\ estlla température des enroulements, conformément a 5 7.2.

La constante de température 235 est valable pour le_€uivre; il convient de la remplager par
225 pour les conducteurs en aluminium.

Pour les machines dont le fluide de refroidissement primaire ou secondaire est I'gau, la
tempérfature de référence de l'eau doit étre~de 25 °C, conformément au Tableay 4 de
I'IEC 60034-1:2010. D’autres valeurs peuvent étre spécifiées par accord.

5.8 [Etat de la machine en essai et.catégories d’essais

Les espais doivent étre effectuéscsur une machine assemblée avec les composants esslentiels
en plare, afin d’obtenir des/conditions d’essai similaires ou trés proches des conditions
normales de fonctionnement.

NOTE 1| Il est préférable gque la machine soit choisie de maniére aléatoire a partir d’'une production en sétie, sans
considélations particuliéres.

Les élgments étanches accessibles de I'extérieur peuvent étre retirés pour les essaig, si un
essai qupplémentaire sur des machines de conception similaire a montré que le frottemgnt est
insignifiant-aprés une durée de fonctionnement suffisamment longue.

NOTE 4 “Les moteurs munis de paliers et/ou d'éléments étanches internes qui sont réputés avoir moins de
frottement—apres une duree de foncuonnement SulfiSamment fongue peuvent etre mis en tonctionnement avant
I'essai.

Les sous-essais qui constituent une procédure d’essai doivent étre réalisés selon l'ordre
indiqué. Il n’est pas essentiel que les essais soient réalisés immédiatement I'un aprés 'autre.
Cependant, si les sous-essais sont réalisés avec retard, alors les conditions thermiques
spécifiées doivent étre rétablies avant d’obtenir les valeurs d’essai.

Pour les machines a balais réglables, les balais doivent étre placés dans la position
correspondant aux caractéristiques assignées spécifiées. Pour les moteurs a induction avec
un rotor bobiné équipé d’un dispositif de relevage des balais, les balais doivent étre relevés
au cours des essais, avec I'enroulement du rotor court-circuité. Pour les mesures a vide, les
balais doivent étre placés dans I’axe neutre sur les machines a courant continu.

Les pertes dans les paliers dépendent des températures de fonctionnement des paliers, du
type de lubrifiant et de la température du lubrifiant.
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S'il est requis d'indiquer les pertes dans un systéme de graissage séparé des paliers, il
convient de les mentionner séparément.

Dans le cas de moteurs équipés de paliers de butée, seule la portion de perte dans le palier
de butée produite par le moteur lui-méme doit étre incluse dans les pertes totales.

Les pertes par frottement dues a la charge sur la butée peuvent étre incluses par accord.

Si la machine soumise a essai utilise un refroidissement a flux direct des paliers, ces pertes
sont distribuées entre la machine soumise a essai et toute autre machine couplée a elle
mécaniquement, telle qu'une turbine, proportionnellement aux masses de leurs parties
tournantes. S’il n'y a pas de refroidissement a flux direct, la distribution des pertes dans les
paliers[doit €fre déterminée par accord, a partir de formules empiriques.

5.9 Mesures du circuit d’excitation

La détprmination de la tension U, et du courant I, (voir 3.15.3.2) dépend des configurations
du systeme d’excitation (voir 3.15.3.3). Lorsque cela est applicable, \les valeurs @’essai
doiven£ étre enregistrées conformément a ce qui suit:

a) pourr les machines entrainées par l'arbre, les excitatrices. tournantes séparégs, les
exgitatrices statiques et les excitatrices a enroulement auxiliairé (voir 3.15.3.3 a), c)), d) et
e))| la tension Ug et le courant /o sont mesurés:

— |aux bornes de I’enroulement d’excitation des machines a courant continu;
— |aux bagues d’enroulement de champ des machines synchrones;

b) podir les machines excitées par des excitatrices sans balai (voir 3.15.3.3. b)), les yaleurs
d’elssai doivent étre enregistrées par I'une descdeux méthodes suivantes:

— |tension Ug mesurée a l'aide de bagues auxiliaires (provisoires) connectégs aux
extrémités de I'enroulement de champ:. A partir de la tension et de la résistapce R,
Ue — Uf
Re Rf
d’enroulement de champ est“a mesurer aprés l'arrét de la machine en utilisant la
procédure d’extrapolation'décrite en 5.7.1;

déterminer le courant d'enrouléement de champ [/, = La résistance

— |tension Ug et courant 7g mesurés a l'aide de bagues de puissance, adaptées|a une
mesure directe du.courant d’enroulement de champ.

NOTE |a difféerence entrg Ug"et U; (chute de tension des balais) est quasiment négligeable en pratique.

Les tefsions et les'courants doivent étre mesurés a des températures stabilisées.

Les pertes-“dans le circuit d’excitation P, sont déterminées conformément a 7.1.3.2.1
(machires synchrones) ou 8.1.3.2.1 (machines a courant continu).

5.10 Température ambiante pendant les essais

Il convient que la température ambiante se situe dans la plage comprise entre 15 °C et 30 °C
pendant au moins la derniére heure de I'essai thermique a la charge assignée et de tous les
essais et mesures ultérieurs.
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6 Méthodes d’essai pour la détermination du rendement des machines a
induction

6.1 Méthodes d’essai préférentielles

6.1.1 Généralités

La présente norme définit trois différentes méthodes préférentielles avec une faible
incertitude dans la gamme d’application fournie au Tableau 2. La méthode spécifique a
utiliser dépend du type ou des caractéristiques assignées de la machine en essai:

— Méthode 2-1-1A: Mesure directe des puissances d’entrée et de sortie a l'aide d’un

dyfamometre. A appliquer pour toutes les machines monophaseées.

— Méthode 2-1-1B: Sommation des pertes séparées. Détermination des |pertes
sugplémentaires en charge par la méthode des pertes résiduelles. A appliquér pour|toutes
les|machines triphasées dont la puissance de sortie assignée est inférieure ou ggale a
2 MW.

— Méthode 2-1-1C: Sommation des pertes séparées. Détermination des |[pertes
sugplémentaires en charge par la méthode de la valeur assignéec~AJappliquer pour|toutes
les|machines triphasées dont la puissance de sortie assignée est’supérieure a 2 MW.

Tableau 2 — Machines a induction: méthodes d’essai préférentielles
Réf Méthode Description Article Application Dispo _|t|fs
requlis
2-1-1A Mesure Mesure du 6.1.2 Toutes les Dynamonmétre
directe: couple machines pour la plgine
Puissances monophasées. charge
entrée-sortie
2-1-1B Sommation des | P, déterminées™| 6.1.3 Machines Dynamométre
pertes: a partir des triphasées avec | pour 1,25|x la
Pertes pertes puissance de pleine charge
résiduelles résiduelles sortie assignée
jusqu’a 2 MW.
2-1-1C Sommation des | 2 \a partir 6.1.4 Machines
pertes: d’tne valeur triphasées avec
Valeur assignée puissance de
assignée sortie assignée
supérieure a 2
MW.

6.1.2 Méthode 2-1-1A — Mesure directe des puissances d’entrée et de sortie

6.1.2.1 Généralités

Il s’ag A othode d'essai-danslaguesle la puisss ce-mécahigue—P - dune-—mlachine

est déterminée par la mesure du couple sur I'arbre et de la vitesse. La puissance électrique

P, du stator est mesurée pendant le méme essai.

Les puissances d’entrée et de sortie sont:

pour le fonctionnement en mode moteur: Py = Pg; Py = P ocn (VOir Figure 1);

pour le fonctionnement en mode génératrice: Py = P och: Po = Py

(3)
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Pej, I ——

IEC 1301/07

Figure 1 — Schéma pour I’essai de mesure du couple

A titre|d’apercu, la Figure 2 présente un organigramme pour la détermination du rendement
par cefte méthode d’essai.

Direct measurement

l

Dynamometer
test
‘ Efficiency ‘

IEC~1673/14

Hégende
Anglais Frangais

Diirect measurement Mesure directe
Diynamometer test Essai au dynamometre
Effficiency Rendement

Figure 2 — Détermination du rendement selon la méthode 2-1-1A

6.1.2.2 Procédure d’essai

Couplgr soit le moteur en essai a une machine en charge soit la génératrice en essai a un
moteurl avec un dynamométre. Faire fonctionner la machine en essai a la charge requise
jusqu’d l'obtention™de I'équilibre thermique (taux de variation de 1 K ou moins parf demi-
heure)

Enregigtrer U, I, Py, n, T, 0.

6.1.2.3 Détermination du rendement

Le rendement est:
P,
n=— (4)
P,

La puissance d’entrée P, et la puissance de sortie P, sont les suivantes:
pour le fonctionnement en mode moteur: Py = Py; Py = Prgcns (5)

pour le fonctionnement en mode génératrice: P4 = P Py, =Py (6)

mech’
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P =2n x T x n. (7)

mech

6.1.3 Méthode 2-1-1B — Sommation des pertes, avec détermination des pertes
supplémentaires en charge selon la méthode des pertes résiduelles

6.1.3.1 Généralités

Il s’agit d'une méthode d’essai dans laquelle le rendement est calculé par la sommation des
pertes séparées. Les composantes de pertes respectives sont les suivantes:

— pertes dans le fer;

— pertes par ventilation et par frottement;

— pertes dans le cuivre du stator et du rotor;
— pertes supplémentaires en charge.

A titre|d’apergu, la Figure 3 présente un organigramme pour la détermination du rendement
par cefte méthode d’essai.

| Indirect measurement |

Separate losses

l

Winding resistances at amgient temperature

i

6.1.3:2/4/Rated load test
Winding resistances at rated load test

i

6.1.3.2.2 Loadlosses

Stator and rotor winding losses

l

6.1.3.2.3 Load curve test

with torgue measurement and
measurement of winding resistances

l

6.1.3.2.4 No-oad test
Winding resistances at no-load test

v

6.1.3.2.5 Constantlosses

Friction and windage losses

Iron losses

l

6.1.3.2.6 Additional load losses
from residual loss

6.1.3.3 Total losses

IEC 1674/14
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Légende
Anglais Frangais
Indirect measurement Mesure indirecte
Separate losses Pertes séparées
Winding resistances at ambient temperature Résistances d’enroulement a la température
ambiante
Rated load test Essai a la charge assignée
Winding resistances at rated load test Rés.ista}nces d’enroulement a I'essai a la charge
assignée
Load losses Pertes en charge
Stator and rotor winding losses Pertes dans I'enroulement du stator et du rotor
Lpad curve test Essai de la courbe de charge
ith torque measurement and measurement of | avec la mesure du couple et la mesure des
inding resistances résistances d’enroulement
No-load test Essai a vide
Winding resistances at no-load test Résistances d’enroulement a liessai a vide
Clonstant losses Pertes constantes
Ffiction and windage losses Pertes par frottement ef.par ventilation
Iron losses Pertes dans le fer
Additional load losses Pertes supplémentaires en charge
Ffom residual loss A partir des{pértes résiduelles
Tptal losses Pertes.totales
Efficiency Rendement

Figure 3 — Détermination du rendement selon la méthode 2-1-1B

6.1.3.2 Procédure d’essai
6.1.3.2.1 Essai a la charge assignhée

Avant | de démarrer cet essail> en charge, mesurer la température et la résistance
d’enrolilement du moteur, le.moteur étant a la température ambiante.

La maghine doit étre-mise sous charge par des moyens adaptés, avec une puissanpce de
sortie jassignée et .elle’ doit étre mise en fonctionnement jusqu’a I'obtention de I'équilibre
thermique (taux de->variation de 1 K ou moins par demi-heure). Enregistrer les graphdeurs
suivantes:

- P1!T!I! U1 nv‘f; eca 9!
— Ry \RAla résistance en essai pour la charge assignée, conformément a 5.7.1);

— 0 (la température des enroulements a la charge assignée, conformément a 5.7.2).
Immédiatement aprés I'essai en charge, il convient de vérifier la dérive du transducteur du
couple. En cas d’écart supérieur a la tolérance admissible du transducteur, I'ajuster et répéter
les mesures.

6.1.3.2.2 Pertes en charge

Pertes dans I’enroulement du stator et correction de température

Les pertes dans I'enroulement du stator non corrigées a la charge assignée sont:

P =15xI"xR (8)
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ou / et R sont déterminés en 6.1.3.2.1.

Déterminer les pertes dans I'enroulement du stator en utilisant la résistance d’enroulement du
stator Ry a partir de I'essai a la charge assignée, corrigée pour une température du fluide de
refroidissement de référence de 25 °C:

P, =P xk, (9)

S

ou kg est la correction selon 5.7.3 pour I'enroulement du stator.

Pertes dans I’enroulement du rotor et correction de température

Pour Igs pertes dans I’enroulement du rotor non corrigées, utiliser la formule:

Pr:(Pl—PS—Pfe )xs (10)
ou
Xn
s=1-2 (11)
f
Py, netf sontconformes al'essai alacharge assignée;
Pg est conforme a I'essai en charge tel que’décrit ci-dessus;
Py est conforme & 6.1.3.2.5.

Les pgrtes dans I’enroulement du rotorpcorrigées sont déterminées en utilisant la|valeur
corriggle des pertes dans I’enroulement-du stator:

Fy =(P1 _Ps,e_Pfe )XSe

Pse est confotme & 6.1.3.2.5 pour une température du fluide de refroidissemjent de
référence de 25 °C;

Sy = ke est le' glissement corrigé pour une température du fluide de refroidissemlent de
réféerence de 25 °C (voir 5.7.3);

kg est la correction selon 5.7.3.

Correction de température de la puissance d’entrée (pour un moteur)
Les pertes dans I'enroulement du stator et du rotor étant corrigées, la puissance d’entrée
corrigée est:

Po=R-(R-Fp+h—-Fp) (12)

6.1.3.2.3 Essai de la courbe de charge

Cet essai doit étre effectué immédiatement aprés I’essai a la charge assignée avec le moteur
a la température de fonctionnement.
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Si cela n’est pas possible, avant de commencer a enregistrer les données pour cet essai,
I'échauffement des enroulements doit étre de l'ordre de 5 K de I’échauffement initial 6y,
obtenu a partir d’'un essai de température a la charge assignée.

Appliquer la charge a la machine aux six points de charge suivants: environ 125 %, 115 %,
100 %, 75 %, 50 % et 25 % de la charge assignée. Ces essais doivent étre réalisés aussi
rapidement que possible afin de réduire les variations de température dans la machine
pendant les essais.

La variation de la fréquence d’alimentation entre tous les points doit étre inférieure a 0,1 %.

MesurerRavamttavateurtue decharge ta plus€tevéeetapres ta vateur tuedechargea plus
faible. [La résistance pour une charge de 100 % et des charges supérieures doit étre la|valeur
déterminée avant la valeur lue de charge la plus élevée. La résistance utilis€ée pgur les
charge€ls inférieures a 100 % doit alors étre déterminée comme variant de fagon linéairge avec
la chafge, en utilisant la valeur lue avant I’essai pour la charge la plus élevée et apres la
valeur [lue la plus faible pour une charge de 25 %.

NOTE |es résistances peuvent également étre déterminées en mesurant la tempéerature de I'enroulement du
stator a|l'aide d’un dispositif sensible a la température installé sur I’enroulemenies résistances pour| chaque
point de| charge peuvent alors étre déterminées a partir de la température de l/€nroulement au point consjdéré en
rapport avec la résistance et la température mesurées avant le début de I'essai

Enregigtrer pour chaque point de charge: U, I, Py, n, f/, T

Pertes dans I’enroulement du stator

Les pertes dans I'enroulement du stator a chacuntdes points de charge sont:

P =1,5xI° xR (13)

ou 7 et|R sont déterminés conformément a 6.1.3.2.2 pour chaque point de charge.

Pertes| dans I’enroulement du rotor

Pour Ig¢s pertes dans I'enreulement du rotor, pour chacun des points de charge, utiliser la
formulé:

P =(P -P—P, )xs (14)
ou
s=1-L22" (15)
S

Py, netf sontconformes al'essai en charge;
est conforme a I’essai de la courbe de charge tel que décrit ci-dessus;
Pse est conforme & 6.1.3.2.5.

6.1.3.2.4 Essai a vide

L’essai a vide doit étre effectué sur une machine chaude immédiatement aprés I'essai de la
courbe de charge.
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Réaliser I'essai aux huit valeurs de tension suivantes, y compris la tension assignée, de sorte
que:

— les valeurs d’environ 110 %, 100 %, 95 % et 90 % de la tension assignée soient utilisées
pour la détermination des pertes dans le fer;

— les valeurs d’environ 60 %, 50 %, 40 % et 30 % de la tension assignée soient utilisées
pour la détermination des pertes par ventilation et par frottement.

L’essai doit étre effectué aussi rapidement que possible avec les lectures prises dans l'ordre
décroissant de tension.

Enregistirer 4 chacune des valeurs de tension: Ug, /g, Py

Déterminer la résistance Ry immédiatement avant et apres I'essai a vide.

La réslistance d’enroulement interpolée de chaque point de tension doit~étre calcujée en
interpglant les résistances avant et aprés I'essai, de fagon linéaire ravéc la puigsance
électrique Pyg.

NOTE 1| Pour les machines a induction, R, est R, ;. Lorsque la mesure des résistances est irréalisable en raison
de résisfances trés faibles, les valeurs calculées sont admissibles.

NOTE 2| Pour les machines a courant alternatif, les résistances peuvent@galement étre déterminées en mesurant
la tempgérature de I'enroulement du stator a l'aide d'un dispositif sensible a la température instpllé sur
I’enroulgment. Les résistances pour chaque point de tension pguvent alors étre déterminées a partjir de la
tempérafure de I’enroulement au point considéré en rapport avecda résistance et la température mesurées|avant le
début dg I'essai.

Pour upe machine couplée, P, est déterminée apartir de T et x.

6.1.3.2.5 Pertes constantes

La soustraction des pertes dans I'enroutement a vide de la puissance d’entrée a vide,|donne
les peftes constantes qui sont la somme des pertes par frottement, des pertes par ventilation
et des|pertes dans le fer. Pour, chaque valeur de tension enregistrée, déterminer les|pertes
constantes.

Fo=R~F=hy+he (16)

ou

P =15xI{ xRy, (17)

avec R| o comme résistance d’enroulement interpolée a chaque point de tension.

Pertes par frottement et par ventilation

A partir des quatre points ou plus de pertes a vide consécutifs compris entre environ 60 % de
la tension et 30 % de la tension, tracer une courbe des pertes constantes (P.) en fonction de
la tension au carré (Uy?2).

Extrapoler une ligne droite jusqu’a la tension zéro. Déterminer I'intersection a la tension zéro,
qui est considérée comme correspondant aux pertes par frottement et par ventilation Py,q a
une vitesse approximativement synchrone.
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Pertes dans le fer

A partir des valeurs de tension comprises entre environ 90 % et 110 % de la tension
assignée, tracer une courbe de P, = F, — P, en fonction de la tension Uj,.

Pour déterminer les pertes dans le fer a pleine charge, la tension interne U; qui prend en
considération la chute de tension résistive dans I’enroulement primaire doit étre calculée.

2 2
U, = (U—Q-I-R-Cosq)} +(£-I-R-sing0) pour un moteur (18)

\ o) o)
N 7\ 7

V3 (B

U = U+7-I-R-Cosgo +7-1-R-s1n§0 pour une génératrice (19)

cosgz):L; sin@ = +J1-"eos® @ (20)

\/ngxI

U, P4, | et R proviennent de I'essai en charge selen’6.1.3.2.1.

Les pertes dans le fer a pleine charge doivent-étre interpolées a partir des pertes dans le fer
sur la ¢ourbe de tension Uy a la tension U;:

NOTE 1| Les pertes dans le fer a pleine charge peuvent étre calculées a I'aide du rapport (Ur/UN)2 appliqué aux
pertes dpns le fer a vide.

NOTE 2| En raison de la méconnaissance de I'inductance de fuite du stator, la tension ne prend en compfe que la
chute dp tension résistive. Du fait\du faible facteur de puissance a vide, la chute de tension résidtive est
négligegble pendant la mesure proprement dite et ne doit étre prise en considération que pour les valeyrs de la
charge.

6.1.3.2.6 Pertes supplémentaires en charge P

Perteg résiduelies P,

Les pertes résiduelles doivent étre déterminées pour chaque point de charge en sousfrayant
de la UISsance d entree la pulssance de sortie, les pertes dans I'enroulement du stalor non
igé€ et par
frottement et les pertes dans I'enroulement du rotor non corrigées correspondant a la valeur
déterminée du glissement.

B.=R-P-P-P-PF,-B,; (21)
P, =27 -T-n pour un moteur et B, =27 -T-n pour une génératrice. (22)
ou
pxn

wa =PfW0 -(1—S)2'5 avec s=1—

(23)
f
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sont les pertes par frottement et par ventilation corrigées.

Lissage des valeurs des pertes résiduelles

Les valeurs des pertes résiduelles doivent étre lissées en utilisant une analyse de régression
linéaire (voir Figure 4) basée sur I'expression des pertes en fonction du carré du couple en

charge conformément a la relation:

P =AxT*+B

A t B 4 ol 4 4 ot H a S ¥ 2l H H . Y <l 1™ Slloial <l £
e UTTUUT O LUTTOLATTIT O UTLITITTITIT T o a PYdAaltih UT o OIA PUITIo UL UTITdTytt a 1T diutt UtTo 1

suivanies:

i-Z(PLr-Tz)—ZPL, 'ZT2

A est la pente conformément a 4=

B est llintersection conformémenta B =

Z.P” . ZT2
1 1

i est lefnombre de points de charge additionnés.

e

Il conyient que l'intersection B soit considérablement plus petite (< 50 %) que les
supplémentaires en charge P| | au couple assighé. Sinon, la mesure peut étre erronge et il

convieht de la vérifier.

(24)

mules

(25)

(26)

pertes

NOTE |L’intersection B peut étre positive ou négative. La Figure 4 illustre un exemple d’intersection B poditive.

Pie b ® from measurements
P
PL=AT* +B
///
i
B P|_|_= ATZ
(slope = 4)
- _—
2
T
IEC 1310/07
Légende
Anglais Frangais
From measurements Depuis les mesures
Slope Pente

Figure 4 — Lissage des valeurs des pertes résiduelles

Le coefficient de corrélation est calculé par la formule
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o xxle ) En X (Er)
Vix (] () k=2 p - (2 ) )

Lorsque le coefficient de corrélation y est inférieur a 0,95, supprimer le point le plus
défavorable et répéter la régression. Si y augmente jusqu’'a > 0,95, utiliser la deuxiéme
régression; si y reste inférieur a 0,95, lI'essai n'est pas satisfaisant, et les erreurs
d’instrumentation ou de lectures d’essai, ou les deux, sont indiquées. Il convient d’analyser et
de corriger la source de I'erreur, et il convient de répéter I'’essai. Lorsque les valeurs d’essai
sont suffisantes, il est possible d’avoir un coefficient de corrélation de 0,98 ou plus.

(27)

Lorsqde la constante de pente 4 est établie, une valeur des pertes supplémentaifes en
chargel pour chaque point de charge doit étre déterminée a I'aide de la formule:

P, =AxT? (28)

6.1.3.3 Détermination du rendement
Pertes| totales

Les pefrtes totales doivent étre considérées comme la somme.des pertes dans le fer ajystées,
des pgrtes par frottement et par ventilation corrigées, des~pertes en charge et des|pertes
supplémentaires en charge:

Pr="Fe+ By +Fe*¥ho+ AL (29)
ou
Pav = Pawo - (1-50)%° (30)

sont leps pertes par frottement'ef par ventilation corrigées.

Rendement

Le renflement est déterminé a partir de

Pl,e_PT _ P2
Pl P+ P

n= (31)

NOTE Généralement, la premiére expression est davantage utilisée pour un moteur, la deuxieme pour une
génératrice.

ou

P, g est la puissance d'entrée de température corrigée a partir de l'essai a la charge
assignée;

P, estla puissance de sortie a partir de I'essai a la charge assignée.

6.1.4 Méthode 2-1-1C — Sommation des pertes, avec détermination des pertes
supplémentaires en charge a partir d’'une tolérance assignée

6.1.4.1 Généralités

A linstar de la méthode 2-1-1B, cette méthode d’essai détermine le rendement par la
sommation des pertes séparées. Du fait que les essais a pleine charge requis par la méthode
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2-1-1B sont en général irréalisables pour les caractéristiques assignées supérieures a 2 MW,
cette méthode est fondée sur un essai en charge a tension réduite et a une valeur assignée
pour les pertes supplémentaires en charge. Par conséquent, I'essai a pleine charge et I'essai
de courbe de charge ne sont pas requis pour la méthode 2-1-1C.

A part cela, la méthode 2-1-1C est semblable a la méthode 2-1-1B.

A titre d’apercgu, la Figure 5 présente un organigramme pour la détermination du rendement
par cette méthode d’essai.
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‘ Indirect measurement ‘

Separate losses

l

| Winding resistance at ambient temperature |

l

| 6.1.4.2.1 Load test at reduced voltage |
|

!

6.1.4.2.2 Loadlosses

Stator and rotor winding losses
including temperature correction

l

‘6.1.4.2.3 No-load test ‘

l

6.1.4.2.4 Constantlosses

Friction and windage losses

Iron losses

l

6.1.4.2.5 Additional load.Josses
from assigned value

l

| 6.1.4:3Total losses |

l

‘ Efficiency ‘
IEC 1675/14
Hégende
Anglais Frangais
Indirect measurement Mesure indirecte
Skeparate losses Pertes séparées
Winding_resistance at ambient temperature Résistance d’enroulement a la température
ambiante
Lpad(test at reduced voltage Essai en charge a tension réduite
Load losses Pertes en charge
Stator and rotor winding losses including Pertes dans I’enroulement du stator et du rotor y
temperature correction compris correction de température
No-load test Essai a vide
Constant losses Pertes constantes
Friction and windage losses Pertes par frottement et par ventilation
Iron losses Pertes dans le fer
Additional load losses Pertes supplémentaires en charge
From assigned value A partir d’'une valeur assignée
Total losses Pertes totales
Efficiency Rendement

Figure 5 — Détermination du rendement selon la méthode 2-1-1C
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6.1.4.2 Procédure d’essai
6.1.4.2.1 Essai en charge a tension réduite

L’essai en charge a tension réduite constitue une méthode appropriée pour les grandes
machines qui ne peuvent pas étre soumises a essai a pleine charge. Les essais suivants sont
requis: un essai en charge, avec la machine fonctionnant en moteur a la tension réduite U,y
a la vitesse assignée, un essai a vide a la méme tension réduite U,o4 et un essai a vide a la
tension et a la fréquence assignées.

A l'aide de cette méthode, on estime qu’a la tension réduite, tout en maintenant la vitesse
constante, les courants diminuent comme la tension et la puissance diminue comme le carré
de la ténsion.

Faire fpnctionner la machine en utilisant la charge maximale disponible avec uneréduction de
la tengion pour obtenir la vitesse assignée. La faire fonctionner pour atteindre I'équilibre
thermique.

Enregiptrer a la tension réduite: U,gq, Ireqs Pired: Lored> COS(Pgred)-
Enregigtrer a la tension assignée et a vide: Uy, 1, cos(9g).

A partif du résultat d’un tel essai, calculer le courant en charge et la puissance absorbge a la
tension assignée:

Ynil, (32)

red

I=1

—red

; . U, .
Aly == (|£0| sin @, — ‘lo,red U_N SUTNY (33)

red

2

B=Ph_,x% ((]]—N (34)

1,red
red

NOTE | es symboles du courant soulignés indiquent des vecteurs (voir Figure 6).

A l'aidg“dés valeurs I et P, ainsi déterminées, et avec le glissement mesuré a la flension
réduite, il est possible de calculer les pertes en charge, de la méme facon que dans un essai
en charge a tension assignée.
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6.1.4.2

La déts

6.1.4.2.

L’essa

chargel.

L’'essa

6.1.4.2

La dét¢rmination des pertes constantes est similaire a celle de 6.1.3.2.5.

6.1.4.2.

La va
déterm
Figure

4 0O,red —

Im

* IEC 1308/07

Figure 6 — Schéma vectoriel pour obtenir le vecteur
courant a partir de I’essai a la tension réduite

.2 Pertes en charge
brmination des pertes en charge est similaire a celle de'6.1.3.2.2.
3 Essai a vide
a vide doit étre effectué sur une machinerchaude immédiatement aprés I'es
a vide est similaire a celui de 6.1.3;24.
4 Pertes constantes

5 Pertes supplémentaires en charge P

eur des pertes,supplémentaires en charge P | a la charge assignée do

7.

sai en

it étre

inée commegtun pourcentage de la puissance d’entrée P, a l'aide de la courbg de la
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3
Additional
load losses,
in % of
input power
[PA} 100
Py
2
1
0
0,1 1 10 100 1000 10 000 100 000
Rated output P2 (kW)
IEC 1311/07
Hégende
Anglais Frangais
Aldditional load losses in % of jinput Pertes supplémentaires en charge en % de la puissance
ppwer d'entrée
Rlated output Puissance de sortie assignée
Figure 7 — Tolérance assignée pour
les pertes supplémentaires en charge P,
Les valeurs de\la courbe peuvent étre décrites a 'aide des formules suivantes:
pour Pp <AKW P, =P x0,025

pour 1 kW < P, <10 000 kW R, =P, {0,025—0,005 Iog1o[11k3\2N H

pour P, > 10 000 kW P, =P x0,005

Pour des charges autres qu’assignées, on doit supposer que les pertes supplémentaires en
charge varient comme le carré du courant primaire moins le carré du courant a vide.

NOTE La courbe ne représente pas une moyenne, mais une enveloppe supérieure d’'un grand nombre de valeurs
mesurées, et elle peut, dans la plupart des cas, produire des pertes supplémentaires en charge plus élevées que

6.1.3.
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Les pertes totales doivent étre considérées comme la somme des pertes constantes, des
pertes en charge et des pertes supplémentaires en charge:

Rendement

Pr=P +P PR, (35)
Le rengementestdetermine a partir ae
P -P P,
n=-—»__—T_-_"2 (36)
B P+P

NOTE [Généralement, la premiére expression est davantage utilisée pour un meteur, la deuxieme pour une

génératifice.

6.2 Méthodes d’essai pour les essais sur le terrain ou les’essais individuels de [série

6.2.1 Généralités

Ces mgthodes d’essai peuvent étre utilisées pour n'importe quel essai, c'est-a-dire les|essais
sur le {errain, les essais d’acceptation spécifiques au ¢lient ou les essais individuels de|série.

De pluk, les méthodes préférentielles du Tableau 2 peuvent également étre utilisées Hors de
la gamme de puissances identifiée dans le Tableau 2.

Le Tahleau 3 présente les méthodes définies par la présente norme.

Tableau 3 — Machines a induction: autres méthodes

Réf

Méthode

Description

Article

Dispositifs fequis

puissances et
glissement a partir
de la méthode du
circuit équivalent,
P, apartir d'une
valeur assignée

2-1-1D Opposition a double | Essai en opposition 6.2.2 Ensemble de|deux
alimentation a double machines
alimentation identiques popr la
pleine charge
2-1-1E Opposition a simple | Essai en opposition 6.2.3 Deux machings
alimentation a simple identiques (rqtor
alimentation bobiné)
2-1-1F Rotation inverse P, a partir de 6.2.4 Moteur auxiligire
I’essai avec rotor avec puissan¢e
refiré et de Tessai assignée jusqu’a
de rotation inverse 5 x pertes totales
2-1-1G Eh-star P, a partir de 6.2.5 L’enroulement doit
I’essai Eh-star étre raccordé en
connexion en étoile
2-1-1H Circuit équivalent Courants, 6.2.6 Si I’équipement

d’essai pour les
autres essais n’est
pas disponible
(aucune possibilité
d’appliquer une
charge assignée,
pas de seconde
machine)
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6.2.2 Méthode 2-1-1D — Essai en opposition a double alimentation
6.2.2.1 Généralités

A titre d’apergu, la Figure 8 présente un organigramme pour la détermination du rendement
par cette méthode d’essai.

Direct measurement

l

DUal-supply
back-to-back
test
l
‘ Efficiency ‘
IEC 1676/14
Hégende
Anglais Frangais
Dlirect measurement Mesure directe
Djual-supply back-to-back test Essai en opposition a double alimentation
Efficiency Rendement

Figure 8 — Détermination du rendeément selon la méthode 2-1-1D

6.2.2.2 Procédure d’essai

Couplgr mécaniquement deux machines identiques ensemble (voir Figure 9).

Les egsais sont réalisés avec ;échange des alimentations, mais avec les appareils|et les
transfgrmateurs de mesure restant sur la méme machine.

P1,1Iu —— P2, 1

Jm, Um S C) Jfe: Us

IEC 1302/07

Figure 9 — Schéma pour I’essai en opposition a double alimentation

Connecter les bornes de la machine entrainée (génératrice a induction) a une machine ou a
un convertisseur, fournissant la puissance réactive et absorbant la puissance active.
Alimenter une machine (le moteur pour les caractéristiques assignées du moteur, la
génératrice pour les caractéristiques assignées de la génératrice) avec une tension et une
fréquence assignées; la deuxiéme machine doit étre alimentée avec une fréquence inférieure
a celle de la premiére machine pour le fonctionnement en mode génératrice ou supérieure
pour le fonctionnement en mode moteur. La tension de la deuxieme machine doit étre telle
que le rapport de la tension assignée sur la fréquence assignée soit correct.

Inverser les connexions du moteur et de la génératrice et répéter I'essai.
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Enregistrer pour chaque essai:

Um> Iw» P1, fms Sm pour le moteur;

- Ug, Ig, Py, fg, sg pour la génératrice;

- 0

c:

6.2.2.3

Lorsqu

Détermination du rendement

e des machines identiques sont mises en fonctionnement dans des conditions
assignées essentiellement identiques, le rendement doit étre calculé a partir de la moitié des
pertes totales et de la puissance d’entrée moyenne du moteur et de la génératrice, comme

suit:
P,
1-—" (37)
TR,
2
ou
1
Pr =5(P1 -B) (38)
6.2.3 Méthode 2-1-1E — Essai en opposition a.simple alimentation
6.2.3.1 Généralités
A titre |d’apercu, la Figure 10 présente un organigramme pour la détermination du rendement
par cefte méthode d’essai.
Indirect measurement
Single-supply
back-to-back
test for wound
rotor induction
machines
Légende
Anglais Francgais
Indirect measurement Mesure indirecte
Single-supply back-to-back test for wound rotor Essai en opposition a simple alimentation pour
induction machines machines a induction a rotor bobiné
Efficiency Rendement

Figure 10 — Détermination du rendement selon la méthode 2-1-1E
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6.2.3.2 Procédure d’essai

Cet essai s’applique aux machines a induction a rotor bobiné. Coupler mécaniquement deux
machines identiques ensemble, et les connecter toutes les deux électriquement a la méme
alimentation électrique, de fagon qu’elles fonctionnent a la vitesse assignée et a la tension
assignée, I'une comme moteur et 'autre comme génératrice.

L'enroulement du rotor du moteur doit étre court-circuité et I'enroulement du rotor de la
génératrice doit étre connecté a une alimentation polyphasée appropriée pour fournir le
courant du rotor assigné a la fréquence de glissement. La puissance souhaitée du moteur
sera obtenue en ajustant la fréquence et le courant de I'alimentation électrique a la fréquence
la plus basse.

Enregistrer pour chaque essai:

- U4) P4, 14 de I'alimentation a fréquence industrielle;
- U
— Py |absorbée aux bornes du moteur;

I,, P, de I'alimentation basse fréquence;

— Pglfournie aux bornes de la génératrice;
- 0.

6.2.3.3 Détermination du rendement

Lorsque des machines identiques sont mises en {onctionnement dans des conlditions
essentjellement assignées, le rendement est calculé en attribuant la moitié des pertes totales
a chaque machine.

Calculér le rendement a partir de

n=1--T (39)

P\, gst la puissance absorbée aux bornes de la machine fonctionnant en moteur;
Py dqont les pertes 'totales, définies comme la moitié du total absorbé, pour les machines a

1
induction & retor bobiné comme suit: P, :E(PI —I—R)
6.2.4 Méthode 2-1-1F — Sommation des pertes, avec détermination des pertes

supplémentaires en charge par I’essai avec le rotor retiré et I’essai de rotation
inverse

6.2.4.1 Généralités

A linstar de la méthode 2-1-1B, cette méthode d’essai détermine le rendement par la
sommation des pertes séparées. Mais dans ce cas, les pertes supplémentaires en charge
sont déterminées par une combinaison de deux essais individuels: 'essai avec le rotor retiré
et I'essai de rotation inverse. A part cela, la méthode 2-1-1F est semblable & la méthode 2-1-
1B.

A titre d’apergu, la Figure 11 présente un organigramme pour la détermination du rendement
par cette méthode d’essai.
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‘ Indirect measurement |

l

Separate losses

i

Winding resistance at ambient temperature

l

6.1.3.2.1 Ratedload test

VVinding resistance al rated load test

l

6.1.3.2.2 Loadlosses

Stator and rotor winding losses

l

6.1.3.2.4 No-oad test
Winding resistances at no-load test

i

6.1.3.2.5 Constantlosses
Friction and windage losses

Iron losses

l

6.2.4.2 Additional load losses
from test with rotof removed and
reverse rotation test

l

| 6.2.4.3 Total losses |

l

Efficiency |

Uégende

IEC 1678/14

Anglais

Frangais

rndirect meastrement
Skeparate lasses
Winding resistance at ambient temperature

Rlated’load test

Mesure indirecte
Pertes séparées

Résistance d’enroulement a la température
ambiante

Essai a la charge assignée

Winding resistance at rated load test

Load losses

Stator and rotor winding losses
No-load test

Winding resistances at no-load test
Constant losses

Friction and windage losses

Iron losses

Additional load losses

From test with rotor removed and reverse
rotation test

Total losses
Efficiency

Résistance d’enroulement a I'essai a la charge
assignée

Pertes en charge

Pertes dans I’enroulement du stator et du rotor
Essai a vide

Résistances d’enroulement a I'essai a vide
Pertes constantes

Pertes par frottement et par ventilation

Pertes dans le fer

Pertes supplémentaires en charge

A partir d’un essai avec rotor retiré et d’'un essai de
rotation inverse

Pertes totales

Rendement

Figure 11 — Détermination du rendement selon la méthode 2-1-1F

IEC 60034-2-1:2014 © IEC 2014
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6.2.4.2 Procédure d’essai

A part la détermination des pertes supplémentaires en charge, on doit appliquer les mémes
procédures que celles de 6.1.3.2, sauf qu’il n’est pas nécessaire de mesurer ni d’enregistrer
le couple.

Les essais dont la combinaison est requise pour la détermination des pertes supplémentaires
en charge sont les suivants:
a) essai avec le rotor retiré (pour les pertes supplémentaires a la fréquence fondamentale);

b) essai avec la machine tournant a la vitesse synchrone a I'opposé du champ magnétique,
entrainée par des movens externes (pour les pertes aux fréqguences les plus hautes).

Au coyrs des deux essais, le stator doit étre alimenté par un courant polyphasé symeéfrigue de
fréquepce assignée pour quatre courants entre 25 % et 100 % du courant assigné et deux
courams au-dessus et ne représentant pas plus de 150 % du courant assigné. Calduler le
courant de charge (du rotor) 7 :

I, =\I"-1I; (40)

ou

1 gst la valeur du courant du stator pendant I'esSai donnant un courant de pharge
ouhaité;

0

Ip  gstle courant a vide a la tension assignée.

NOTE En raison de I’'absence de refroidissement, le courant est généralement limité a 125 % ou 115 % pour les
machings a deux pdles afin de réduire le risque de surchauffe.

Essai pvec le rotor retiré

Pour det essai, toutes les parties dans lesquelles les courants de Foucault pourraiept étre
induits] par exemple les flasques et _|€s parties des paliers, doivent étre en place. Applifjuer le
courant de charge.

Enregistrer pour chaque_courant de charge (symboles avec l'indice "rm"): Py ., 1| b, Rem,
6

w,rm-
Essai fle rotationsinverse

Pour det essai,/coupler la machine complétement assemblée a un moteur d’entrainement
ayant §ine capacité de sortie au moins égale aux pertes totales assignées et inférieure|a cinq
fois leg pertes assignées de la machine a soumettre a essai. Lorsqu’'un dynamomefre est
utilisé : inati i i i it pas
dépasser dix fois le couple correspondant aux pertes totales assignées de la machine a
soumettre a essai. Pour les machines a rotor bobiné, les bornes du rotor doivent étre court-
circuitées.

Faire fonctionner la machine en essai a la vitesse synchrone dans le sens inverse de la
rotation lorsqu’elle est alimentée en séquence de phase normale:

a) sans tension appliqguée au stator jusqu’a stabilisation des pertes par frottement.
Enregistrer: P . fournie par la machine d’entrainement a 7 = 0;

b) avec tension appliquée au stator pour obtenir les valeurs du courant du stator égales a
celles pour l'essai avec le rotor retiré. Enregistrer pour tous les courants d’essai
(symboles avec l'indice "rr"): 1| , Ry, Py ;6 pOUr le moteur en essai; Pp  du moteur
d’entrainement.

res
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NOTE Le facteur de puissance faible des essais peut nécessiter une correction d’erreur de phase pour toutes les
valeurs lues du wattmétre.

6.2.4.3 Détermination du rendement
Pertes supplémentaires en charge
Lisser les valeurs d’essai des puissances du stator £ and £ et de la puissance sur I'arbre

(PD,H—PO,H) en appliquant une analyse de régression au logarithme des puissances et des
courants, entrainant les relations ci-dessous:

P l,rm: Arm XINI +BL,rm; Pl,rr = Arr XINZ +BL,rr; (PD,rr _P(),rr) = AD,rr XIN3 +BD,rr (41)
Les pulissances lissées seront alors les suivantes:
Pl,rm = Arm XINI; Pl,rr = Arr X[NZ; (PD,rr _P(),rr): ‘AD,erIN3 (42)

Si les |données sont précises, chaque courbe présentera ung/relation proche de la|loi en
puissanpce carrée entre la puissance et le courant.

Les pgrtes supplémentaires en charge sont: B, =PLLJm+PLL,‘,r ou, pour chaque gourant
d’essal:

Bim=Fm —(3><I2 X R, ) est la'perte a la fréquence fondamentale (43)

LL,rm s,rm
ou

RSJm egt la résistance de phase.dWwstator rapportée a la moyenne des températures 9Wm;

P

] 2 P ’ s
Lo _(PD,rr _})(),rr)_(])l,rr —PLL’rm —(3><I xRS’rr) ) sont les pertes aux fréquences plus élgvées
ou

Rmes la résistance de phase du stator rapportée a la moyenne des températures HW’IT

Les pearies supplémentaires en charge a un point de fonctionnement Qpérifié peuveht étre
déterminées a partir des étapes suivantes.

a) Calculer une valeur approximative pour le courant de charge assigné Iy correspondant a
la valeur assignée du courant de ligne du stator:

Iy =13 -1 (44)

ou
Iy estla valeur assignée du courant de ligne du stator;
Iy est la valeur du courant a vide du stator.

Pour la valeur du courant de charge I, calculer une valeur assignée des pertes parasites en
charge Py | comme suit:
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N3 N1 N2 2
RLL = Apre X INC +24m ¥ INL — Are X INC — BINL ><(Rsrm _O=5Rsrr)

b) Calculer la valeur du courant de charge 1| a chaque point de fonctionnement:

I =\I"-1

ou
I est le courant de ligne du stator au point de fonctionnement.
c) Calculer les pertes parasites en charge P au point de fonctionnement:

(45)

(46)

P

2
1
=P, x —LJ
L = e
(INL

Les pgrtes totales doivent étre considérées comme la somme des pertes constantg
pertes|en charge et des pertes supplémentaires en charge.

Pertes| totales

Pr=F+F+R+R

Rendement

Le renflement est déterminé a partir de

P P +P

ou
P, est|la puissance d’entrée gbtenue a partir d’'un essai a la charge assignée;
P, est|la puissance de sortie:

6.2.5 Méthode 2-1-1G — Sommation des pertes, avec détermination des pertes
supplémentaires en charge par la méthode Eh-star

6.2.5.1 Généralités

ar de*la méthode 2-1-1B, cette méthode d’essai détermine le rendement

(47)

s, des

(48)

(49)

par la
charge

A Tlins
sommation, des pertes séparées. Mais dans ce cas, les pertes supplémentaires en
sont determine Daf— —=h-3 2

méthode 2-1-1B.

e a la

A titre d’apergu, la Figure 12 présente un organigramme pour la détermination du rendement

par cette méthode d’essai.
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| Indirect measurement |

Separate losses

i

Winding resistance at ambient temperature

l

6.1.3.2.1 Rated load test

Winding resistance at rated load test

i

6.1.3.2.2 Loadlosses

Stator and rotor winding losses

l

6.1.3.2.4 No-load test
Winding resistances at no-load test

i

6.1.3.2.5 Constantlosses

Friction and windage losses

Iron losses

l

6.2.5.2 Additional load losses
from Eh-star test

l

| 6.2.5(3' Total losses |

l

| Efficiency |
IEC 1679/14
Hégende
Anglais Francgais
Indirect measurement Mesure indirecte
Separate losses Pertes séparées
Winding resistance at ambient temperature Résistance d’enroulement a la température
ambiante
Rlated(load test Essai a la charge assignée
Winding resistance at rated load test Résistance d’enroulement a I’essai a la charge
doolyricto
Load losses Pertes en charge
Stator and rotor winding losses Pertes dans I’enroulement du stator et du rotor
No-load test Essai a vide
Winding resistances at no-load test Résistances d’enroulement a I'essai a vide
Constant losses Pertes constantes
Friction and windage losses Pertes par frottement et par ventilation
Iron losses Pertes dans le fer
Additional load losses Pertes supplémentaires en charge
From Eh-star test A partir d’'un essai Eh-star
Total losses Pertes totales
Efficiency Rendement

Figure 12 — Détermination du rendement selon la méthode 2-1-1G


https://iecnorm.com/api/?name=37b528dfdca35f54f3a193b78961045a

IEC 60034-2-1:2014 © IEC 2014 -131 -

6.2.5.2 Procédure d’essai

A part la détermination des pertes supplémentaires en charge, on doit appliquer les mémes
procédures qu’en 6.1.3.2.

La procédure de détermination des pertes supplémentaires en charge nécessite de faire
fonctionner le moteur désaccouplé avec une alimentation en tension de déséquilibre. Le

circuit

d’essai est conforme a la Figure 13.

Les moteurs assignés pour et connectés selon une connexion en triangle doivent étre
reconnectés selon une connexion en étoile au cours de cet essai. Le point neutre ne doit pas

étre c

nnecté au neutre ou a la terre du réseau pour éviter les courants homopolaires

La troi
résista

pour lgs moteurs assignés pour une connexion en étoile:

L . . S\ 4
pour lgs moteurs assignés pour une connexion en triangle: R}, =

La rés
direct

plage

recommandé de commencer |'essai avec uneresistance réelle R, qui ne différe pas ¢

de 20

Le cou

sieme phase du moteur doit étre connectée a la ligne d’alimentation au moeyen
hce Ry, (voir Figure 13) ayant approximativement les valeurs types suivantes:

' UN
R, =—~-02
eh /—3 s
—V3'UN.02
IN ’

les vitesses types du moteur proches dge la vitesse assignée (voir ci-dessous)|

o de la valeur type Ry,

| 1L2L3
Iy U
Uuv
m@ V V g
®
Iy \Y
.
Uvw
O, -
™S Iy w
0—% L
29 ——
Pwyv
Ren W
IEC 1307/07

Figure 13 — Circuit d’essai Eh-star

rant d’essai /; est donné par:

2 2

pour les moteurs assignés pour une connexion en étoile: Iy =4Iy -1

d’'une

(50)

(51)

stance Ry, utilisée au cours de I'essai doit étre ajustée de telle sorte que le qourant
(1) reste en dessous de 30 % du courant inverse /) et que la vitesse reste dans la

Il est
e plus

(52)
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JING = 152
Iy =% (53)

pour les moteurs assignés pour une connexion en triangle:

La tension d’essai U; est donnée par:

pour les moteurs assignés pour une connexion en étoile:  U; =Up (54)

pour les moteurs assignés pour une connexion en triangle: U; =Uy \/5 (55)

Avant ['essai, les pertes a vide doivent étre stabilisées conformément a 6.1.3.2.4.

Mesurer et enregistrer la résistance entre les bornes V et W (Ry,y) avant et aprés |I'essai
complet.

Afin d’géviter un échauffement inégal et excessif des trois phases, I'essai doit étre effecfué sur
une machine froide et aussi vite que possible.

Les grps moteurs ne peuvent étre démarrés que sans la résistance Ry, (commuter S| sur la
positiop 1, voir Figure 13) a tension réduite (25 % — 40 % Uy)» Aprés 'accélération, cornnecter
Rep, enlcommutant sur la position 2.

Il convjent que les petits moteurs démarrent avec la résistance R, déja connectée. Djans ce
cas, l'ipterrupteur n’est pas nécessaire.

Varier [a tension d’alimentation pour six points'd’essai. Les points d’essai doivent étre thoisis
de fagon a ce qu’ils soient espacés de manié€re approximativement égale entre 150 % €t 75 %
du courant de phase assigné mesuré enphase V (I)). Au début de I'essai, commencegr avec
le counant le plus élevé et procéder par ordre décroissant vers le courant le plus faible.

La rés|stance entre lignes Ry pour un courant d’essai de 100 % et des courants infgrieurs
doit étlr]e la valeur déterminée’ aprés la valeur lue la plus faible (a la fin de I'esspi). La
résistance utilisée pour les_courants supérieurs a 100 % doit étre déterminée comme¢ étant
une fonction linéaire du~courant, en utilisant les valeurs lues avant et apres I’essai cgmplet.
La résistance d’essaiest’déterminée en utilisant 'extrapolation, conformément a 5.7.1.

Enregigtrer pour‘ehaque point d’essai: 1y, 1y, Iy, Uyy, Uyw: Uwus Puvs Pwys 7

Il est Joustentendu que, dans cet essai, aucun moyennage des résistances de phasep n’est
admisgibles

NOTE Les résistances peuvent également étre déterminées en mesurant la température de I'enroulement du
stator a l'aide d’un dispositif sensible a la température installé sur I’enroulement. Les résistances pour chaque
point de charge peuvent alors étre déterminées a partir de la température de I'enroulement au point considéré en
rapport avec la résistance et la température mesurées avant le début de I'essai.

Certains wattmétres intégrés communément utilisés mettent en symétrie les trois phases par
une connexion en étoile virtuelle interne. Cependant, dans cet essai, I'alimentation est
intentionnellement asymétrique. Il est par conséquent essentiel de s’assurer que ni la mise a
la terre du point neutre ni un point neutre virtuel n’est établi(e). Il convient d’appliquer
strictement le circuit d’essai fourni (voir Figure 13).

Afin d’obtenir des résultats précis, le glissement ne doit pas étre supérieur a deux fois le
glissement assigné pour tous les courants, en d'autres termes: n > ngy, — 2:(ngy, — ny). Si
cette condition ne peut pas étre satisfaite, I'essai doit étre répété avec une valeur augmentée
de Rgp. Si le moteur est toujours instable a des courants inférieurs a 100 % du courant de
phase assigné, il convient d’omettre ces points d’essai.
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6.2.5.3 Détermination du rendement
Pertes supplémentaires en charge

Calculer les valeurs pour chaque point d’essai en utilisant les équations en Annexe A.

Lissage des valeurs des pertes supplémentaires en charge

Les valeurs des pertes supplémentaires en charge doivent étre lissées en utilisant I'analyse
de régression linéaire (voir Figure 4).

Les pertes doivent étre exprimées en fonction du carré du courant inverse I,y par rapport au
courant d’essai /;:

[ 2
Les valeurs A et B doivent étre calculées selon la méme procédure que celle Hdécrite
en 6.1)3.2.6.

Lorsque la constante de pente 4 est établie, la valeur des pértes supplémentaires en pharge
pour Ig charge assignée doit étre déterminée a I'aide de l&formule P, = AxT>.

Pertes| totales

Les pgrtes totales doivent étre considérées.comme la somme des pertes constantgs, des
pertes|en charge et des pertes supplémentaires en charge:

Pr=F+F+h+R_ (57)

Rendement

Le renflement est déterminé a partir de

= (58)
P P +P

NOTE [Généralement, la premiére expression est davantage utilisée pour un moteur, la deuxieme ppur une
génératrlice.

ou
P, est la puissance d’entrée obtenue & partir d’'un essai a la charge assignée;
P, est la puissance de sortie.

6.2.6 Méthode 2-1-1H — Détermination du rendement par l'utilisation des paramétres
du circuit équivalent

6.2.6.1 Généralités

Cette méthode peut s’appliquer lorsqu’un essai en charge n’est pas possible. Elle est fondée
sur le circuit conventionnel par phase en modéle T d’une machine a induction, comprenant
une résistance équivalente pour les pertes dans le fer paralléle a la réactance de champ
principale (voir Figure 14). Les paramétres et les grandeurs c6té rotor sont rapportés du coté
stator; ceci est indiqué par la présence d'une apostrophe ‘ au niveau des symboles, par
exemple X' .
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Iy —» - I}
L L I
Rs Xos Xor Ry
u Xim Rie'——————

IEC 1305/07

Figure 14 — Machine a induction, modéle T avec
résistance équivalente des pertes dans le fer

cation de la methode aux machines a induction a cage necessite que les
Les suivantes soient disponibles:

—T1- rapport de la réactance de fuite du stator sur la réactance de fuite du.rotor.

, X, reactance de fuite du stator et réactance magnétisante.

ances réactives sont par machine compléte.

Pour le cuivre a, = 1/235 et pour I'aluminium a, = 1/225.

te méthode d’essai.

aleurs

coefficient de température des enroulements du rotor (conductivité rapportée a g °C).

Lorsqu’on utilise la méthode des circuits équivalents, toutes les ‘tensions, tous les courants et tdutes les
ces sont des valeurs par phase pour une machine triphasée en ¢onnexion en Y; les puissances aftives et

d’apercgu, la Figure 15 présente un organigramme pour la détermination du rendement
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| Indirect measurement |

Separate losses

l

|6.2.6.2 No-load test |

l

Tests at
reduced freguency
or
at rated frequency

l

6.2.6.3 Equivalent circuit

parameters
l
| Efficiency |
IEC 1680/14
Hégende
Anglais Frangais

Indirect measurement Mesuteyindirecte
Separate losses Pértes séparées
No-load test Essai a vide
Tests at reduced frequency or at rated Essais a fréquence réduite ou a fréquence
frequency assignée
Ejquivalent circuit parameters Paramétres du circuit équivalent
Effficiency Rendement

Figure 15 — Détermination du rendement selon la méthode 2-1-1H

6.2.6.2 Procédure-d’essai
Essai ph vide

Les pertes a vide doivent étre stabilisées a la fréquence et a la tension assignées.

Les pdrtes-a vide sont considérées comme stabilisées lorsque la puissance d’entrée|a vide
varie de~3~%ou oIS, forsqu et estmesuree a deux mtervattes de- 30T sucTesSifs:

Essais a fréquence réduite

Le rotor de la machine étant bloqué, fournir de la puissance a partir d’'un convertisseur
triphasé a fréquence ajustable capable de fournir jusqu’a 25 % de la fréquence assignée au
courant assigné. Une valeur moyenne d’impédance doit étre obtenue a partir de la position du
rotor par rapport au stator.

Au cours des essais, il convient que le convertisseur de fréquence, soit une machine ou un
convertisseur statique, fournisse un courant pratiquement sinusoidal au niveau de la sortie.

Il convient que les enroulements du rotor des machines a rotor bobiné soient court-circuités
pour I'essai.
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Fournir un courant assigné et réaliser des lectures pour au moins trois fréquences,
comprenant une valeur a moins de 25 % de la fréquence assignée et les autres entre 25 % et
50 % de la fréquence assignée. Pendant cet essai rapide, il convient que I’échauffement des
enroulements du stator ne dépasse pas 5 K.

Enregistrer pour au moins trois fréquences: U, I, f, Py, Rg, 6, 6,,.

Essais a la fréquence assignée
Les valeurs d’impédance peuvent également étre déterminées a partir des essais suivants:
a) Réactance a partir d’un essai a rotor bloqué au courant assigné, a la tension réduite et a

Iarlréquence assignée: enregistrer la tension, le courant, la puissance, la fréquencg et les
températures.

b) Répistance en fonctionnement du rotor:

1) [a partir d’'une fréquence assignée stabilisée, essai en charge réduite a la fension
assignée. Enregistrer la tension, la puissance, le courant, lepglissement |et les
températures pour le point de charge; ou

2) [a partir d’'un essai en circuit ouvert, suivant une fréquence assignée stabilisée,
fonctionnement a vide a la tension assignée. Enregistrer la tension en circuit oyvert et
la température des enroulements en fonction du temps.aprés la fin de I'essai a Yide du
moteur.

NOTE [et essai suppose un déplacement de courant relativement faible dans le rotor.
6.2.6.3 Détermination du rendement
Valeu]s provenant des mesures

La méthode est fondée sur le circuit en modéle T (voir Figure 14).

NOTE |Lorsqu'on suit la méthode du circuit équivalent, toutes les tensions, tous les courants et tolites les
impédarlces sont par phase pour une machine triphasée en connexion en Y; les puissances activef et les
puissang¢es réactives sont par machine compléte.

La protédure décrite dans lepresent paragraphe est fondée sur I'essai a fréquence rgduite.
En utilisant I'essai a la fréquence assignée, remarquer les écarts suivants:

a) les|réactances sont(calculées de la méme maniére que ci-apres;
b) la nésistance enifonctionnement du rotor est déterminée:

— |en utilisafit-lessai a la fréquence assignée décrit en b) par calcul inverse a I'dide du
circuit.équivalent de la Figure 14, en supposant une valeur pour R,. Ajuster la|valeur
de R¢\jusqu’a ce que la puissance calculée soit de I'ordre de 0,1 % de la puissance
meésufée ou jusqu’a ce que le courant calculé soit de I'ordre de 0,1 % du gourant
mesuré;

— en utilisant I'essai a la fréquence assignée décrit en b) en déterminant la constante de
temps a partir de la pente du tracé de la tension décroissante et la durée sur I’essai en
circuit ouvert. Déterminer R,’ a partir de la formule:

C(Xa X

b 2nfT, (59)
ou

X, est la réactance magnétisante;

X’ est la réactance de fuite du rotor;

f estlafréquence de ligne;

7o est la constante de temps en circuit ouvert.
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Corriger la valeur de R,’ par rapport a la température de fonctionnement a partir de la
température d’essai.

Déterminer les puissances réactives

— apartir de I'essai & vide a la tension assignée Uy = Uy et a la fréquence assignée

Py, =+/(3U,1,) - B (60)

— a partir de I’essai a rotor bloqué, a la fréquence réduite

2
Py, =\(3U1) - P (61)
ou
Uy, 1y ¢t Py, sont la tension de phase, le courant de phase et la puissance fournie & partir
de I'essai a vide a la tension assignée aux bornes;
U, I et|P, sont la tension de phase, le courant de phase et la(puissance fournie & partir
de I'essai d’impédance a rotor bloqué aux fréquences f de cet essai.

Paramrtres du circuit équivalent

Les parametres du circuit équivalent sont déterminés dans les étapes suivantes.
Réactlnces
Calculer les réactances X, a partir de I'essai a.vide et X_¢ |, a partir de I'essai a rotor blpqué a

25 % de la fréquence assignée:

; P, X_ X
L= - 32;2)( X ! 5 Xy = Q.lr X(X?S + X‘“J (62)
00720 % [ Fo 5 FFECIE LY IS

\ X

XoszﬁXoslr Xw:—m' (63)
5o X, /X,
Calculer en-utilisant les valeurs désignées comme valeurs de départ
XGS

X, X, and i (64)

or

Recalculer jusqu’'a ce que X, and X_, s’écartent de moins de 0,1 % des valeurs de I'étape
précédente.

Résistance des pertes dans le fer

Déterminer la résistance par phase équivalent aux pertes dans le fer a la tension assignée a
partir de
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Py a la tension assignée.

Résist

ance du rotor

(65)

sont les pertes dans le fer conformément a la procédure donnée en 6.1.3.2.5 a partir de

Déternyimertarésistancedurotornon—corrigéepourchagquepomnt-dessardimpédanceta rotor

bloquéj

ou
Ry est

NOTE
méthodg

La rés
est, po

Tracer

" \2 N2
, X X X
err — ilg_Rs x| 1420t _ or X os.Ir
, 31 Xm XGS Rfe

la résistance d’enroulement du stator par phase a la température correspondant

Si la température de I'enroulement du rotor différe trop de la- température de I'’enroulement du o
deviendra inexacte.

stance du rotor corrigée pour la température. de référence (voir 5.7.2 et le Tab
ur chaque fréquence d’essai d'impédance a.rotor bloqué, donnée par:

% :Rr.lr><1+ozr6?ref
14,0,

une courbe des valeurs de Rr,lr en fonction de la fréquence f|,. L’intersection av

0 donne la résistance du rotor par rapport au stator Rr'.

(66)

.

tator, la

eau 1)

(67)

ec /i =

Is — » |

|
— 1 mmm—— ]
RS XGS : RQ(S)

U |

: Xg(S)
|
T

IEC _1309/07

Figure 16 — Machines a induction, modéle réduit pour le calcul

Impédances dépendant de la charge

Pour chaque point de charge intermédiaire souhaité, calculer les valeurs de I'impédance
dépendant du glissement et de I'admittance (voir Figure 16):
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Calculer I'impédance résultante vue des bornes:

Les valeurs de performance sont déterminées dans les étapes suivantes. Déterminer:

a parti

mesur¢e par Lessai de rotation inverse (méthode F) ou par I'essai Eh-star (méthode G)

R »
[? = puissance d’entrefer transférée‘au rotor; P, =31’

R=R+R, X=X_+X, Z=VR+X’

le glissement estimé;

la résistance d’enroulement du stator par phase a la température\de référence §

hts et pertes

\ 1
N courant de phase du stator; 1. =1 —— courant de phase du rotor;

g T

7'2

> pertes dans le fer

S g " 'fe

’R ; P =3I’R pertes dans I'enroulement du stator et du rotor

S
2
(1 . .
1Ln| = | pertesssupplémentaires en charge,
,N

I d'une (valeur PLL,N a la charge assignée, soit par valeur assignée (méthode

Les p

4 taotol 4
ICo WULadiCo oUIITL.

PT :Ps+})fe+R+PLL+})fw

(68)

(69)

ref *

(70)

Etant donné que la puissance d’entrée et la puissance sur l'arbre sont Pl:3ISZR et

P,=F —P., le glissement doit étre corrigé, et les calculs du courant et des pertes doivent

étre répétés jusqu’a ce que P, pour le fonctionnement en mode moteur, ou P, pour le
fonctionnement en mode génératrice, soit assez proche de la valeur souhaitée.

Le rendement (fonctionnement en mode moteur) provient de:
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n=—
A

7 Méthodes d’essai pour la détermination du rendement des machines
synchrones

7.1 Méthodes d’essai préférentielles

711 Généralités

La pr faible

incertifjude dans la gamme d’application, Tableaux 4 et 5. La méthode a utiliser dépend de la

taille de carcasse ou des caractéristiques assignées de la machine en essai:

— Méthode 2-1-2A: Mesure directe des puissances d’entrée et de sortie“a l'aidp d’un
dyrfamomeétre. A appliquer pour toutes les machines ayant une  taile de carcasse
infg¢rieure ou égale a 180 mm et pour les machines de toute caractéristique assignége avec
une excitation a aimants permanents.

— Meéthode 2-1-2B: Sommation des pertes séparées, avec une ‘détermination des |pertes
sugplémentaires en charge par un essai a pleine charge et\un essai de court-cifcuit. A
appliquer pour toutes les machines ayant une taille de carcasse supérieure a 180(mm et
ung puissance de sortie assignée jusqu'a 2 MW.

— Méthode 2-1-2C: Sommation des pertes séparées* sans un essai a pleine gharge.
Détermination des pertes supplémentaires en <chdarge par l'essai de court-cir¢uit. A
appliquer pour toutes les machines dont la puissance de sortie assignée est supérjeure a
2 MW.

Tableau 4 — Machines synchrones avec excitation
électrique: méthodes d’essai préférentielles
Réf Méthode Desecription Article Application Dispoditifs
requlis
2-1-2A Mesure directe: Mesure du 7.1.2 Taille de la Dynamoniétre
) couple machine: pour la plgine
Pws’sances_ H <180 charge
entrée-sortie
2-1-2B Sommation ‘des P, a partir de 7.1.3 Taille de la Ensemblg de
pertes ayec I’essai de court- machine: deux machines
essai ala circuit H > 180 et pour la plgine
charge assignée puissance de charge
et'essai de sortie assignée
court-circuit jusqu'a 2 MW
2-1-2C Sommation des Courant 7.1.4 Puissance de
pertes séparées | d’excitation a sortie assignée
sans essai a la partir du supérieure a
charge assignée | diagramme de 2 MW.
et P | a partir Potier/
de I'essai de ASA/suédois
court-circuit P, a partir de
I’essai de court-
circuit

NOTE Dans le tableau, H est la hauteur d’arbre (distance entre la ligne centrale de I’arbre et le plancher de la
machine), en millimeétres (voir la désignation des carcasses dans I'lEC 60072-1).
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Tableau 5 — Machines synchrones avec excitation
a aimants permanents: méthodes d’essai préférentielles

Réf Méthode Description Article Application DISPOS.'t'fs
requis
2-1-2A Mesure directe: Mesure du 7.1.2 Toutes les Dynamomeétre
) couple caractéristiques | pour la pleine
Puissances assignées charge
entrée-sortie

7.1.2

7.1.2.

Méthode 2-1-2A — Mesure directe des puissances d’entrée et de sortie

1 Généralités

Il s’agit d’'une méthode d’essai dans laquelle la puissance mécanique P g, dUNEe m
est déferminée par la mesure du couple sur I'arbre et de la vitesse. La puissance éle
P, du ptator est mesurée pendant le méme essai.

Cette

brocédure s’applique également pour les machines synchrones avec une excit

aimants permanents.

Les pulissances d’entrée et de sortie sont:

— poyr le fonctionnement en mode moteur: P& Pg; Py = Ppech (VOir Figure
— podr le fonctionnement en mode génératrice: P9~ Prechs P2 = Py
Pej, I ——

Prmech. T n
o <> ....... ,

IEC 1301/07

Figure 17.—Schéma pour I'essai de mesure du couple

A titre |d’apercgu, la Figlire 18 présente un organigramme pour la détermination du rend
par cefte méthode d’essai.

Direct measurement

l

achine
ctrique

ation a

17);

ement

ErrraroreteT
test

l

‘ Efficiency ‘
IEC 1681/14
Légende
Anglais Frangais
Direct measurement Mesure directe
Dynamometer test Essai au dynamomeétre
Efficiency Rendement

Figure 18 — Détermination du rendement selon la méthode 2-1-2A
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Procédure d’essai

Coupler soit le moteur en essai a une machine en charge soit la génératrice en essai a un

moteur avec un couplemétre. Faire fonctionner la machine en essai a la charge requise.

Enregistrer U, I, Py, n, T, 0.

Lorsqu

7.1.2.3

Le rendement-est:

e I’excitation est requise, procéder conformément a 5.9.

Détermination du rendement

La puig

- pol
- pol

7.1.31

Il s’ag
des pe|
- pern
- pern
- pef
- pef
—  pern

Cette

P

2

T pip,

sance d’entrée P et la puissance de sortie P, sont les suivantes:

r le fonctionnement en mode moteur: Py = Pg; P, = P

el mech?

r le fonctionnement en mode génératrice: Py = P och: Po S P

=2n x T x n.

est conforme a 5.9.

Méthode 2-1-2B — Sommation des pertes séparées, avec un essai de
température a la charge assignée et un essai de court-circuit

Généralités

Ftes séparées. Les compg@santes de pertes respectives sont les suivantes:

tes dans le fer;

tes par ventilation-et par frottement;
tes dans lecuivre du stator et du rotor;
tes dans-ié. circuit d’excitation;

tes supplémentaires en charge.

roceédure ne s’appligue pas pour les machines synchrones avec une excita

| es pertes dans le circuit d’excitation non fournies par P, sont reprises mécaniquement par I'arbrg.

aimant

S permanents.

(72)

t dune méthode d’essai-dans laquelle le rendement est déterminé par la sommation

tion a

A titre d’apergu, la Figure 19 présente un organigramme pour la détermination du rendement
par cette méthode d’essai.
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‘ Indirect measurement ‘

l

Separate losses

l

‘ Winding resistance at ambient temperature ‘

l

|7.1.3.2.1 Rated load temperature test ‘

v

Stator and rotor winding losses
including temperature correction

Load losses

l

‘ Excitation circuit losses |

l

‘7.1.3.2.2 No-load test ‘

|

Constant losses

Friction and windage losses

Iron losses

l

|7.1.3.2.3 Short-circuit test \

l

| Additional-load losses |

Hégende

i

7.1.3.3 Total losses

IEC 1682/14

Anglais

Francgais

r(direct measurement
Skeparate.lesses
Winding resistance at ambient temperature

Mesure indirecte
Pertes séparées

Résistance d’enroulement a la température
ambiante

r\cxtcu' :UG\J‘ tUIII}JUIdtUIU tUDt
Load losses

Stator and rotor winding losses including
temperature correction

Excitation circuit losses
No-load test

Constant losses

Friction and windage losses
Iron losses

Short circuit test

Additional load losses

Total losses

Efficiency

Ebbd; \J‘U tUIII}JU’IdtUIU C‘l :Cl \J:IGIBU dbbiyllt’;c
Pertes en charge

Pertes dans I'enroulement du stator et du rotor y
compris correction de température

Pertes dans le circuit d’excitation
Essai a vide

Pertes constantes

Pertes par frottement et par ventilation
Pertes dans le fer

Essai de court circuit

Pertes supplémentaires en charge
Pertes totales

Rendement

Figure 19 — Détermination du rendement selon la méthode 2-1-2B
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7.1.3.2 Procédure d’essai
7.1.3.21 Essai de température a la charge assignée

Avant de démarrer cet essai en charge, déterminer la température et la résistance
d’enroulement de la machine, la machine étant a la température ambiante.

La machine doit étre mise sous charge par des moyens adaptés, avec une alimentation
conforme aux caractéristiques assignées de la machine et elle doit étre mise en
fonctionnement jusqu’a I'obtention de I'équilibre thermique (taux de variation de 1 K ou moins
par demi-heure).

A la fih de I'essai a la charge assignée, enregistrer la moyenne d’au moins trois,jeux de
résultats d’essai:

- PNaINa UNaﬁ eca QN;

— RyN[F R (la résistance en essai pour la charge assignée, conformément a'5.7.1);

— 0O\ [la température des enroulements a la charge assignée, conformément a 5.7.2);

— valgurs du systéme d’excitation conformément a 5.9.

Pertej dans I’enroulement du stator

Déterminer les pertes dans I’enroulement du stator:

PS:1,5><IZ><RlI (73)

ou

R|| est| conforme a 5.7.1, corrigée pour une - température du fluide de refroidissement de
réfjrence primaire de 25 °C.

Pertes dans I’enroulement de champ

Les peftes dans I’enroulement deCchamp sont

(74)

Pertes| électriques_dans les balais

Dans I cas des)balais, déterminer les pertes dans les balais a partir d’'une chute de fension
assignge parbalai de chacune des deux polarités:

B =2xU,xI, (75)

ou
Ie est conforme a I'essai en charge;

Up est la chute de tension par balai de chacune des deux polarités en fonction du type de
balai:

1,0 V pour le carbone, I'électrographite ou le graphite;
0,3 V pour le métal-carbone.

Pertes dans I’excitatrice

Désaccoupler I'excitatrice de la machine principale (si possible), puis coupler I'excitatrice a:
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a) un dispositif de mesure de couple, afin de déterminer la puissance d’entrée mécanique,
conformément a la méthode des puissances entrée-sortie; ou

b) un moteur d’entrainement étalonné, afin de mesurer la puissance d’entrée électrique du

mo

teur.

Connecter I'excitatrice (dans le cas d’'une machine synchrone excitée par I'intermédiaire de
bagues) a une charge résistive adaptée. Faire fonctionner I’excitatrice sans excitation et avec

la tens

ion U, et le courant I, pour la charge assignee.

Enregistrer:

— []‘7

L. Py, n, Tg pour la charge assignée:

— TE,

Les pe

) (le couple avec I'excitatrice sans excitation).

rtes dans I’excitatrice sont:

Py :zn”(TE _TE,0)+P1E_Pf

Lorsque I'excitatrice ne peut pas étre désaccouplée de la(machine, les pertes

I'excits

La per

7.1.3.2

La ma
couplé
fournie

L’'essa
charge

trice doivent étre fournies par le fabricant.

e par excitation totale est:
F =F +F,+1h,

.2 Essai a vide

Chine peut étre soumise a essairén fonctionnant comme un moteur désaccou
a une machine d’entrailnement et fonctionnant comme une génératrice (pui
par I'arbre, mesurée conformément a la méthode des puissances entrée-sortie).

(76)

dans

(77)

plé ou
ssance

a vide doit étre effectu¢ sur une machine chaude immédiatement aprés I'esshi a la

assignée.

Lorsqule ceci n’est pas possible, I'essai peut également étre réalisé en commencgant av
e froide, mais- les pertes a vide doivent étre stabilisées a la fréquence et fension

machirn
assign
minima

Dans

Bes (en ajustant le courant d’excitation), et au facteur de puissance unité (g
I) lorsqu’elle fonctionne comme un moteur désaccouplé.

e{cas d’'une machine synchrone avec une excitatrice entrainée par I'arbrs

3.156.3

ecC une

ourant

e (voir

e soit

22V il convient aue-la maching soit 3 oxecitation sédnarde-eot aue loexecitatri
aH—H RHeR—gY ra—acHHA H—a XHaHOH pa+ +—gd —SXGHaHH

déconnectée de son alimentation et de I’enroulement d’excitation.

Les pertes a vide sont considérées comme stabilisées lorsque la puissance d’entrée a vide

varie d

e 3 % ou moins, lorsqu’elle est mesurée a deux intervalles de 30 min successifs.

Soumettre a essai a un nombre minimal de huit valeurs de tension, y compris la tension
assignée, de telle sorte que:

— quatre valeurs ou plus, soient lues espacées de fagon approximativement égale entre
environ 110 % et 80 % de la tension assignée;

— quatre valeurs ou plus, soient lues espacées de fagcon approximativement égale entre
environ 70 % et environ 30 % de la tension assignée, ou (pour une machine fonctionnant
en étant désaccouplée) a un point ou le courant cesse de diminuer.
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L’essai doit étre effectué aussi rapidement que possible avec les lectures prises dans l'ordre
décroissant de tension.

Enregistrer a chacune des valeurs de tension: Uy, I, Pg

Déterminer la résistance R, immédiatement avant et apres I'essai a vide.

La résistance d’enroulement interpolée de chaque point de tension doit étre calculée en
interpolant les résistances avant et aprés l'essai, de fagon linéaire avec la puissance
électrique Pg.

NOTE 1
valeurs

Pour u

Enregi

NOTE 2

rendemg

tempéra

Pertes| constantes

Déter

Pour

ou
Pt o

Peg0

Pieo

R, est R, ;. Lorsque la mesure des resistances est irrealisable en raison de resistances tres fai
Calculées sont admissibles.

he machine couplée, P, est déterminée a partir de T et n.

strer les valeurs du systéme d’excitation conformément a 5.9.

ure de I'huile des paliers de glissement, la viscosité de I'huile des paliefs.

iner les pertes constantes pour chaque valeur de-tension:

Fo =R <L

Py =15 1§ x Ry1

P =F -P, _Pf,O _PEd,O +PlE,o

sont-Tes pertes dans I'enroulement d’excitation a vide;
sont les pertes dans I'excitatrice (voir ci-dessus), correspondant a Ug et /g d

bles, les

Pour les grandes machines synchrones, il est recommandé d’enregistrer d'autres valeurs influghgant le
nt, par exemple, la température du fluide de refroidissement, la pureté\du gaz, la pression du gaz, la

(78)

(79)

es machines avec des excitatrices sans balai, les pertes par excitation doivent
également étre soustraites comme suit:

(80)

I point

ol H
oeSsSsat;

est la puissance, conformément a 5.9, correspondant a Ug et Ig du point d’essai

Pertes par frottement et par ventilation

A partir des points d’essai a vide, utiliser tous ceux qui ne présentent aucun effet de
saturation significatif et tracer une courbe des pertes constantes (P;), en fonction de la
tension au carré (U02). Extrapoler une ligne droite jusqu’a la tension zéro. L’intersection avec
I'axe de la tension zéro correspond aux pertes par frottement et par ventilation Py,,.

NOTE 3 Les pertes par ventilation et par frottement sont considérées comme indépendantes de la charge et les
mémes valeurs de pertes par ventilation et par frottement peuvent étre utilisées pour chacun des points de charge.
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Pertes dans le fer

Pour chacune des valeurs de tension, tracer une courbe des pertes constantes en fonction de
la tension. Soustraire de cette valeur les pertes par ventilation et par frottement pour
déterminer les pertes dans le fer.

7.1.3.
Essai

Coupl
d’entr

d’'un dynamomeétre (voir méthode 2-1-2A). Faire fonctionner a la vitesse assignée et ¢

de tel

=}
assigng.

Dans

convient que la machine soit a excitation séparée et que I'excitatrice-soit déconnectée
alimentation et de I'enroulement d’excitation.

La so

indépejndante de la température, et aucune correction{par rapport a une températ
référerjce n’'est apportée. Il est supposé que les pertes supplémentaires en charge
commae le carré du courant du stator.

Enregigtrer: T, n, I.

Les valeurs du systéme d’excitation sont conformes a 5.9.

Essai

La maghine est mise en fonctionnement comme un moteur synchrone a une tension f
préférgnce a environ 1/3 de la)valeur normale de tension ou a la valeur la plus faibl
laquelle un fonctionnement stable peut étre obtenu. Le courant d’induit est modifié
contréle du courant de~¢hamp. Il convient de modifier le courant d’induit en six
envirorlﬁ

points |a un courant . trés faible. Il convient que la valeur maximale du courant d

traditi

refroid|ssement™du stator ne permettra pas un fonctionnement a un courant 3
dépasgant 100.% sans dommages. |l convient de prendre les valeurs lues les plus élev

premi

de I'espait

Pe = F — By

2.3 Essai de court-circuit

de court-circuit avec machine couplée

(81)

dr la machine en essai avec son enroulement d’induit court-circuité a une_\m
dinement, avec des dispositions pour enregistrer le couple a I'aide d’un couplem

le sorte que le courant dans I'enroulement primaire court-circuité soit €gal au ¢

e cas d’'une machine avec une excitatrice entrainée par l’drbre (voir 3.15.3.

me des pertes en charge et des pertes supplémentaires en charge est suppos:

e court-circuit avec machine)désaccouplée

entre 125 %et-25 % du courant assigné et il convient qu’il comprenne un o

dnnellement fixée a 125 %, soit obtenue auprés du fabricant, étant donné que pa

achine
btre ou
xcitée,
ourant

Ba)), il
de son

be étre
re de
varient

xe, de
e pour
par le
etapes
I deux
‘essai,
rfois le
ssigné
ges en
cours

T lieu pour obtenir des températures d’enroulement du stator plus uniformes ad

Enregistrer: Py, 1, U.

Les valeurs du systéme d’excitation sont conformes a 5.9.

NOTE Pour les grandes machines, I’étape maximale peut étre limitée a 60 % a 70 % du courant d’induit assigné.

Perte

s supplémentaires en charge

A partir d’un essai avec machine couplée

Les pertes supplémentaires en charge au courant assigné proviennent de la puissance
absorbée de l'essai de court-circuit avec machine couplée, réduites par les pertes par
frottement et par ventilation Py,, et les pertes en charge au courant assigné.
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B y=2zanT—P, ~P, (82)

Dans le cas d’'une machine avec excitation sans balai, I’enroulement d’excitation et la
composante des pertes dans l'excitatrice fournis par la machine d’entrainement doivent en
plus étre soustraits:

R\n=2znT+F;—-K,-F-F-F, (83)

Pour les autres points de charge, les pertes supplémentaires en charge proviennent de

2
I
R =R yX% (l_j (84)

N

A partjr d’un essai avec machine désaccouplée

Afin dg déterminer les pertes supplémentaires en charge pour tout courant d’induit, les|pertes

constaphtes P, et les pertes P¢ pour tout courant d’induit, doivent étré.déduites de la puigsance

d’entrde a chaque courant d’induit pris de I'essai.

7.1.3.3 Détermination du rendement

Le rengdement est:

B+Be - P
R+FRe B+h

n= (85)

Py gst la puissance d’entrée, a I'exclusion de la puissance d’excitation provenany d’une
qource séparée;

P, gst la puissance de sortig;
P.e gst la puissance d’excitation fournie par une source séparée;

NOTE 1| Généralement, la oremiére expression est davantage utilisée pour un moteur, la deuxiéme pour une
génératifice.

NOTE 2[ P inclut la-puissance d’excitation P, (voir 5.9) de la machine lorsque cela est applicable.

Les pertes totales Py, y compris les pertes dans le circuit d’excitation, sont:

Pr=FP.+P+R_+PF (86)

7.1.4 Méthode 2-1-2C — Sommation des pertes séparées sans un essai a pleine
charge

La Méthode 2-1-2C doit s’appliquer aux machines dont les caractéristiques assignées sont
supérieures a 2 MW. La procédure d’essai est en principe similaire a celle de la méthode
2-1-2B. La seule différence est que la détermination du courant de champ par le Diagramme
de Potier/ ASA/suédois (voir I'EC 60034-4) remplace I'essai de température a la charge
assignée.

A part cela, les procédures de détermination des pertes et du rendement sont équivalentes a
celles de la méthode 2-1-2B.

A titre d’apercu, la Figure 20 présente un organigramme pour la détermination du rendement
par cette méthode d’essai.
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| Indirect measurement |

Separate losses

l

Winding resistance at ambient temperature

l

IEC 60034-4:2008, 6.4, 6.5, 6.8:

Tt e COTT e ST OTOTI T A e

Swedish- or Potier-diagram

l

Load losses

Stator and rotor winding losses
including temperature correction

l

| Excitation circuit losses |

l

| 7.1.3.2.2 No-load test |

l

Constant losses

Friction and windage losses

Iron feSses

l

| 74323 short-circuit test |

l

| Additional load losses |

l

| 7.1.3.3 Total losses |

l

‘ Efficiency |

IEC 1683/14
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Anglais

Frangais

Indirect measurement
Separate losses

Winding resistance at ambient temperature

IEC 60034-4:2008, 6.4, 6.5, 6.8:

Rated field current according to the ASA-,
Swedish- or Potier-diagram

Load losses

Mesure indirecte
Pertes séparées

Résistance d’enroulement a la température
ambiante

IEC 60034-4:2008, 6.4, 6.5, 6.8:

Courant de champ assigné selon le diagramme de

Potier/ ASA/suédois

Pertes en charge

tator and rotor winding losses including
mperature correction

)]

xcitation circuit losses

E|

No-load test
Constant losses
E

Fiction and windage losses
Ion losses

hort-circuit test

S
Aldditional load losses
Tptal losses

E

fficiency

Pertes dans I’enroulement du stator et du rotor y,
compris correction de température

Pertes dans le circuit d’excitation
Essai a vide

Pertes constantes

Pertes par frottement et par yentilation
Pertes dans le fer

Essai de court-circuit

Pertes supplémentaires en charge
Pertes totales

Rendement

Avant

polyp

aux 6.4

Pour

Cette

aimants permanents.

7.2
7.21

Ces m

Généralités

Figure 20 — Détermination du rendement selon la méthode 2-1-2C

cet essai, les résultats d’'un essai de\saturation a vide, d’'un essai de court
hpsé maintenu et d’un essai de surexgitation au facteur de puissance nul, conformément
|, 6.5 et 6.8 de I'lEC 60034-4:2008<doivent étre disponibles.

Ig procédure de détermination du rendement, voir 7.1.3, méthode 2-1-2B.

Méthodes d’essai pour les essais sur le terrain ou les essais individuels de

bthodes*d’essai peuvent étre utilisées pour n’importe quel essai, c'est-a-dire les
sur le ‘Ierrain, les essais d’acceptation spécifiques au client ou les essais individuels de

Lcircuit

procédure ne s’applique/ pas pour les machines synchrones avec une excitation a

série

essais
série.

De plus, les méthodes préférentielles des Tableaux 4 et 5 peuvent également étre utilisées
hors de la gamme de puissances identifiée dans les Tableaux 4 et 5.

Le Tableau 6 présente les méthodes définies par la présente norme.
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